

SHEFFIELD CATHEDRAL

MARRIAGE

BOOK

"1"

JULY 1. 1837

TO

JANUARY 1838

Transcribed By J. EDWARD SHORTLAND

Typewritten and Indexed By KEITH BLAGDEN

BY THE KIND PERMISSION OF THE PROVOST

THE VERY REV. V. F. CURTIS A. K. C.

Prefix number denotes book

2 numerals denote page number

3rd numerals denote entry number

1/1/1	Philip Booker	Sarah Shirt
1/1/2	Samuel Higginbottom	Eliza Hewitt
1/2/3	George Leasley	Elizabeth Pollard
1/2/4	James Tarry	Mary Harris
1/3/5	William Pollard	Ann France
1/3/6	George Pike	Mary Ann Hopkins
1/4/7	William Cross	Ann Parkin
1/4/8	Joaeoph Derbyshire	Hannah Holland
1/5/9	William Pigott	Ann Twibey
1/5/10	William Nichols	Ann Gillott
1/6/11.	William Hawksworth	Elizabeth Blackwell
1/6/12	John Helliwell	Ann Key
1/7/13	John Brown	Sarah Soar
1/7/14	Alexander Browning	Nary Ann Payne
1/8/15	John Knowles	Clara Frances Fish
1/8/16	John Pendleton	Sarah Wain
1/9/17	John Hampshire	Sarah Howe
1/9/18	Joseph Traunter	Mary Traunter
1/10/19	John Randell	Mary Heward
1/10/20	George Bennett	Hannah Burkinshaw
1/11/21	George Higgins Bottom	Ann Rayner
1/11/22	Joseph Gillott	Ann Wadsworth
1/12/23	Richard Wardle	Mary Stocks
1/12/24	James Westwood	Ann Lewis
1/13/25	Benjamin Thickett	Ann Allen
1/13/26	Joseph Redfin	Sarah Worrall
1/14/27	William Thompson	Harriet Foster
1/14/28	Joseph Bartin	Elizabeth Smith
1/15/29	Samuel Coulson	Mary Styring
1/15/30	George Daniel	Mary Fox
1/16/31	Thomas Tomlinson	Eliza Nutt
1/16/32	John May	Martha Burgin
1/17/33	Charles Wheeldon	Ann Berisford
1/17/34	William Reynolds	Mary Flintham
1/18/35	Joseph Broadhead	Eliza Checkett
1/18/36	Edwin Colley	Lydia Elliott
1/19/37	Thomas Travis	Sarah Furniss
1/19/38	John Storrs	Mary Jackson
1/20/39	James Milns	Ann Woodhead
1/20/40	William Newsom	Ann Hutton
1/21/41	Prem Rilatt	Sarah Emerson
1/21/42	Henry Parkin	Sarah Coup
1/22/43	Charles Ashmore	Mary Woodcock
1/22/44	Edward Pagden	Elizabeth Utley

1/23/45	Samuel Hazlewood	Mary Hunt
1/23/46	Alexander Green	Ellen Makin
1/24/47	Henry Wilkinson	Ann Littlewood
1/24/48	Samuel Glossop	Mary Allott
1/25/49	John Fenwick	Harriet Eliza Steel
1/25/50	William Moody	Ann Howden
1/26/51	John Taylor	Hannah Wall
1/26/52	John Hague	Elizabeth North
1/27/53	William Fisher	Elizabeth Green
1/27/54	Michael Coleman	Priscilla Morton
1/28/55	John Nell	Mary Ann Thormhill
1/28/56	Edwin Ramsden	Elizabeth Newitt
1/29/57	William Gillott	Mary Cardwell
1/29/58	Henry Young	Elizabeth Watts
1/30/59	Joseph Clayton	Mary Redfearn
1/30/60	James Hill	Sarah Eyre
1/31/61	Joseph Smith	Sarah Slater
1/31/62	William Copley Mann	Harriet Gray
1/32/63	Richard Good	Ann Hill
1/32/64	George Williams	Mary Philips
1/33/65	William Dyson	Martha Gill
1/33/66	John Gray	Mary Snape
1/34/67	Joseph Rhodes	Ann Boddy
1/34/68	John Pearson	Elizabeth Bagshaw
1/35/69	George Coates	Hannah Holmes
1/35/70	Jonathan Bottomley	Harriet Sheldon
1/36/71	Samuel Barber	Eliza Beilby
1/36/72	Joseph Wragg	Harriet Godley
1/37/73	John Hague	Mary Lambert
1/37/74	Joseph Walker	Caroline Lingden
1/38/75	George Reuben William Abbs	Mary Parkin
1/38/76	Thomas White	Ann Mortom
1/39/77	Peter Cross Horton	Margaret Ann Shepherd
1/39/78	William Augustas Gordon Hake	Matilda Shore
1/40/79	Thomas Hobson	Ann Parker
1/40/80	John Shaw	Ann Roston
1/41/81	Edward Rodgers	Mary Ann Alsop
1/41/82	James Wing	Ann Foster Hill
1/42/83	James Quinn	Catherine Murphy
1/42/84	George Barber	Sarah Mappin
1/43/85	Thomas Wolstenholme	Esther Nicholson
1/43/86	James Stacey	Mary Ann Holmes
1/44/87	Richard Creswick	Sarah Leare
1/44/88	James Roberts	Elizabeth Hancock

1/45/89	John Ratcliffe	Sarah Mount
1/45/90	Samuel Yates	Ellen Cox
1/46/91	James Woolley	Elizabeth Caroline Andrew
1/46/92	George Walker	Ann Green
1/47/93	Joshua Strafford	Ann Willis
1/47/94	George Callice	Martha Wesnidge
1/48/95	John Beaumont	Mary Copley
1/48/96	William Bowler	Ann Hawley
1/49/97	Peter Chapman	Mary Justice
1/49/98	Benjamin Yates	Hannah Stevenson
1/50/99	George Brown	Sarah Lee
1/50/100	William Wood	Eliza Waller
1/51/101	John Sellars	Sarah Garside
1/51/102	James Watson	Charlotte Wragg
1/52/103	Edward Clarke	Elizabeth Briers
1/52/104	William Wilde	Maria Wood
1/53/105	John Manson	Frances Ryalls
1/53/106	Samuel Calton	Phoebe Fox
1/54/107	John Denton	Mary Ann Scott
1/54/108	Paul Lunn	Martha Oldfield
1/55/109	Joseph Allott	Ann Roberts
1/55/110	John Bacon	Hannah Robins
1/56/111	Charles Goodwin	Matilda Hall
1/56/112	Joseph Granville	Sarah Hill
1/57/113	William Parkin	Harriet Barber
1/57/114	John Ellis	Eliza Exley
1/58/115	Thomas Dyson	Ann Beaver
1/58/116	Joseph Neal	Mary Tomlin
1/59/117	James Harrison	Mary Taylor
1/59/118	James Wragg	Elizabeth Myers
1/60/119	Joseph Cutts	Martha Broadhead
1/60/120	William Mosley	Mary Ann Bartram
1/61/121	Charles Coggan	Harriet Coe
1/61/122	George Hague	Sarah Newett
1/62/123	Alfred Platts	Martha White
1/62/124	John Allen	Sarah Gillott
1/63/125	Christopher Fidler	Sarah Smith
1/63/126	George Gillott	Frances Henderson
1/64/127	Henry Cribbin	Eliza Tingle
1/64/128	Joseph Banks	Mary Birch
1/65/129	Thomas Banks	Ann Birch
1/65/130	George Hodgkinson	Sarah Arthur
1/66/131	Thomas Sheldon	Mary Gilberthorpe
1/66/132	William Dawson	Mary Beswick

1/67/133 James Derbyshire
 1/67/134 John Tingle
 1/68/135 Job Skelton
 1/68/136 William Latimer
 1/69/137 William Deakin
 1/69/138 Lewis Schofield
 1/70/139 Charles Wilby
 1/70/140 Joseph Wilkinson
 1/71/141 Thomas Goodall
 1/71/142 John Monday
 1/72/143 George Henry Walker
 1/72/144 Charles Dawson
 1/73/145 Joseph Ryalls
 1/73/146 William Beal
 1/74/147 George Taylor Eyre
 1/74/148 Samuel Heath
 1/75/149 John Elliott
 1/75/150 William Whitfield
 1/76/151 John Cox
 1/76/152 Robert Pepper
 1/77/153 Bernard Seale
 1/77/154 John Western
 1/78/155 Henry Paramore
 1/78/156 John Mallinson
 1/79/157 William Fisher
 1/79/158 George Pearson
 1/80/159 Thomas Gratton
 1/80/160 Joseph Askew
 1/81/161 Joseph Heathcote
 1/81/162 Martin Swallow
 1/82/163 William Gillott
 1/82/164 George Jones
 1/83/165 John Hanson
 1/83/166 Thomas Walker
 1/84/167 Henry Gascoigne
 1/84/168 George Truelove
 1/85/169 John Margerison
 1/85/170 William Burgin
 1/86/171 James King
 1/86/172 Henry Tilbury
 1/87/173 Michael Timm
 1/87/174 John Lister
 1/88/175 Joseph Law
 1/88/176 William Henry Jessop

Ellen Smith
 Ann Parkin
 Martha Garner
 Elizabeth Broomhead
 Elizabeth Exley
 Mary Hallam
 Mary Henderson
 Sarah Norton
 Elizabeth Bennett
 Priscilla Wragg
 Sarah Oglesby
 Mary Watts
 Jane Haslam
 Ann Wadsworth
 Martha Priestley
 Hannah Cranmer
 Mary Ann Smith
 Elizabeth Earnshaw
 Maria Goss
 Ann Morton
 Hannah Bradbury
 Elizabeth Butterworth
 Ann Musgrove
 Ann Baggaley
 Sarah Pollard
 Jane Glossop
 Anne Allen
 Mary Thompson
 Martha Reaney
 Fanny Abbott
 Nancy Thorpe
 Elizabeth Deakin
 Elizabeth Ingman
 Margaret Hudson
 Maria Hancock
 Eliza Simpson
 Mary Bullivant
 Mary Ann Peaker
 Harriet Jeffcock
 Mary Dyson
 Sarah Osborn
 Elizabeth Armitage
 Elizabeth Heeley
 Ann Moore

1/89/177	Alfred Hobson	Anna Downend
1/89/178	Hardy Gregory	Esther Palmer
1/90/179	George Mellor	Alice Hobson
1/90/180	Samuel Beadle	Mary Ann Johnson
1/91/181	John Wade	Sarah Smith
1/91/182	Thomas Middleton	Sarah Wardle
1/92/183	Robert Tomlinson	Sarah Cusworth
1/92/184	George Squires	Mary Hutley
1/93/185	James Bramham	Ann Jeffcock
1/93/186	William Cam	Eliza Moore
1/94/187	John Dean	Mary Newton
1/94/188	James Bartholomew	Mary Ann Lennard
1/95/189	William Quintim	Mary Ann Williamson
1/95/190	Benjamin Ramsden	Sarah Wallis
1/96/191	Joseph Bullos	Ann Naylor
1/96/192	Robert Price	Mary Ann Woolhouse
1/97/193	John Booth	Ann Hague
1/97/194	William Burn	Mary Lomas
1/98/195	William Garside	Mary Hanson
1/98/196	Samuel Dobb	Ruth Allwood
1/99/197	David Hollingworth	Sarah Ann Blinkhorn
1/99/198	Farewell Cockayne	Agnes Farnsworth
1/100/199	Charles Coward	Elizabeth Woollen
1/100/200	John Butcher	Mary Lindley
1/101/201	William Howson	Elizabeth Kay
1/101/202	Thomas Ibbotson	Mary Bamford
1/102/203	Joseph Poynton	Mary Beet
1/102/204	George Walker	Ann Parkin
1/103/205	Thomas Scholes	Ann Wilkinson
1/103/206	John Barge	Eliza Graham
1/104/207	John Martin	Ann Hague
1/104/208	George Hggue	Elizabeth Wright
1/105/209	Denis Davy	Mary Ann Race
1/105/210	William Shaw	Elizabeth Crapper
1/106/211	Joseph Hayselden	Elizabeth Christian
1/106/212	Joseph Clarkson	Hannah Hague
1/107/213	Thomas Scott	Mary Ann Holland
1/107/214	Isaac Newton	Ann Kirkby
1/108/215	Benjamin Taylor	Ann Emma Davison
1/108/216	John Pacey	Elizabeth Mortom
1/109/217	John Barnes	Susanna Trickett
1/109/218	James Henry Rodgers	Martha Allen
1/110/219	Thomas Kitchen	Hannah Fox
1/110/220	James Stevenson	Amelia Manifold

1/111/221	George Hawley	Mary Slingsby
1/111/222	Samuel Stafford	Frances Hinchliffe
1/112/223	William Verity	Martha Atkinson
1/112/224	Joseph Bennett	Ann Walker
1/113/225	Robert Garton	Harriet Burkett
1/113/226	James Wilson	Susanna Linday
1/114/227	XXX John Titterton	Esther Holmes
1/114/228	William Finney	Christiana Morley
1/115/229	George Sivil	Esther Caterer
1/115/230	William Marsh	Elizabeth Batty
1/116/231	James Garlick	Catherine Goddard
1/116/232	George Wilson	Elizabeth Hibberd
1/117/233	John Kirk	Sarah Brookes
1/117/234	John Barker	Mary Thorpe
1/118/235	William Goodlad	Ann Tingle
1/118/236	Benjamin Seaman	Hannah Anderton
1/119/237	Thomas Shentall	Mary Batteson
1/119/238	William Wyatt	Eliza Laycock
1/120/239	John Bettney	Hannah Downing
1/120/240	John Steemson	Mary Gill
1/121/241	Charles Jones	Sarah Colton
1/121/242	William Ashall	Elizabeth Hilton
1/122/243	William Spencer	Martha Ashforth
1/122/244	Arundel Hayworth	Ann Marshall
1/123/245	Henry Light	Ann Hempstall
1/123/246	James Bingley	Eliza Turner
1/124/247	John Carr	Hannah Fieldhouse
1/124/248	James Scott	Sarah Wood
1/125/249	William Rabjohn	Mary Ann Swindin
1/125/250	George Lister	Sarah Burgin
1/126/251	Thomas Hutchinson	Sarah Hobson
1/126/252	John Dale	Harriet Brammall
1/127/253	William Walton	Etty May
1/127/254	Martin Anderton	Ann Skinner
1/128/255	John Basford	Hannah Ibberson
1/128/256	Thomas Midgley	Elizabeth Steel
1/129/257	George Tingle	Caroline Wadsworth
1/129/258	John Kean	Winifred Dopin
1/130/259	Joseph Thompson	Mary Forsyth
1/130/260	Joseph Butler	Frances Dracott
1/131/261	Roger Sellars	Esther Furniss
1/131/262	James Garlick	Louisa South
1/132/263	George Watts	Ann Lomas
1/132/264	James Froggatt	Mercy Coldwell

1/133/265	Charles Haywood	Sarah Newbold
1/133/266	Francis Henry Chambers	Helen Mellor
1/134/267	John Armitage	Sarah Wood
1/134/268	George Hammond	Sarah Gibson
1/135/269	Robert Horton	Sarah Hudson
1/135/270	Daniel Siddall	Mary Russell
1/136/271	George Ellis	Harriet Myers
1/136/272	Samuel Booth	Hannah Schofield
1/137/273	James Small	Eliza Dearden
1/137/274	Joshua Milner	Sarah Milner
1/138/275	John Glossop	Mary Fairest
1/138/276	Thomas Newsome	Catherine Ward
1/139/277	Joseph Parkin	Jane Fenney
1/139/278	James Gill	Mary Ann Eastwood
1/140/279	William Osborn	Mary Woodhead
1/140/280	Joseph Heald	Eliza Grennill (Greenhill)
1/141/281	Thomas Waterhouse Roberts	Ann Addy
1/141/282	James Handley	Mary Richardson
1/142/283	Thomas Butterwick	Ellen Merrill
1/142/284	James Dooley	Elizabeth England
1/143/285	John Green	Elizabeth Fairest
1/143/286	William Dawill	Sarah Turner
1/144/287	Rhodes Marriott	Frances Toothill
1/144/288	William Hyde	Sarah Newton
1/145/289	William Briggs	Elizabeth Miller
1/145/290	John Robinson	Dorothy Moverley
1/146/291	Benjamin Ledger Dale	Maria Hunter
1/146/292	John Anthony Tissington	Eliza Betts
1/147/293	Henry Pearson	Annis Dyson
1/147/294	William Constantine	Ann Goddard
1/148/295	Moses Mitchell	Mary Reaney
1/148/296	William Cliffe	Mary Worrall
1/149/297	John Wingfield	Hannah Pool
1/149/298	Joseph Johnson	M Isabella Forsythe
1/150/299	Isaac Stringer	Sarah Dyson
1/150/300	William Burden	Ann Appleyard
1/151/301	William Ward	Jane Milner
1/151/302	Stephen Turner	Mary Wilson
1/152/303	Joseph Dyson	Hane Coldwell
1/152/304	Henry Stringer	Caroline Blenkhorn
1/153/305	William Turner	Ann Sheldon
1/153/306	Matthew Dunn	Rosanna Gaffney
1/154/307	Moses Charlesworth	Sarah White
1/154/308	Thomas Richardson	Martha Baggaley

1/155/309	John Hopkinson	Eliza Doncaster
1/155/310	John Moody	Sarah Binney
1/156/311	George Robinson Hudson	Ruth Foster
1/156/312	David Simpson Lund	Mary Burrows
1/157/313	Samuel Smith	Ahn Yates
1/157/314	Henry Kay	Mary Ward
1/158/315	Joseph Shaw	Mary Ann Turner
1/158/316	Robert Whitham	Elizabeth Jackson
1/159/317	Charles Colley	Elizabeth Pemberton
1/159/318	John Taylor	Mary Bettick
1/160/319	George Newton	Mary Fisher
1/160/320	George Walker	Elizabeth Darwent
1/161/321	Thomas White	Maria Hodgkinson
1/161/322	John Garton	Harriet Garratt
1/162/323	George Butler	Ann Jackson
1/162/324	Joseph Booth	Elizabeth Wright
1/163/325	James Taylor Ducker	Eliza Taylor
1/163/326	Joel Eyre	Mary Absom
1/164/327	William Cooper	Mary Bell
1/164/328	Richard Walters	Elizabeth Barker
1/165/329	Thomas Ainley	Elizabeth Dawson
1/165/330	John Rollet	Emma Barker
1/166/331	Joseph Brailsford	Mary Gill
1/166/332	William Williams	Sarah Shaw
1/167/333	Thomas Hall	Mary Jane Hoyland
1/167/334	George Rodgers	Harriet Almond
1/168/335	Thomas Humphreys	Eden Proctor
1/168/336	Joseph Cotton	Mary Ann Cross
1/169/337	Joseph Rogerson	Matilda Broadhead
1/169/338	Thomas Woodcock	Sarah Reaney
1/170/339	Bernard Lennon	Mary Kelley
1/170/340	John Kirby	Ann Hempsall (ell)
1/171/341	William Hemsell	Mary Ball
1/171/342	William Kingston	Elizabeth Cross
1/172/343	Charles Hunt	Elizabeth Machin
1/172/344	Isaac Richardson	Ann Jemett
1/173/345	Thomas Morton	Ann Pitchford
1/173/346	William Hancock	Hannah Basford
1/174/347	John Ibbotson	Mary Conway
1/174/348	Thomas Turner	Martha Hill Hancock
1/175/349	Luke Morton	Ann Hurst
1/175/350	George Greaves	Charlotte Wilson
1/176/351	Martin Grant	Sarah Pickering
1/176/352	Charles Grindlow	Rebecca Ward

1/177/353	William Pryor	Jane Roper
1/177/354	Joseph Machon	Sarah Hodkin
1/178/355	Thomas Atherton	Barbara Faker
1/178/356	Thomas Hayball	Mary Haslam
1/179/357	Thomas Hinchliffe	Sarah Tonks
1/179/358	Charles Marshall	Mary Hay Wood
1/180/359	William Spurr	Maria Willey
1/180/360	Thomas Armitage	Hannah Cooper
1/181/361	Samuel Hough	Frances Shaw
1/181/362	George Spalding	Elizabeth Cookson
1/182/363	John Heward	Sarah Ridgway
1/182/364	Charles Burkinshaw	Ann Smith
1/183/365	John Strafford	Jane Harrison
1/183/366	Joseph Merriman	Elizabeth Cookson Mary Tarbrook
1/184/367	Samuel Lee	Grace Ward
1/184/368	David Betts	Elizabeth Pryor
1/185/369	John Macdonald Stuart	Isabella Smith
1/185/370	John Fish	Elizabeth Charlesworth
1/186/371	John Blakeley	Sarah Gillott
1/186/372	Samuel Dungworth	Sarah Hodgkinson
1/187/373	John Patisel	Ann Wilson
1/187/374	Thomas Shaw	Sarah Ann Hawksworth
1/188/375	William Cawthorn Goodison	Jane Ingleson
1/188/376	George Woodhouse	Charlotte Hawksley
1/189/377	George Lingard	Hannah Downing
1/189/378	George Elston	Hannah White
1/190/379	Benjamin Helliwell	Hannah Wood
1/190/380	Francis Singleton	Sophia Carr
1/191/381	John Pybus	Mary Ann Neal
1/191/382	James Taylor	Eliza Shirtcliffe
1/192/383	Thomas Carter	Elizabeth Bradbury
1/192/384	William Appleyard	Mary Storer
1/193/385	William Hollingworth	Frances Birks
1/193/386	Thomas Barker	Hannah Osborne
1/194/387	George Walker	Elizabeth Robinson
1/194/388	William Taylor	Jane Booth
1/195/389	Ephraim Chambers	Mary Wainwright
1/195/390	Henry Parker	Frances Wilkinson
1/196/391	Christopher Gascoigne	Eliza Exley
1/196/392	Peter Revill	Hannah Reddish
1/197/393	John Oldham	Charlotte Marples
1/197/394	John Murray	Ann Higgins
1/198/395	Samuel Bailey	Matilda James
1/198/396	Isaac Wood	Elizabeth Kneeves

1/199/397	William Bray	Ellen Keeton
1/199/398	Thomas Wilson	Eliza Wastenage
1/200/399	Milton Howard	Mary Ann Hayes
1/200/400	John Rawson	Elizabeth Medley
1/201/401	Richard Balderson	Jane Ball
1/201/402	George Horridge Thackwray	Sarah Windle
1/202/403	William Bradshaw	Ann Brammall
1/202/404	William Wild	Ellen Marsden
1/203/405	Samuel Todd	Elizabeth Bright
1/203/406	Brailsford Brightmore	Eliza Cavill
1/204/407	William Ayres	Ann Revill
1/204/408	William Smith	Clarissa Wills
1/205/409	Joseph Redfearn	Maria Key
1/205/410	Sydney Hutchinson	Mary Ann Booker
1/206/411	Edward Griffiths	Hannah Hackford
1/206/412	John Ashforth	Harriet Beatson
1/207/413	Samuel Ellis	Eliza Hill
1/207/414	Charles Ward	Ann Exley
1/208/415	John Jones	Emma Roberts
1/208/416	Robert Harrop	Alice Steer
1/209/417	James Wragg	Sarah Pashley
1/209/418	Charles Richardson	Mary Ann Hartley
1/210/419	John Roberts	Dinah Kirby
1/210/420	John Machin	Sarah Gleadall
1/211/421	John Bagshaw	Ann Dixon
1/211/422	William Sleigh	Harriet Smith
1/212/423	John Hawke	Nancy Downend
1/212/424	Thomas Hill	Eliza Pinder
1/213/425	George Morton	Sarah Hodkin
1/213/426	Samuel Sims	Elizabeth Glossop
1/214/427	Charles Dickinson	Mary Perkins
1/214/428	Abraham Hibberson	Ellen Brown
1/215/429	Henry Walker	Elizabeth Taylor
1/215/430	Richard Dawson	Mary Ann Howard
1/216/431	Henry Gill	Mary Ann Bell
1/216/432	George Grayson	Eliza Skidmore
1/217/433	Thomas Bennett	Elizabeth Hinchliffe
1/217/434	George Skinner	Jane Steel
1/218/435	George Booth	Hannah North
1/218/436	George Booker	Eliza Milner
1/219/437	Thomas Ball	Caroline Wilson
1/219/438	Elijah Hall	Rebecca Milner
1/220/439	Joseph Innocent	Esther Armitage
1/220/440	Wm. Priestley	Ann Hague

1/221/441	Richard Hodgson	Jane Langley
1/221/442	William Garside	Sarah Smith
1/222/443	Thomas Deakin	Ellen Glossop
1/222/444	John Hutchinson	Martha Moorhouse
1/223/445	George Whitehead Parkin	Jane Ward
1/223/446	John Nelson	Ann Hammerton
1/224/447	John Beardshaw	Sarah Butcher
1/224/448	George Crouch	Ann Millington
1/225/449	William Chambers	Hannah Coolen
1/225/450	Robert Reynolds	Mary Wheatland
1/226/451	Joseph Lee	Emma Dalton
1/226/452	Mark France	Elizabeth Heaton
1/227/453	George Hobson	Margaret Ward
1/227/454	Samuel Walker	Elizabeth Walker
1/228/455	William Pugh	Mary Jenkinson
1/228/456	William Edwards	Margaret Schofield
1/229/457	John Coleman	Mary Asquith
1/229/458	William Appleyard	Emma Bradshaw
1/230/459	George Batho	Ann Childwell
1/230/460	Richard Meacle	Mary Cooper
1/231/461	John Hardy	Eliza Whiteley
1/231/462	William Horrabin	Catherine Wing
1/232/463	Thomas Goule	Ann Higginbottom
1/232/464	Nicholas Bamforth	Ann Hobson
1/233/465	Charles Hall	Harriet Richardson
1/233/466	Henry Cadman	Ann Brookes
1/234/467	John Matthewss	Mary Davy
1/234/468	Robert Birks	Harriet Beeston
1/235/469	William Walker	Elizabeth Stevenson
1/235/470	Job Osbenson	Ann Heward
1/236/471	George White	Ann Barker
1/236/472	Francis Wood	Ann Wright
1/237/473	George Crofts	Celia Senior
1/237/474	William Stead	Hannah Senior
1/238/475	Henry Corker	Harriet Peel
1/238/476	Thomas Weston	Matilda Green
1/239/477	Thomas Jessop	Sarah Littlewood
1/239/478	William Kay	Sarah Rodgers
1/240/479	Thomas Bingham	Mary Watts
1/240/480	George Ford	Harriet Wilcox
1/241/481	William Badger	Mary Champion Jackson
1/241/482	John Elliott	Elizabeth Wood
1/242/483	James Holden	Sarah Ann Cawood
1/242/484	Charles Wood	Mary Ann Needham

1/243/485	Jonathan Malkin	Fanny WHITAKER Whitaker
1/243/486	William Cooper	Mary Travis
1/244/487	Richard Henry Tarleton	Sarah Anne Wilson
1/244/488	James Davenport	Maria Genn
1/245/489	Timothy Ward	Elizabeth Stanley
1/245/490	John Ball	Catherine Beaumont
1/246/491	Charles Sla ck	Elizabeth Talford
1/246/492	George Carrington	Sarah Vickers
1/247/493	Henry Barker	Sarah Harrison
1/247/494	Thomas Hunter	Ellen Froggatt
1/248/495	William Elvidge	Rosetta Macay
1/248/496	John Whiteley	Harriet Allott
1/249/497	Henry Newman Morris	Sarah Nevin
1/249/498	Thomas Holland	Sarah Thompson
1/250/499	William Hardwick	Hannah Hannan
1/250/500	William Vyse	Mary Ann Morton

END OF BOOK '1'

ABBOTT Fanny 1/81/162
ABBS George Reuben William 1/38/75.
ABSON Mary 1/163/326.
ADDY Ann 1/141/281.
AINLEY Thomas 1/165/329.
ALLEN Ann 1/13/25. Anne 1/80/159. John 1/62/124. Martha 1/109/218.
ALLOTT Harriet 1/248/496. Joseph 1/55/109. Mary 1/24/48.
ALLWOOD Ruth 1/98/196.
ALMOND Harriet 1/167/334.
ALSOP Mary Ann 1/41/81.
ANDERTON Hannah 1/118/236. Martin 1/127/254.
ANDREW Elizabeth Caroline 1/46/91.
APPLEYARD Annr 1/150/300. William 1/192/384, 1/229/458.
ARMITAGE Elizabeth 1/87/174. Esther 1/220/439. John 1/134/267. Thomas 1/180/360.
ARTHUR Sarah 1/65/130.
ASHALL William 1/121/242.
ASHFORTH John 1/206/412 Martha 1/122/243 $\frac{1}{2}$
ASHMORE Charles 1/22/43.
ASKEW Joseph 1/80/160.~~XXXX~~
ASQUITH Mary 1/229/457.
ATHERTON Thomas 1/178/355.
ATKINSON Martha 1/112/223.
AYRES William 1/204/407.

BACON John 1/55/110.
BADGER William 1/241/481.
BAGGALEY Ann 1/78/156. Martha 1/154/308.
BAGSHAW Elizabeth 1/34/68. John 1/211/421.
BAILEY Samuel 1/198/395.
BALDERSON Richard 1/201/401.
BALL Jane 1/201/401. John 1/245/490. Mary 1/171/341.
BAMFORD Mary 1/101/202.
BAMFORTH Nicholas 1/232/464.
BANKS Joseph 1/64/128. Thomas 1/65/129.
BARBER George 1/42/84. Harriet 1/57/113. Samuel 1/36/71.
BARGE John 1/103/206.
BARKER Ann 1/236/471. Elizabeth 1/164/328. Emma 1/165/330. Henry 1/247/493. John 1/117/234.
 Thomas 1/193/386.
BARNES John 1/109/217.
BARTHOLOMEW James 1/94/188.
BARTIN Joshua 1/14/28.
BARTRAM Mary Ann 1/60/120.
BASFORD Hannah 1/173/346. John 1/128/255.
BATHO George 1/230/459.

BATTISON Mary 1/119/237.
BATTY Elizabeth 1/115/230.
BEADLE Samuel 1/90/180.
BEAL William 1/73/146.
BEARDSHAW John 1/224/447.
BEATSON Harriet 1/206/412.
BEAUMONT Catherine 1/245/490. John 1/48/95.
BEAVER Ann 1/58/115.
BEESTON Harriet 1/234/468.
BEEY Mary 1/102/203.
BELBY Eliza 1/36/71.
BELL Mary 1/164/327. Mary Ann 1/216/431. Thomas 1/219/437.
BENNETT Elizabeth 1/71/141. George 1/10/20. Joseph 1/112/224. Thomas 1/217/433.
BERISFORD Ann 1/17/33.
BESWICK Mary 1/66/132.
BETTICK Mary 1/159/318.
BETTNEY John 1/120/239.
BETTS Eliza 1/146/292. David 1/184/368.
BINGHAM Thomas 1/240/479.
BINGLEY James 1/123/246.
BINNEY Sarah 1/155/310.
BIRCH Ann 1/65/129. Mary 1/64/128.
BIRKS Frances 1/193/385. Robert 1/234/468.
BLACKWELL Elizabeth 1/6/11.
BLAKELEY John 1/186/371.
BLINKHORN Caroline 1/152/304. Sarah Ann 1/99/197.
BODDY Ann 1/34/67.
BOOKER George 1/218/436. Mary Ann 1/205/410. Philip 1/1/1.
BOOTH George 1/218/435. Jane 1/194/388. John 1/97/193. Joseph 1/162/324. Samuel 1/136/272.
BOTTOM George Higgins 1/11/21.
BORTOMLEY Jonathan 1/35/70.
BOWLER William 1/48/96.
BRADBURY Elizabeth 1/192/383. Hannah 1/77/153.
BRADSHAW Emma 1/229/458. William 1/202/403.
BRAILSFORD Joseph 1/166/331.
BRAMHAM James 1/93/185.
BRAMMALL Ann 1/202/403. Harriet 1/126/252.
BRAY William 1/199/397.
BRIERS Elizabeth 1/52/103.
BRIGGS William 1/145/289.
BRIGHT Elizabeth 1/203/405.
BRIGHTMORE Brailsford 1/203/406.
BROADHEAD Joseph 1/18/35. Martha 1/60/119. Matilda 1/169/337.
BROOKES Ann 1/233/466. Sarah 1/117/233.
BROOMHEAD Elizabeth 1/68/136.

BROWN Ellen 1/214/418. George 1/50/99. John 1/7/13.
BROWNING Alexander 1/7/14.
BULLIVANT Mary 1/85/169.
BULLOS Joseph 1/96/191.
BURDEN William 1/150/300.
BURGIN Martha 1/16/32. Sarah 1/125/250. William 1/85/170.
BURKETT Harriet 1/113/225.
BURKINSHAM Charles 1/182/364. Hannah 1/10/20.
BURN William 1/97/194.
BURROWS Mary 1/156/312.
BUTCHER John 1/100/200. Sarah 1/224/447.
BUTLER George 1/162/325. Joseph 1/130/260.
BUTTERWICK Thomas 1/142/283.
BUTTERWORTH Elizabeth 1/77/154.

CADMAN Henry 1/233/466.
CALLICE George 1/47/94.
CALTON Samuel 1/53/106.
CAM William 1/93/186.
CARDWELL Mary 1/29/57.
CARR John 1/124/247. Sophia 1/190/380.
CARRINGTON George 1/246/492.
CARTER Thomas 1/192/383.
CATERER Esther 1/115/229.
CAVILL Eliza 1/203/406.
CAWOOD Sarah Ann 1/242/483.
CHAMBERS Ephraim 1/195/389. Francis Henry 1/133/266. William 1/225/449.
CHAPMAN Peter 1/49/97.
CHARLESWORTH Elizabeth 1/185/370. Moses 1/154/307.
CHECKETT Eliza 1/18/35.
CHRISTIAN Elizabeth 1/106/211.
CLARKE Edward 1/5 2/103.
CLARKSON Joseph 1/106/212.
CLAYTON Joseph 1/30/59.
CLIFFE William 1/148/296.
COATES George 1/35/69.
COCKAYNE Farewell 1/99/198.
COE Harriet 1/61/121.
COGGAN Charles 1/61/121.
COLDWELL Ann 1/230/459. Jane 1/152/303. Mercy 1/132/264.
COLEMAN John 1/229/457. Michael 1/27/54.
COLLEY Charles 1/159/317. Edwin 1/18/36.
GOLTON Sarah 1/121/241.
CONSTANTINE William 1/147/294.
CONWAY Mary 1/174/347.

COOKSON Elizabeth 1/181/362.

COOLEN Hannah 1/225/449.

COOPER Hannah 1/180/360. Mary 1/230/460. William 1/164/327, 1/243/486.

COPLEY Mary 1/48/95.

CORKER Henry 1/238/475.

COTTON Joseph 1/168/336.

COULSON Samuel 1/15/29.

COUP Sarah 1/21/42.

COYARD Charles 1/100/199.

COX Ellen 1/45/90. John 1/76/151.

CRANMER Hannah 1/74/148.

CRAPPER Elizabeth 1/105/210.

CRESWICK Richard 1/44/87.

CRIBBIN Henry 1/64/127.

CROFTS George 1/257/473.

CROSS Elizabeth 1/171/342. Mary Ann 1/168/336. William 1/4/7.

CROUCH George 1/224/448.

CUSWORTH Sarah 1/92/183.

CUTTS Joseph 1/60/119.

DALE Benjamin Ledger 1/146/291. John 1/126/252.

DALTON Emma 1/226/451.

DANIEL George 1/15/30.

DARWENT Elizabeth 1/160/320.

DAVENPORT James 1/244/488.

DAVILL William 1/143/286.

DAVISON Ann Emma 1/108/215.

DAVY Denis 1/105/209. Mary 1/234/467.

DAWSON Charles 1/72/144. Elizabeth 1/165/329. Richard 1/215/430. William 1/66/132.

DEAKIN Elizabeth 1/82/164. Thomas 1/222/443. William 1/69/137.

DEAN John 1/94/187.

DEARDEN Eliza 1/137/273.

DENTON John 1/54/107.

DERBYSHIRE James 1/67/133. Joseph 1/4/8.

DICKINSON Charles 1/214/427.

DIXON Ann 1/211/421.

DOBB Samuel 1/98/196.

DONCASTER Eliza 1/155/309.

DOOLEY James 1/142/284.

DOPIN Winifred 1/129/258.

DOWNEND Anna 1/89/177. Nancy 1/212/423.

DOWNING Hannah 1/120/239, 1/189/377.

DRAGOTT Frances 1/130/260.

DUCKER James Taylor 1/163/325.

DUNGWORTH Samuel 1/186/372.

DUNN Matthew 1/153/306.

DYSON Annis 1/147/293. Joseph 1/152/303. Mary 1/86/172. Sarah 1/150/299. Thomas 1/58/115.
William 1/33/65.

EARNSHAW Elizabeth 1/75/150.

EASTWOOD Mary Ann 1/139/278.

EDWARDS William 1/228/456.

ELLIOTT John 1/75/149, 1/241/482. Lydia 1/18/36.

ELLIS George 1/136/271. John 1/57/114. Samuel 1/207/413.

ELSTON George 1/189/378.

ELVIDGE William 1/248/495.

EMERSON Sarah 1/21/41.

ENGLAND Elizabeth 1/142/284.

EXLEY Ann 1/207/414. Eliza 1/57/114, 1/196/391. Elizabeth 1/69/137.

EYRE George Taylor 1/74/147. Joel 1/163/326. Sarah 1/30/60.

FAKER Barbara 1/178/355.

FAIREST Elizabeth 1/143/285. Mary 1/138/275.

FARNSWORTH Agnes 1/99/198.

FENNEY Jane 1/139/277.

FENWICK John 1/25/49.

FIDLER Christopher 1/63/125.

FIELDHOUSE Hannah 1/124/247.

FINNEY William 1/114/228.

FISH Clara Frances 1/8/115. John 1/185/370.

FISHER Mary 1/160/319. William 1/27/53, 1/79/157.

FLINTHAM Mary 1/17/34.

FORD George 1/240/480.

FORSYTH(E) Isabella 1/149/298. Mary 1/130/259.

FOSTER Harriet 1/14/27. Ruth 1/156/311.

FOX Hannah 1/110/219. Mary 1/15/30. Phoebe 1/53/106.

FRANCE Ann 1/3/5. Mark 1/226/452.

FROGGATT Ellen 1/247/494. James 1/132/264.

FURNISS Esther 1/131/261. Sarah 1/19/37.

GAFFNEY Rosanna 1/153/306.

GANT Martin 1/176/351.

GARLICK James 1/116/231, 1/131/262.

GARNER Martha 1/68/135.

GARRATT Harriet 1/161/322.

GARSDIE Sarah 1/51/101. William 1/98/195, 1/221/442.

GARTON John 1/661/322. Robert 1/113/225.

GASCOYNE (GASCOINE) Christopher 1/196/391. Henry 1/84/167.

GENN Maria 1/244/488.

GIBSON Sarah 1/134/268.

GILBERTHORPE Mary 1/66/131.

GILL Henry 1/216/431. James 1/139/278. Martha 1/33/65. Mary 1/120/240, 1/166/331.

GILLOTT Ann 1/5/10. George 1/63/126. Joseph 1/11/22. Sarah 1/62/124, 1/186/371.

William 1/29/57, 1/82/163.

GLEADALL Sarah 1/210/420.

GLOSSOP Elizabeth 1/213/426. Ellen 1/222/443. Jane 1/79/158. John 1/138/275. Samuel
1/24/48.

GODDARD Ann 1/147/294. Catherine 1/116/231.

GODLEY Harriet 1/36/72.

GOOD Richard 1/32/63.

GOODALL Thomas 1/71/141.

GOODISON William Cawthorn 1/188/375.

GOODLAD William 1/118/235.

GOODWIN Charles 1/56/111.

GOSS Maria 1/76/151.

GOULE Thomas 1/232/463.

GRAHAM Eliza 1/103/206.

GRANVILLE Joseph 1/56/112.

GRATTON Thomas 1/80/159.

GRAY Harriet 1/31/62. John 1/33/66.

GRAYSON George 1/216/432.

GREAVES George 1/175/350.

GREEN Alexander 1/23/46. Ann 1/46/92. Elizabeth 1/27/53. John 1/143/285. Matilda 1/238/476.

GREENHILL Eliza 1/140/280.

GREGORY Hardy 1/89/178.

GRIFFITHS Edward 1/206/411.

GRINDLOW Charles 1/176/352.

HACKFORD Hannah 1/206/411.

HAGUE Ann 1/97/193, 1/104/207, 1/220/440. George 1/61/122, 1/104/208. Hannah 1/106/212.
John 1/26/52, 1/37/73.

HAKE William Augustus Gordon 1/39/78.

HALL Charles 1/233/465. Elijah 1/219/438. Matilda 1/56/111. Thomas 1/167/333.

HALLAM Mary 1/69/138.

HAMMERTON Ann 1/223/446.

HAMMOND George 1/134/268.

HAMPSHIRE John 1/9/17.

HANCOCK Elizabeth 1/44/88. Maria 1/84/167. Martha Hill 1/174/348. William 1/173/346.

HANDLEY James 1/141/282.

HANNAN Hannah 1/250/499.

HANSON John 1/83/165. Mary 1/98/195.

HARDWICK William 1/250/499.

HARDY John 1/231/461.

HARRIS Mary 1/2/4.

HARRISON James 1/59/117. Jane 1/183/365. Sarah 1/247/493.

HARROP Robert 1/208/416.
HARTLEY Mary Ann 1/209/418.
HASTAM Jane 1/73/145. Mary 1/178/356.
HAWLEY Ann 1/48/96.. George 1/111/221.
HAWKE John 1/212/423.
HAWKSLEY Charlotte 1/188/376.
HAWKSWORTH Sarah 1/187/374. William 1/6/11.
HAYBALL Thomas 1/178/356.
HAYES Mary Ann 1/200/399.
HAYSELDON Joseph 1/106/211.
HAYWOOD Charles 1/133/265.
HAYWORTH Arundel 1/122/244.
HAZLEWOOD Samuel 1/23/45.
HEALD Joseph 1/140/280.
HEATH Samuel 1/74/148.
HEATHCOTE Joseph 1/81/161.
HEATON Elizabeth 1/226/452.
HEELEY Elizabeth 1/88/175.
HELLIWELL Benjamin 1/190/379. John 1/6/12.
HEMPSTALL (HEMPSALL) Ann 1/123/245, 1/170/340. William 1/171/341.
HENDERSON Frances 1/63/125. Mary 1/70/139.
HEWARD Ann 1/235/470. John 1/182/363. Mary 1/10/19.
HEWITT Eliza 1/1/2.
HIBBERD Elizabeth 1/116/232. ~~XXXXXXXXXX~~
HIBBERSON Abraham 1/214/428.
HIDE(S) (HYDE) William 1/144/288.
HIGGINBOTTOM Ann 1/232/463. Samuel 1/1/2.
HIGGINS Ann 1/197/394.
HILL Ann 1/32/63. Ann Foster 1/41/82. Eliza 1/207/413. James 1/30/60. Sarah 1/56/112.
Thomas 1/212/424.
HILTON Elizabeth 1/121/242.
HINCHLIFFE Elizabeth 1/217/433. Frances 1/111/222. Thomas 1/179/357.
HOBSON Alfred 1/89/177. Alice 1/90/179. Ann 1/232/464. George 1/227/453. Sarah 1/126/251.
Thomas 1/40/79.
HODGKINSON George 1/65/130. Maria 1/161/321. Sarah 1/186/372.
HODGSON Richard 1/221/441.
HODKIN Sarah 1/177/354, 1/213/425.
HOLDEN James 1/242/483.
HOLLAND Hannah 1/4/8. Mary Ann 1/107/213. Thomas 1/249/498.
HOLLINGWORTH David 1/99/197. William 1/193/385.
HOLMES Esther 1/114/227. Hannah 1/35/89. Mary Ann 1/43/86.
HOPKINS Mary 1/3/6.
HOPKINSON John 1/155/309.
HORRABIN William 1/231/462.
HORTON Peter Cross 1/39/77. Robert 1/135/269.

HOUGH Samuel 1/181/361.
HOWARD Mary Ann 1/215/430. Milton 1/200/399.
HOWE Sarah 1/9/17.
HOWDEN Ann 1/25/50.
HOWSON William 1/101/201.
HOYLAND Mary Jane 1/167/333.
HUDSON George Robinson 1/156/311. Margaret 1/83/166. Sarah 1/135/269.
HUMPHREYS Thomas 1/168/335.
HUNT Charles 1/172/343. Mary 1/23/45.
HUNTER Maria 1/146/291. Thomas 1/247/494.~~HEWSE~~
HURST Ann 1/175/349.
HUTCHINSON John 1/222/444. Sydney 1/205/410. Thomas 1/126/251.
HUTLEY Mary 1/92/184.
HUTTON Ann 1/20/40.

IBBERSON Hannah 1/128/255.
IBBOTSON John 1/174/347. Thomas 1/101/201.
INGLESON Jane 1/188/375.
INGMANN Elizabeth 1/83/165.
INNOCENT Joseph 1/220/439.

JACKSON Ann 1/162/323. Elizabeth 1/158/316. Mary 1/19/38. Mary Champion 1/241/481.
JAMES Matilda 1/198/395.~~XXXXXXXXXX~~
JEFFCOCK Ann 1/93/185. Harriet 1/86/171.
JENKINSON Mary 1/228/455.
JENNETT Ann 1/172/344.
JESSOP Thomas 1/239/477. William Henry 1/88/176.
JOHNSON Joseph 1/149/298. Mary Ann 1/90/180.
JONES Charles 1/121/241. George 1/82/164. John 1/208/415.
JUSTICE Mary 1/49/97.

KEETON Ellen 1/199/396.
KAY Ann 1/6/112. Elizabeth 1/101/201. Henry 1/157/314. William 1/239/478.
KEAN John 1/129/258.
KELLEY Mary 1/170/339.
KEY Maria 1/205/409.
KING James 1/86/171.
KINGSTON William 1/171/342.
KIRBY Dinah 1/210/419. John 1/170/340.
KIRK John 1/117/233.
KIRKBY Ann 1/107/214.
KYER KITCHEN Thomas 1/110/219.
KNEEVES Elizabeth 1/198/396.
KNOWLES John 1/8/15.

LAMBERT Mary 1/37/73.
LANGLEY Jane 1/221/441.
LATIMER William 1/68/136.
LAW Joseph 1/88/175.
LAYCOCK Eliza 1/119/238.
LEARE Sarah 1/44/87.
LEASLEY George 1/2/3.
LEE Joseph 1/226/451. Samuel 1/184/367. Sarah 1/50/99.
LENNARD Mary Ann 1/94/188.
LENNON Bernard 1/170/339.
LEWIS Ann 1/12/24.
LIGHT Henry 1/123/245.
LINDAY Susanna 1/113/226.
LINDLEY Mary 1/100/200.
LINGARD George 1/189/377.
LINGDEN Caroline 1/37/74.
LISTER George 1/125/250. John 1/87/174.
LITTLEWOOD Ann 1/24/47. Sarah 1/239/477.
LOMAS Ann 1/132/263. Mary 1/97/194.
LUND David Simpsom 1/156/312.
LUNN Paul 1/54/108.

MACAY Rosetta 1/248/495.
MACHIN (NACHON) Elizabeth 1/172/343. John 1/210/420. Joseph 1/177/354.
MAKIN Ellen 1/23/46.
MALKIN Jonathan 1/243/488.
MALLINSON John 1/78/156.
MANIFIELD Amelia 1/110/220.
MANN William Copley 1/31/62.
MANSON John 1/53/105.
MAPPIN Sarah 1/42/84.
MARGERSON John 1/85/169.
~~KIRKX~~ MARPLES Charlotte 1/197/393.
HARRIOTT Rhodes 1/144/287.
MARSDEN Ellen 1/202/404.
MARSH William 1/115/230.
MARSHALL Ann 1/122/244. Charles 1/179/358.
MARTIN John 1/104/207.
MATTHEWS John 1/234/467.
MAY ETTY 1/127/253. John 1/16/32.
MEACLE Richard 1/230/460.
MEDLEY Elizabeth 1/200/400.
MELLOR George 1/90/179. Hellen 1/133/266.
MERRILL Ellen 1/142/283.
MERRIMAN Joseph 1/183/366.

MIDDLETON Thomas 1/91/182.
MIDGLEY Thomas 1/128/256.
MILLER Elizabeth ~~XXXXX~~ 1/145/289.
MILLINGTON Ann 1/224/448.
MILNER Eliza 1/218/436. Jane 1/151/301. Joshua 1/137/274. Rebecca 1/219/438. Sarah
1/137/274.
MILNS James 1/20/39.
MITCHELL Moses 1/148/295.
MONDAY John 1/71/142.
MOODY John 1/155/310. William 1/25/50.
MOORE Ann 1/88/176. Eliza 1/93/186½
MOORHOUSE Martha 1/222/444.
MORLEY Christiana 1/114/228.
MORRIS Henry Newman 1/249/497.
MORTON Ann 1/38/76, 1/76/152. Elizabeth 1/108/216. George 1/213/425. Luke 1/175/349.
Mary Ann 1/250/500. Priscilla 1/27/54. Thomas 1/173/335.
MOSLEY William 1/60/120.
MOUNT Sarah 1/45/89.
MOVERLEY Dorothy 1/145/290.
MURPHY Catherine 1/42/83.
MURRAY John 1/197/394.
MUSGROVE Ann 1/78/155.
MYERS Elizabeth 1/59/118. Harriet 1/136/271.

NAYLOR Ann 1/96/191.
NEAL Joseph 1/58/116. Mary Ann 1/191/381.
NEEDHAM Mary Ann 1/242/484.
NELL John 1/28/55.
NELSON John 1/223/446.
NEVIN Sarah 1/249/497.
NEWBOULD Sarah 1/133/265.
NEWITT Elizabeth 1/28/56. Sarah 1/61/122.
NEWSOM(E) Thomas 1/138/276. William 1/20/40.
NEWTON George 1/160/319. Isaac 1/107/214. Mary 1/94/187. Sarah 1/144/288.
NICHOLS William 1/5/10.
NICHOLSON Esther 1/43/85.
NORTH Elizabeth 1/26/52. Hannah 1/218/435.
NORTON Sarah 1/70/140.
NUTT Eliza 1/16/31.

OGLESBY Sarah 1/72/143.
OLDFIELD Martha 1/54/108.
OLDHAM John 1/197/393.
OSBENSON Job 1/235/470.
OSBORN(E) Hannah 1/913/386. Sarah 1/87/173. William 1/140/279.

PACEY John 1/108/216.

PAGDEN Edward 1/22/44.

APLMER Esther 1/89/178.

PARAMORE Henry 1/78/155.

PARKER Ann 1/40/79. Henry 1/195/390.

PARKIN Ann 1/4/7, 1/67/134, 1/102/204. George Whitehead 1/223/445. Henry 1/21/42.

Joseph 1/139/277. Mary 1/38/75. William 1/57/113.

PASHLEY Sarah 1/209/417.

PATISEL John 1/187/373.

PAYNE Mary Ann 1/7/14.

PEAKER Mary Ann 1/85/170.

PEARSON George 1/79/158. Henry 1/147/293. John 1/34/68.

PEEL Harriet 1/238/475.

PEMBERTON Elizabeth 1/159/317.

PENDLETON John 1/8/16.

PEPPER Robert 1/76/152.

PERKINS Mary 1/214/427.

PHILIPS Mary 1/32/64.

PICKERING Sarah 1/176/351.

PIGOTT William 1/5/9.

PIKE George 1/3/6.

PINDER Eliza 1/212/424.

PITCHFORD Ann 1/173/345.

PLATTS Alfred 1/62/123.

POLLARD Elizabeth 1/2/3. Sarah 1/79/157. William 1/3/5.

POOL Hannah 1/149/297.

POYNTON Joseph 1/102/203.

PRICE Robert 1/96/192.

PRIESTLEY Martha 1/74/147. William 1/220/440.

PROCTOR Eden 1/168/335. ~~PRYOR~~

PRYOR Elizabeth 1/184/368. William 1/177/353.

PUGH William 1/228/455.

PYBUS John 1/191/381.

QUINN ~~QUINN~~ James 1/42/83.

QUINTON William 1/95/189.

RABJOHN William 1/125/249.

RACE Mary 1/105/209.

RAMSDEN Benjamin 1/95/190. Edward 1/28/56.

RANDELL John 1/10/19.

RATCLIFFE John 1/45/89.

RAYNER Ann 1/11/21.

REANEY Martha 1/81/161. Mary 1/148/295. Sarah 1/169/338.

REDDISH Hannah 1/196/392.

REDFEARN Joseph 1/205/409. Mary 1/30/59.
REDFIN Joseph 1/13/26.
REVILL Ann 1/204/407. Peter 1/196/392.
REYNOLDS Robert 1/225/450. William 1/17/34.
RHODES Joseph 1/34/67.
RICHARDSON Charles 1/209/418. Harriet 1/233/465. Isaac 1/172/344. Mary 1/141/282.
Thomas 1/154/308.
RIDGWAY Sarah 1/182/363.
RILATT Pren 1/21/41.
ROBERTS Ann 1/55/109. Emma 1/208/415. James 1/44/88. John 1/210/419. Thomas Waterhouse
1/141/281.
ROBINS Hannah 1/55/110.
ROBINSON John 1/145/290.
RODGERS Edward 1/41/81. George 1/167/334. James*1/109/218. (*Henry) Sarah 1/239/478
ROGERSON Joseph 1/169/337.
ROLLET John 1/165/330.
ROPER Jane 1/177/353.
ROSTON Ann 1/40/80.
RUSSELL Mary 1/135/270.
RYALLS Frances 1/53/105. Joseph 1/73/145.

~~XXXXXXXX~~ SCHOFIELD Hannah 1/136/272. Lewis 1/69/138. Margaret 1/228/456.
SCHOLES Thomas 1/103/205.
SCOTT James 1/124/248. Mary Ann 1/54/107. Thomas 1/107/213.
SEAMAN Benjamin 1/118/236.
SEARLE Bernard 1/77/153.
SELLARS John 1/51/101. Roger 1/131/261.
SENIOR Celia 1/237/473. Hannah 1/237/474.
SHAW Frances 1/181/361. John 1/40/80. Joseph 1/158/315. Sarah 1/166/332. Thomas
1/187/374. William 1/105/210.
SHELDON Ann 1/153/305. Harriet 1/35/70. Thomas 1/66/131.
SHENTALL Thomas 1/119/237.
SHEPHERD Margaret Ann 1/39/77.
SHIRT Sarah 1/1/1.
SHIRTCLIFFE Eliza 1/191/382.
SHORE Matilda 1/39/78.
STIDDALL Daniel 1/135/270.
SIMPSON Eliza 1/84/168.
SIMS Samuel 1/213/426.
SINGLETON Francis 1/190/380.
SIVIL George 1/115/229.
SKELTON Job 1/68/135.
SKIDMORE Eliza 1/216/432.
SKINNER Ann 1/127/254. George 1/217/434.
SLACK Charles 1/246/491.

SLATER Sarah 1/31/61.
SLEIGHT William 1/211/422.
SLINGSBY Mary 1/111/221.
SMALL James 1/137/273.
SMITH Aⁿ 1/182/364. Elizabeth 1/14/28. Ellen 1/67/133. Harriet 1/211/422. Isabella
1/185/369. Joseph 1/31/61. Mary Ann 1/75/149. Samuel 1/157/313. Sarah 1/63/125,
XX 1/91/181, 1/221/442. William 1/204/408.
SNAPE Mary 1/33/66.
SOAR Sarah 1/7/13.
SOUTH Louisa 1/131/262.
SPALDING George 1/181/362.
SPANCER William 1/122/243.
SPURR William 1/180/359.
SQUIRES George 1/92/184.
STACEY James 1/43/86.
STAFFORD Samuel 1/111/222.
STANLEY Elizabeth 1/245/489.
STEAD William 1/237/474.
STEEL Elizabeth 1/128/256. Jane 1/217/434.
STEMSON John 1/120/240.
STEER Alice 1/208/416.
STEVENSON Elizabeth 1/235/469. Hannah 1/49/98. James 1/110/220.
STOCKS Mary 1/12/23.
STORER Maey 1/192/384.
STORRS John 1/19/38.
STRAFFORD John 1/183/365. Joshua 1/47/93.
STRINGER Henry 1/152/304. Isaac 1/150/299.
STUART John MacDonald 1/185/369.
STYRING Mary 1/15/29.
SWALLOW Martin 1/81/161.
SWINDEN Mary 1/125/249.

TALFORD Elizabeth 1/246/491.
TARBROOK Mary 1/183/366.
TARLETON Richard Henry 1/244/487.
TARRY James 1/2/4.
TAYLOR Benjamin 1/108/215. Eliza 1/163/325. Elizabeth 1/215/429. James 1/191/382.
John 1/26/51, 1/159/318. Mary 1/59/117. William 1/194/388.
THACKWAY George Horridge 1/201/402.
THICKETT Benjamin ~~XX~~ 1/13/25.
THOMPSON Joseph 1/130/259. Mary 1/80/160. Sarah 1/249/498. William 1/14/27.
THORNHILL Mary Ann 1/28/55.
THORPE Mary 1/117/234. Nancy 1/82/163.
TILBURY Henry 1/86/172.
TIMM Michael 1/87/173.

TINGLE Ann 1/118/235. Eliza 1/64/127. George 1/129/257. John 1/67/134.
TISSINGTON John Anthony 1/146/292.
TITTERTON John 1/114/227.
TODD Samuel 1/203/405.
TOMLIN Mary 1/58/116.
TOMLINSON Robert 1/92/183. Thomas 1/16/31.
TONKS Sarah 1/179/357.
TOOTHILL Francis 1/144/287.
TRAUNTER Joseph 1/9/18. Mary 1/9/18.
TRAVIS Mary 1/243/486. Thomas 1/19/37.
TRICKETT Susanna 1/109/217.
TRUELOVE George 1/84/168.
TURNER Eliza 1/123/246. Mary Ann 1/158/315. Sarah 1/143/286. Stephen 1/151/302.
Thomas 1/174/348.
TWIBEY Ann 1/5/9.

UTLEY Elizabeth 1/22/44.

VERITY William 1/112/223.
VICKERS Sarah 1/246/492.
VYSE William 1/250/500.

WADE John 1/91/181.
WADSWORTH Ann 1/11/22, 1/73/146. Caroline 1/129/257.
WAIN Sarah 1/8/16.
WAINWRIGHT Mary 1/195/389.
WALKER Ann 1/112/224. Elizabeth 1/227/454. George 1/46/92, 1/102/204, 13*60/320, 1/194/387.
George Henry 1/72/143. Henry 1/215/429. Joseph 1/37/74. Samuel 1/227/454.
Thomas 1/83/166. William 1/235/469.
WALL Hannah 1/26/51.
WALLER Eliza 1/50/100.
WALLIS Sarah 1/95/190.
WALTERS Richard 1/164/328.
WALTON William 1/127/253.
WARD Catherine 1/138/276. Charles 1/207/414. Grace 1/184/367. Jane 1/223/445. Margaret
1/227/453. Mary 1/157/314. Rebecca 1/176/352. Timothy 1/245/489. William 1/151/301.
WARDLE Richard 1/12/23. Sarah 1/91/182.
WASTNIDGE (WESNIDGE) Eliza 1/199/398. Martha 1/47/94.
WATSON James 1/51/102.
WATTS Elizabeth 1/29/58. George 1/132/263. Mary 1/72/144, 1/240/479.
WESTERN John 1/77/154.
WESTON Thomas 1/238/476.
WESTWOOD James 1/12/24.
WHEATLAND Mary 1/225/450.
WHEELDON Charles 1/17/33.

WHITAKER Fanny 1/243/485.

WHITE George 1/236/471. Hannah 1/189/378. Martha 1/62/123. Sarah 1/154/307. Thomas
1/38/76, 1/161/321.

WHITELEY Eliza 1/231/461. John 1/248/496.

WHITFIELD William 1/75/150.

WHITHAM Robert 1/158/316.

WILBY Charles 1/70/139.

WILCOX Harriet 1/240/480.

WILDE William 1/52/104, 1/202/404.

WILKINSON Ann 1/103/205. Frances 1/195/390. Henry 1/24/47. Joseph 1/70/140.

WILLEY Maria 1/180/359.

WILLIAMS George 1/32/64. William 1/166/332.

WILLIAMSON Mary Ann 1/95/189.

WILLIS (WILLS) Ann 1/47/93. Clarissa 1/204/408.

WILSON Ann 1/187/373. Caroline 1/219/437. Charlotte 1/175/350. George 1/116/232.
James 1/113/226. Mary 1/151/302. Sarah Ann 1/244/487. Thomas 1/199/398.

WING Catherine 1/231/462. James 1/41/82.

WINGFIELD John 1/149/297.

WOLSTENHOLME Thomas 1/43/85.

WOOD Charles 1/242/484. Elizabeth 1/241/482. Francis 1/236/472. Hannah 1/190/379. Isaac
1/198/396. Maria 1/52/104. Mary Hay 1/179/358. Sarah 1/124/248, 1/134/267.
William 1/50/100.

WOODCOCK Mary 1/22/43. Thomas 1/169/338.

WOODHEAD Ann 1/20/39. Mary 1/140/279.

WOODHOUSE George 1/188/376.

WOOLHOUSE Mary Ann 1/96/192.

WOOLLEN Elizabeth 1/100/199.

WOOLLEY James 1/46/91.

WORRALL Mary 1/148/296. Sarah 1/13/26.

WRAGG Charlotte 1/51/102. James 1/59/118, 1/209/417. Joseph 1/36/72. Priscilla 1/71/142.

WRIGHT Ann 1/236/472. Elizabeth 1/104/208, 1/162/324.

WYATT William 1/119/238.

YATES Ann 1/157/313. Benjamin 1/49/98. Samuel 1/45/90.

YOUNG Henry 1/29/58.

END OF INDEX TO BOOK '1'

SHEFFIELD CATHEDRAL

MARRIAGE

BOOK

'2'

JANUARY 1838

TO

JULY 1838

Transcribed By J. EDWARD SHORTLAND

Typewritten and Indexed By KEITH BLAGDEN

BY THE KIND PERMISSION OF THE PROVOST

THE VERY REV. W. F. CURTIS A. K. C.

Prefix number denotes book

2nd numerals denote page number

3rd numerals denote entry number

2/1/1	William Stenton	Ann Roberts
2/1/2	Isaac Cowin	Ann Thompson
2/2/3	Joseph Smith	Mary Ann Staley
2/2/4	John Drinkwater	Sarah Roberts
2/3/5	John Reynolds	Maria Alsop
2/3/6	John Hopkinson	Rachel Thompson
2/4/7	John Cutts	Sarah Barker
2/4/8	Samuel Cocker	Ann Onion
2/5/9	William Bocking	Eliza Bamforth
2/5/10	William Sorby	Mary Turner
2/6/11	George Harrison	Jane Smith
2/6/12	Thomas Fisher	Frances Elizabeth Fox
2/7/13	John Makin	Martha Senior
2/7/14	John Burton	Elizabeth Colley
2/8/15	Martin Marrin	Jane Timmon
2/8/16	George Truelove	Harriet Robinson
2/9/17	William Dean	Sarah Gill
2/9/18	William Crossley	Mary Allott
2/10/19	Benjamin Chapman	Elizabeth Newbould
2/10/20	John Beaver	Mary Harrison
2/11/21	John Greatorex	Jane Uilyett
2/11/22	John Sheldon	Rebecca Robinson
2/12/23	Robert Rickard	Martha Beal
2/12/24	William Foster	Elizabeth Godfrey
2/13/25	Alfred Green	Ann Betts
2/13/26	Emmanuel Badger	Mary Naylor
2/14/27	John Webster	Mary Jane Laye
2/14/28	George Latham	Emma Staniforth
2/15/29	Alfred Earnshaw	Eve Swindell
2/15/30	William Espager	Hannah Greaves
2/16/31	William Freeman	Ann Sykes
2/16/32	Edward Courtnal	Harriet Matthews
2/17/33	John Cotterill	Mary Green
2/17/34	Jeremiah Duckenfield	Martha Hartley
2/18/35	John Bell Travis	Mary Ann Adams
2/18/36	Edward Bullivant	Jane Marsh
2/19/37	George Carr	Mary Horsfield
2/19/38	Benjamin Sharman	Elizabeth Hind
2/20/39	William Johnston	Elizabeth Boston
2/20/40	John Bland	Ann Morton
2/21/41	John Platts	Elizabeth Lee
2/21/42	Joseph Swindell	Harriet Belk
2/22/43	Henry Chapman	Ann Clayton
2/22/44	Joseph Wild	Eliza Groby

2/23/45	Henry Whimshurst	Elizabeth Poynton
2/23/46	Gabriel Souter	Ann Godley
2/24/47	John Thompson	Elizabeth Stevenson
2/24/48	John Otley	Elizabeth Creswick
2/25/49	Samuel Storey	Elizabeth Lee
2/25/50	Charles Hague	Alice Cooper
2/26/51	William Staniforth	Margaret Wilson
2/26/51	John Harrison	Eliza Hoyland
2/27/53	John Jarvis	Elizabeth Wilson
2/27/54	Emanuel Hall	Susanna Gregory
2/28/55	John Torr	Ann Burkinshaw
2/28/56	Thomas Surr	Sarah Beardshaw
2/29/57	Richard Heathcote	Mary Hinchliffe (wid)
2/29/58	Hugh Roberts XXX	Mary Ann Hinchliffe (spins)
2/30/59	Robert Bowie Melville	Mary Ann Dixon
2/30/60	John Frost	Ruth Mills
2/31/61	William Watson	Mary Spooner
2/31/62	Henry Ibbotson	Mary Ann Bower
2/32/63	Israel Lazarus	Jane Allen
2/32/64	John Barley	Sarah Batty
2/33/65	John Smith	Elizabeth Rhodes
2/33/66	William Bennett	Mary Birtles
2/34/67	James Boyes	Mary Brown
2/34/68	John Holdsworth	Sarah Watson
2/35/69	George Gascoigne	Sarah Bagshaw
2/35/70	Benjamin Jubb	Ann Makinson
2/36/71	William Marsh	Elizabeth Fawcett
2/36/72	James Shippam	Sarah Richardson
2/37/73	Henry Norcliffe	Ann Rowark
2/37/74	George Wood	Martha Senior
2/38/75	Thomas Gamwells	Eliza Hattersley
2/38/76	William Dalton Green	Charlotte Neville
2/39/77	Samuel Holley	Mary Smith
2/39/78	John Woodhead	Mary Jennings
2/40/79	Joseph Laister	Mary Hammond
2/40/80	Joshua Stones	Emma Fevers
2/41/81	Charles Ainley	Jane Thew
2/41/82	William Mills	Caroline Hattersley
2/42/83	George Pye	Mary Ann Ward
2/42/84	Charles Smith	Sarah Beetham
2/43/85	Charles Campbell	Ann Spencer
2/43/86	Alfred Ibbotson	Mary Jubb
2/44/87	Henry Biggin	Eliza Reaney
2/44/88	Jacob Dunn	Ellen Frain

2/45/89	George Bell	Rachel Wood
2/45/90	Thomas Swift	Deborah Furniss
2/46/91	Thomas Warris	Sarah Cowin
2/46/92	John Bloomer	Ann Wood
2/47/93	James Dixon	Sarah Cowley
2/47/94	James Walker	Eliza Marriott
2/48/95	Isaac Andrew	Hannah Watson
2/48/96	William Riley	Harriet Holdsworth
2/49/97	Richard Brown	Olivia Brailsford
2/49/98	William Marsh	Elizabeth Radley
2/50/99	John Marsh	Eliza Shaw
2/50/100	John Haywood	Lydia Atkin
2/51/101	John Strutt	Sarah Grayson
2/51/102	Robert Clowes	Elizabeth Pidcock
2/52/103	Joseph Wragg	Elizabeth Robinson
2/52/104	Joseph Unwin	Hannah Wragg
2/53/105	Henry Parkin	Eliza Foster
2/53/106	Christopher Belk	Martha Bagshaw
2/54/107	James Sylvester	Rebecca Nicholson
2/54/108	Samuel Wood	Elizabeth Hobson
2/55/109	William Barnsley	Mary Valetine
2/55/110	Richard Abbott	Caroline Clayton
2/56/111	John Birks	Harriet Hoyland
2/56/112	Henry Charlesworth	Mary Ann Johnson
2/57/113	Samuel Bamford	Ann Vickers
2/57/114	William Griffiths	Ann Sykes
2/58/115	John Booth	Martha Birch
2/58/116	Joseph Hopkinson Hardy	Mary James
2/59/117	Frederick Williamson	Elizabeth Burton
2/59/118	George Vickers	Hannah Padley
2/60/119	William Morton	Martha Windle
2/60/120	John Heppenstall	Ann Fox
2/61/121	Thomas Shirtcliffe	Elizabeth Hird
2/61/122	George Bell	Anne Wright
2/62/123	Joshua Shaw	Elizabeth Hoyland
2/62/124	Alfred Peters Keyworth	Bethia Webb
2/63/125	Thomas Woodhouse	Elizabeth Badley Buxton
2/63/126	John Lyle	Elizabeth Peet
2/64/127	George Townsend	Ann Brunt
2/64/128	James Bradshaw	Eliza Whittington
2/65/129	William Hudson	Maria Bailey
2/65/130	William Keene	Catherine Repein
2/66/131	James Hinde	Hannah Stenton
2/66/132	William Sheldon	Sarah Bingham

2/67/133	Benjamin Cockayne	Amy Turner
2/67/134	William Flint	Elizabeth Elliott
2/68/135	Francis Moat	Mary Ann Wolstenholm
2/68/136	William Grant	Mary Hopkinson
2/69/137	Joseph Spray	Sarah Greaves
2/69/138	James Drabble	Eliza Moore
2/70/139	Joseph Seddon	Ann Bishop
2/70/140	Charles Reading	Hannah Paine
2/71/141	John Walker	Mary Stones
2/71/142	John Sadler	Mary Marshall
2/72/143	Joseph Broomhead	Sarah Kirk
2/72/144	Thomas Edward Green	Susanna Walker
2/73/145	Francis Jenkinson	Sarah Machin
2/73/146	George Jaglin	Charlotte Gregory
2/74/147	James Fish	Hannah Palfreyman
2/74/148	Robert Heath	Sarah Lee
2/75/149	William Stringer	Mary Ann Hill
2/75/150	John Wrigley	Christiana Hall
2/76/151	James Thompson	Charlotte France
2/76/152	John Harris	Esther Creswick
2/77/153	James Holland	Sarah Hudson
2/77/154	John Dycbe	Sarah Clark
2/78/155	William Ryalls	Azubah Hanbey
2/78/156	Charles Smedley	Ann Salby
2/79/157	Hugh Brady	Jane Clark
2/79/158	Henry Wolstenholme	Elizabeth Bown
2/80/159	James Hewitt	Elizabeth Fields
2/80/160	Joseph Murfin	Harriet Lingden
2/81/161	John Fox	Mary Green
2/81/162	Isaac Blenkin	Elizabeth Taylor
2/82/163	Henry Dalton	Ann Carron
2/82/164	George Mount	Mary Ann Hand
2/83/165	Charles Birkinshaw	Betty Green
2/83/166	Charles Bingham	Martha Slinn
2/84/167	William Denton	Eliza Hibberd
2/84/168	Farewell Harrison	Catherine Wagstaffe
2/85/169	Joseph Wilkinson	Elizabeth Gillot
2/85/170	John Parker	Mary Widowson
2/86/171	John Trickett	Ann Dronfield
2/86/172	Christopher Megson	Elizabeth Lee
2/87/173	Jonathan Dutton	Sarah Ibbotson
2/87/174	George Harrison	Sarah Small
2/88/175	Edward Wheeldon	Harriet Elliott
2/88/176	George Beave	Mary Whitley

2/89/177	Peter Godfrey	Hannah Aldam
2/89/178	John Wheeler	Jane Finney
2/90/179	James Bussey	Mary Chapel
2/90/180	George Woodcock	Sarah Aughton
2/91/181	Amos Norton	Ann Mowbray
2/91/182	Charles Smith	Marylda Beckett
2/92/183	Henry George Holmes	Mary Ann Johnson
2/92/184	John Short	Jane Coward
2/93/185	Alexander Watson	Emma Coldwell
2/93/186	Thomas Wain White	Fanny Hobson
2/94/187	William Kent	Jane Boardman
2/94/188	Joseph Goddard	Eleanor Firth
2/95/189	William Henry Evans	Alice Fisher
2/95/190	Jonathan Trickett	Elizabeth Parker
2/96/191	George Ward	Jane Walker
2/96/192	George Batty	Mary Pool
2/97/193	Samuel Thompson	Ann Newman
2/97/194	James Mayland	Eliza Taylor
2/98/195	John Revill	Hannah Walkland
2/98/196	Mark Noble	Sarah Aldam
2/99/197	Richard Parsons	Martha Wilkinson
2/99/198	William Addingley	Elizabeth Allott
2/100/199	Joseph Morriss	Mary Leedham
2/100/200	George Hadfield	Elizabeth Heathcote
2/101/201	William Beaumont	Emily Greenoff
2/101/202	Isaac Palmer	Harriet Goddard
2/102/203	John James Bunting	Ann Wadsworth
2/102/204	Joseph Elliott	Elizabeth North
2/103/205	James Frith	Mary Skelton
2/103/206	Edward Jarvis	Hannah Finingley
2/104/207	Joseph Fenton	Sarah Bowman Hue
2/104/208	William Ward	Mary Ann Robinson
2/105/209	George Lingard	Ann Rowen
2/105/210	Charles Holmes	Rebecca Cryer
2/106/211	Thomas France	Mary Ann Ward
2/106/212	William Walker	Harriet Armitage
2/107/213	Robert Barber	Amelia Wilkin
2/107/214	Elias Middleton	Ann Holt
2/108/215	Thomas Bancroft	Elizabeth Wild
2/108/216	John Goddard	Hannah Hague
2/109/217	Joseph Duke	Martha Wakefield
2/109/218	William Hickman	Elizabeth Smith
2/110/219	John Salmon	Elizabeth Burley
2/110/220	Paul Greenwood	Ann Bagshaw

2/111/221	George Renshaw	Fanny Biggins
2/111/222	John Evans	Hannah Neaves
2/112/223	Thomas Ruddelsdin	Nancy Hall
2/112/224	William Brwon	Mary Paxton
2/113/225	Mark Royston	Ann Spencer
2/113/226	Samuel Stubbings	Mary Carr
2/114/227	John Woods	Ann Stones
2/114/228	Arthur Hattersley	Sarah Mower
2/115/229	William Grayson	Mary Booth
2/115/230	Joseph Fletcher	Charlotte Grayson
2/116/231	Thomas Hall	Jane Duke
2/116/232	John Wells	Mary Mokes
2/117/233	James Bennett	Elizabeth Gregory
2/117/234	Charles Price	Mary Shaw
2/118/235	John Elliott	Christiana Bagshaw
2/118/236	Edward Marsh	Mary Jow
2/119/237	Daniel Stacey	Ann Hearnshaw
2/119/238	Sampson Chapman	Joyce James
2/120/239	Samuel Brasington	Mary Streets
2/120/240	Robert Shirt Jennings	Eliza Ann Sanderson
2/121/241	George Brwom	Sarah Bird
2/121/242	John Reed	Ann Gouldsborough
2/122/243	William Swift	Mary Dawson
2/122/244	William Towndrow	Isabella Stead
2/123/245	George Pemberton	Nancy Potts
2/123/246	James Sellars	Elizabeth Smith
2/124/247	John Hill	Elizabeth Osborn
2/124/248	John Webster	Elizabeth Hague
2/125/249	James Chatterton	Elizabeth Crofts
2/125/250	Robert Barker	Esther Jane Smith
2/126/251	Charles Roberts	Anne Ward
2/126/252	John Middleton	Sarah Cottrell
2/127/253	William Calrk	Maragret Frogatt
2/127/254	William Chatterton	Elizabeth Sanderson
2/128/255	William Knowles	Maria Dewsnap
2/128/256	John Linley	Mary Brunt
2/129/257	Benjamin Bradwell	Ann Goodlad
2/129/258	William Woodhead	Eliza Rawson
2/130/259	Moses Barton	Hannah Taylor
2/130/260	Nicholas Blackwell	Mary Ann Sadler
2/131/261	Charles Bush	Ann Middleton
2/131/262	George Booker	Hannah Weston
2/132/263	Frederick William Batty	Sarah Greaves
2/132/264	John Crookes	Elizabeth Smith

2/133/265	John Mills.	Elizabeth Jessop
2/133/266	Adam Bramall	Sarah Ward
2/134/267	Samuel Owen	Mary Eyre
2/134/268	Charles Hutchinson	Mary Hobsom
2/135/269	Matthew North	Martha Pinder
2/135/270	Matthew Marsden	Harriet Williams
2/136/271	William Walker	Sarah Cottam
2/136/272	James Rhodes Dawson	Hannah Smith
2/137/273	James Windle	Elizabeth Davis
2/137/274	James Reaney	Julia Payne
2/138/275	Robert Frost	Mary Allen
2/138/276	Jonathan Goyld	Ann Revitt
2/139/277	John Mallinder	Sarah Hall
2/139/278	Thomas Atkinson	Elizabeth Owen
2/140/279	Matthew Collier	Ann Worthington
2/140/280	Surtis Parkin	Ann Thompson
2/141/281	George Robinson	Elizabeth Swift
2/141/282	William Rowland	Caroline Crookes
2/142/283	William Thorpe	Mary Ann Webster
2/142/284	Samuel Loxley	Elizabeth Yeardley
2/143/285	Thomas James	Mary Gregory
2/143/286	Joshua Marsden	Jane Holy
2/144/287	Samuel Thorp	Elizabeth Shaw
2/144/288	John Sanderson	Sidonia Gaunt
2/145/289	Joseph Holmes	Amelia Green
2/145/290	George Cartledge	Mary Fowler
2/146/291	Leonard Mawson Gledhill	Sarah Blythe
2/146/292	Joseph Tyas	Elizabeth Swain
2/147/293	Joseph Harrison	Mary Sheldon
2/147/294	William Matthewman	Mary Ann Gregory
2/148/295	Benjamin Badger	Elizabeth Garner
2/148/296	Thomas Brailsforth	Selina Bailiff
2/149/297	James NET Nettleton	Hannah Lyons
2/149/298	John Pinder	Sarah Woodhead
2/150/299	Thomas Holdsworth	Ann Trickett
2/150/300	John Dearnley	Martha Brown
2/151/301	James Wells	Harriet Beatson
2/151/302	William Windle	Mary Warburton
2/152/303	William Hirst	Catherine Batty
2/152/304	Thomas Jackson	Ann Drury
2/153/305	Edward Winter	Sophia Waterhouse
2/153/306	Henry Richards	Elizabeth Kirk
2/154/307	George Lamb	Sarah Blakley
2/154/308	Joseph Oldfield	Elizabeth Howarth

2/155/309	George Thompson	Ann Wild
2/155/310	Edmund Smith	Ann Scaiff
2/156/311	Joseph Woolhouse	Ann Ward
2/156/312	William Froggatt	Ann Oates
2/157/313	Alfred Wildgoose	Charlotte Johnson
2/157/314	William Hunter	Sarah Jackson
2/158/315	Robert Balderson	Mary Fearn
2/158/316	Thomas Slagg	Ann Wright
2/159/317	John Adlard	Mary Morton
2/159/318	John Watson Middleton	Sarah Middleton
2/160/319	Edward Hunter	Mary Ann Barber
2/160/320	James Greaves	Mary Ann Powell
2/161/321	Benjamin Hudson	Mary Ann Wright
2/161/322	Samuel Ibberson	Harriet Howard
2/162/323	William Hibbert	Charlotte Taylor
2/162/324	George Russon	Susanna Kay
2/163/325	Richard Shillito	Susanna Johnson
2/163/326	Samuel Sykes	Ann Tattershall
2/164/327	Henry Doughty	Sarah Turner
2/164/328	John Heppenstall	Amelia Adams
2/165/329	Henry Powell	Elizabeth Greaves
2/165/330	William Henderson	Ann Lewis
2/166/331	Thomas Yates	Mary Fox
2/166/332	Joseph Rivington	Mary Shepherd
2/167/333	Jonathan Cocker	Elizabeth Brown
2/167/334	Samuel Hunt	Harriet Bennett
2/168/335	William James Taft	Elizabeth Thompson
2/168/336	William Hodgson	Ann Gillott
2/169/337	William Nowill	Mary Harrison
2/169/338	George Eyre	Mary Thorp
2/170/339	James Bennett	Eliza Butterworth
2/170/340	George Goddyear	Rosanne Howard
2/171/341	James Tripper	Elizabeth Lupton
2/171/342	George Durham	Martha Tummon
2/172/343	William Sykes	Sarah Wilson
2/172/344	William Calrk	Eliza Ball
2/173/345	James Finney	Mary Thompson
2/173/346	James Markham	Charlotte Martinson
2/174/347	John Jowle	Ann Rhodes
2/174/348	Thomas Dean	Betsy Burke
2/175/349	Thomas Revill	Betsy Sylvester
2/175/350	John Allen	Elizabeth Hurt
2/176/351	Joseph Hodgson	Mary Ann Gilbert
2/176/352	George Welch	Elizabeth MacDonald

2/177/353	Jonathan Parkin	Ann Jeeves
2/177/354	Thomas Jessop	Sarah Holland
2/178/355	Joseph Rogerson	Hephziba Yates
2/178/356	John Froggatt	Mariane Esther Buckley
2/179/357	James Furniss	Elizabeth Clayton
2/179/358	William Whewell	Mary Longsley
2/180/359	Edward Smith	Mary Barlow
2/180/360	George Mellors	Jane Johnson
2/181/361	William Hall	Eleanor Baker
2/181/362	Edward Hinchliffe	Harriet Briddock
2/182/363	Thomas Inman Brunt	Ann Broughton
2/182/364	Samuel Cartledge	Harriet Parkin
2/183/365	George Scaif	Ann Greem
2/183/366	John Rouse	Rebecca Thompson
2/184/367	John Oxley	Mary Ann Smith
2/184/368	Benjamin Rodgers	Sarah Wainwright
2/185/369	George Burton	Elizabeth Crookes
2/185/370	John Taylor Toogood	Emma Amelia Needham
2/186/371	Thomas Broomhead	Hannah Wilkinson
2/186/372	James Goulden	Jane Dale
2/187/373	Jonathan Swift	Maria Handley
2/187/374	Joseph Hawksworth	Sarah Woodcock
2/188/375	John Wilkinson	Elizabeth Arnold
2/188/376	John Wigfield	Mary Windle
2/189/377	James Elshaw	Sarah Wright
2/189/378	Joseph Holland	Mary Hatfield
2/190/379	James Jowitt	Ann Grayson
2/190/380	William Goodison	Catherine Fletcher
2/191/381	William Stathers	Deborah Laycock
2/191/382	Joshua Medley	Elizabeth Bedford
2/192/383	Benjamin Goodison	Mary Kinder
2/192/384	William Ward	Mary Boyes
2/193/385	Stephen Millward	Harriet Mitchell
2/193/386	William ROSE Memmott	Ann Parkin
2/194/387	Thomas Ford	Elizabeth Reaney
2/194/388	Mark Seaston	Elizabeth Jennings
2/195/389	John Hurst	Mary Mullins
2/195/390	William Hawley	Hannah Hall
2/196/391	Edward Harrison	Ann Lawrence
2/196/392	Benjamin Pashley	Ann Ellis
2/197/393	Joseph Rotherham	Susanna Kirk
2/197/394	John Wales	Rebecca Neeves
2/198/395	William Mount	Mary Gregg
2/198/396	Joseph Milner	Ann Owem

2/199/397	Thomas Froggatt	Sarah Jackson
2/199/398	George Johnson	Hannah Wells
2/200/399	John Garlick	Mary Wilkinson
2/200/400	John Turton	Mary Wright
2/201/401	Percival Bowen	Marianne Hand
2/201/402	Aaron Renshaw	Elizabeth Hodkin
2/202/403	John Tompkin	Mary Ann Bull
2/202/404	Joahus Fawley	Mary Cowley
2/203/405	John Arnold	Mary Holdsworth
2/203/406	Joseph Norton	Sarah Swain
2/204/407	John Jackson	Jane Ledger Pearsom
2/204/408	Joseph Platts	Kitty Waterhouse
2/205/409	John King	Hannah Whitaker
2/205/410	William Warburton	Hannah Crookes
2/206/411	Thomas Gregory	Sarah Crookes
2/206/412	Robert Rowlsom	Eliza Haywood
2/207/413	Richard Cockin	Ann Gillott
2/207/414	Henry Wodsworth	Mary Mellor
2/208/415	Stephen Dunnill	Elizabeth Hawley
2/208/416	George Leadbeater	Hannah Tumason
2/209/417	James Butcher	Ann Turner
2/209/418	Abraham Rayson	Elizabeth Newsom
2/210/419	Joseph Cusworth	Elizabeth Farrow
2/210/420	Ezra Bottomley	Sarah Woodcock
2/211/421	Thomas Foster	Keturah Ward
2/211/422	John Barratt	Sarah Ann Steels
2/212/423	Charles Margeson	Phoebe Badger
2/212/424	William Sissons	Frances Booth
2/213/425	John Hall	Sarah Hobson
2/213/426	Timothy Scott	Sarah Salt
2/214/427	James Wolstenholme	Ann Hattersley
2/214/428	George Wilson	Ann Arnold
2/215/429	Henry Jackson	Frances Swettenahm
2/215/430	William Frith	Hannah Hearnshaw
2/216/431	Henry Cadman	Jane Stones
2/216/432	Charles Staniforth	Sarah Housley
2/217/433	James Gyte	Elizabeth Revill
2/217/434	Luke Hibbert	Amy Bollington
2/218/435	John Lindley	Eliza Lewis
2/218/436	John Smith	Elizabeth Hackett
2/219/437	John Henry Revill	Eliza Godley
2/219/438	William Stavey	Ann Higginbottom
2/220/439	William Hazlehurst	Hannah Barker
2/220/440	Charles Sykes	Mary Stevenson

2/221/441	William Shaw	Sarah Harris
2/221/442	Joseph Mulvey	Eliza Cavill
2/222/443	William Taylor	Mary Sheldon
2/222/444	John Sanderson	Phoebe Ashforth
2/223/445	William Day Martin	Ann Calverley Brammall
2/223/446	George Carr	Mary Ann Cutler
2/224/447	James Corbridge	Elizabeth Worstenholme
2/224/448	Charles Hutchinson	Mary Ann Hopkins
2/225/449	George Stacey	Eliza Jackson
2/225/450	Frederick Barton	Sarah Coles
2/226/451	William Spencer	Hannah Parkes
2/226/452	Michael Bedford	Elizabeth Oates
2/227/453	Laban Jackson	Mary Darby
2/227/454	John Wilson	Ann Hobson
2/228/455	Charles Nelson	Ann Marshall
2/228/456	William Siddall	Martha Stray
2/229/457	Joseph Baxter	Eliza Oxley
2/229/458	Joseph Charlesworth	Mary Booth
2/230/459	William Corker	Hannah Milner
2/230/460	William Grant	Mary Ann Webster
2/231/461	Alfred Skinner	Harriet Webster
2/231/462	George Newbould	Emma Beakin
2/232/463	Thomas Chesman	Sarah Laycock
2/232/464	William Bittles	Maria Jackson
2/233/465	George Coghlan	Matilda Woodhouse
2/233/466	William Oakes	Harriet Lee
2/234/467	Joseph Wilson	Ann Conquest
2/234/468	William Horton	Sarah Ann Robinson
2/235/469	William Wash	Margaret Ashforth
2/235/470	Thomas Cross	Bridget Wragg
2/236/471	John Beckett	Mary Wood
2/236/472	George Dawson	Mary Tattershall
2/237/473	William Hodkin	Harriet Barker
2/237/474	Henry Levy	Charlotte Gough
2/238/475	John Hughes	Mary Man
2/238/476	William Cannon	Elizabeth Smith
2/239/477	James Butler	Sarah Bacher
2/239/478	John Newbound	Martha Hibbert
2/240/479	William Clifford	Sarah Sellars
2/240/480	Jonathan Hall	Mary Lowe
2/241/481	William Stacey	Elizabeth Ashton
2/241/482	George Pickering	Sarah Park
2/242/483	Thomas Soar	Margaret Pearson
2/242/484	John Hentom	Ann Hickson

2/243/485	Peter Champion	Mary Adsetts
2/243/486	Henry Birch	Catherine Wright
2/244/487	John Bishop Hadfield	Caroline Ashton
2/244/488	Thomas Stanford	Eliza Stringer
2/245/489	William Deam	Maria Bowns
2/245/490	William Makinson	Ann Hall
2/246/491	David Parkes	Eliza Hopkins
2/246/492	Charles Mottram	Sarah Pearson
2/247/493	George Johnson	Ann Corbidge
2/247/494	Peter Makin	Mary Ann Hallatt
2/248/495	John Mather	Elizabeth Barber
2/248/496	Joseph Randall	Eliza Jackson
2/249/497	Matthew Housley	Eliza Goodison
2/249/498	William Parkin	Sarah Shaw
2/250/499	Henry Carr	Ann Turner
2/250/500	Thomas Owen	Ann White

END OF BOOK "2"

ABBOTT Richard 2/55/110.

ADAMS Amelia 2/164/328. Mary Ann 2/18/35.

ADDINGLEY William 2/99/198.

ADLARD John 2/159/317.

ADSETTS Mary 2/243/485.

AINLEY Charles 2/41/81.

AIDAM Hannah 2/89/177. Sarah 2/98/196.

ALLEN Hane 2/32/63. John 2/175/350. Mary 2/138/275.

ALLOTT Elizabeth 2/99/198. Mary 2/9/18.

ALSOP Maria 2/3/5.

ANDREW Isaac 2/48/95.

ARMITAGE Harriet 2/106/212.

ARNOLD Ann 2/214/428. Elizabeth 2/188/375. John 2/203/405.

ASHFORTH Margaret 2/235/469. Phoebe 2/222/444.

ASHTON Caroline 2/244/487. Elizabeth 2/241/481.

ATKIN Lydia 2/50/100.

ATKINSON Thomas 2/139/278.

AUGHTON Sarah 2/90/180.

BACHER Sarah 2/239/477.

BADGER Benjamin 2/148/295. Emmanuel 2/13/26. Phoebe 2/212/423.

BAGSHAW Ann 2/110/220. Christina 2/118/235. Martha 2/53/106. Sarah 2/35/69.

BATLEY Maria 2/65/129.

BAILIFF Selina 2/148/296.

BAKER Eleanor 2/181/361.

BALDERSON Robert 2/158/315.

BALL Eliza 2/172/344.

BAMFORD Samuel 2/57/113.

BAMFORTH Eliza 2/5/9.

BANCROFT Thomas 2/108/215.

BARBER Elizabeth 2/248/495. Mary Ann 2/160/319. Robert 2/107/213.

BARKER Hannah 2/220/439. Harriet 2/237/473. Robert 2/125/250. Sarah 2/4/7.

BARLEY John 2/32/64.

BARLOW Mary 2/180/359.

BARNSLEY William 2/55/109.

BARRATT John 2/211/422.

BARTON Frederick 2/225/450. Moses 2/130/259.

BATTY Catherine 2/152/303. Frederick William 2/132/263. George 2/96/192. Sarah 2/32/64.

BAXTER Joseph 2/229/457.

BEAL Martha 2/12/23.

BEARDSHAW Sarah 2/28/56.

BEATSON Harriet 2/151/301.

BEAUMONT William 2/101/201.

BEAVER George 2/88/176. John 2/10/20.

BACKETT John 2/236/471. Matilda 2/91/182.
BEDFORD Elizabeth 2/191/382. Michael 2/226/452.
BEETHAM Sarah 2/42/84.
BEIK Christopher 2/53/106. Harriet 2/21/42.
BELL George 2/45/89, 2/61/122.
BENNETT Harriet 2/167/334. James 2/117/233, 2/170/339. William 2/33/66.
BETTS Ann 2/13/25.
BIGGIN(S) Fanny 2/111/221. Henry 2/34/87.
BINGHAM Charles 2/83/166. Sarah 2/66/132.
BIRCH Henry 2/243/486. Martha 2/58/115.
BIRD Sarah 2/121/241.
BIRKINSHAW (BURKINSHAW) Ann 2/28/55. Charles 2/83/165.
BIRKS John 2/56/111.
BIRTLES Mary 2/33/66. William 2/232/464.
BISHOP Ann 2/70/1139.
BLACKWELL Nicholas 2/130/260.
BLAKELEY Sarah 2/154/307.
BLAND John 2/20/40.
BLANKIN Isaac 2/81/162.
BLOOMER John 2/46/92.
BLYTHE Sarah 2/146/291.
BOARDMAN Jane 2/94/1187.
BOCKING William 2/5/9.
BOLLINGTON Amy 2/217/434.
BOOKER George 2/131/262.
BOOTH Frances 2/212/424. John 2/58/1115. Mary 2/115/229, 2/229/458.
BOSTON Elizabeth 2/20/39.
BOTTOMLEY Ezra 2/210/420.
BOWEN Percival 2/201/401.
BOWER Mary Ann 2/31/62.
BOWN(S) Elizabeth 2/79/1158. Maria 2/245/489.
BOYES James 2/34/67. Mary 2/192/384.
BRADSHAW James 2/64/1128.
BRADWELL Benjamin 2/129/257.
BRADY Hugh 2/79/1157.
BRAILSFORD Olive 2/49/97.
BRAILSFORTH Thomas 2/148/296.
BRAMALL Adam 2/133/266. Ann Calverley 2/223/445.
BRASINGTON Samuel 2/120/239.
BRIDDOCK Harriet H 2/181/362.
BROOMHEAD Joseph 2/72/143. Thomas 2/186/371.
BROUGHTON Ann 2/182/363.
BROWN Elizabeth 2/167/333. George 2/121/241. Martha 2/150/300½ Mary 2/34/67.
Richard 2/49/97. William 2/112/224.
BRUNT Ann 2/64/1127. Mary 2/128/256. Thomas Inman 2/182/363.

BUCKLEY Mariane Esther 2/178/356.
BULL Mary Ann 2/202/403.
BULLIVANT Edward 2/18/36.
BUNTING Jahn James 2/102/203.
BURKE Betsy 2/174/348.
BURLEY KK Elizabeth 2/110/219.
BURTON Elizabeth 2/59/117. George 2/185/369. John 2/7/14.
BUSH Charles 2/131/261.
BUSSEY James 2/90/179.
BUTCHER James 2/209/417.
BUTLER James 2/239/477.
BUTTERWORTH Eliza 2/170/339.
BUXTON Elizabeth Badley 2/63/125.

CADMAN Henry 2/216/431.
CAMPBELL Charles 2/43/85.
CANNON William 2/238/476.
CARR George 2/19/37, 2/223/446. Henry 2/250/499. Mary 2/113/226.
CARRON Ann 2/82/163.
CARTLEDGE George 2/145/290. Samuel 2/182/364.
CAVILL Eliza 2/221/442.
CHAMPION Peter 2/243/485.
CHAPEL Mary 2/90/179.
CHAPMAN Benjamin 2/10/19. Henry 2/22/43. Sampson 2/119/238.
CHARLESWORTH Henry 2/56/112. Joseph 2/229/458.
CHATTERTON James 2/125/249. William 2/127/254.
CHASMAN Thomas 2/232/463.
CLARK Jane 2/79/157, Sarah 2/77/154. William 2/127/253, 2/172/344.
CLAYTON Ann 2/22/43. Caroline 2/55/110. Elizabeth 2/179/357.
CLIFFORD William 2/240/479.
CLOWES Robert 2/51/102.
COCKAYNE Benjamin 2/67/133.
COCKER Jonathan 2/167/333. Samuel 2/4/8.
COCKLIN Richard 2/207/413.
COGHLIN George 2/233/465.
COLDWELL Emma 2/93/185.
COLES Sarah 2/225/450.
COLLEY Elizabeth 2/7/14.
COLLIER Matthew 2/140/279.
CONQUEST Ann 2/234/467.
COOPER Alice 2/25/50.
CORBIDGE Ann 2/247/493. James 2/224/447.
CORKER William 2/230/459.
COTTAM Sarah 2/136/271.
COTTERILL (COTRELL) John 2/17/33. Sarah 2/126/252.

COURTNAI Edward 2/16/32.

COWARD Jane 2/92/184.

COWIN Isaac 2/1/2. Sarah 2/46/91.

COWLEY Mary 2/202/404. Sarah 2/47/93.

CRESWICK Elizabeth 2/24/48. Esther 2/76/152.

CROFTS Elizabeth 2/125/249.

CROOKES Caroline 2/141/282. Elizabeth 2/185/369. Hannah 2/205/410. John 2/132/264.

Sarah 2/206/411.

CROSS Thomas 2/235/470.

CROSSLEY William 2/9/18.

CRYER Rebecca 2/105/210.

CUSWORTH Joseph 2/210/419.

CUTLER Mary Ann 2/223/446.

CUTTS John 2/4/7.

DALE Jane 2/186/372.

DALTON Henry 2/82/163.

DARBET Mary 2/227/453.

DAVIS Elizabeth 2/137/273.

DAWSON George 2/236/472. James Rhodes 2/136/272. Mary 2/122/243.

DEAKIN Emma 2/231/462.

DEAN Thomas 2/174/348. William 3/9/17, 2/245/489.

DEARNLEY John 2/150/300.

DENTON William 2/84/167.

DEWSNAP Maria 2/128/255.

DIXON James 2/47/93. Mary Ann 2/30/59.

DOUGHTY Henry 2/164/327.

DRABBLE James 2/69/138.

DRINKWATER John 2/2/4.

DRONFIELD Ann 2/86/171.

DRURY Ann 2/152/304.

DUCKENFIELD Jeremaih 2/17/34.

DUKE Jane 2/116/231. Joseph 2/109/217.

DUNN Jacob 2/44/88.

DUNNILL Stephen 2/208/415.

DURHAM George 2/171/342.

DUTTON Jonathan 2/87/173.

DYCHE John 2/77/154.

EARNSHAW Alfred 2/15/29.

ELLIOTT Elizabeth 2/67/134. Harriet 2/88/175. John 2/118/235. Joseph 2/102/204.

ELLIS Ann 2/196/392.

ELSEHAW James 2/189/377.

ESBERGER (ESPAGER) William 2/15/30.

EVANS John 2/111/222. William Henry 2/95/189.

EYRE George 2/169/338. Mary 2/134/267.

FARROW Elizabeth 2/210/419.

FAWCETT Elizabeth 2/36/71.

FAWLEY Joshua 2/202/404.

FEARN Mary 2/158/315.

FENTON Joseph 2/104/207.

FEVERS Emma 2/40/80.

FIELDS Elizabeth 2/80/159.

FININGLEY Hannah 2/103/206.

FINNEY James 2/173/345. Jane 2/89/178.

FIRTH Eleanor 2/94/188.

FISH James 2/74/147.

FISHER Alice 2/95/189. Thomas 2/6/12.

FLETCHER Catherine 2/190/380. Joseph 2/115/230.

FLINT William 2/67/134.

FORD Thomas 2/194/387.

FOSTER Eliza 2/53/105. Thomas 2/211/422. William 2/12/24.

FOWLER Mary 2/145/290.

FOX Ann 2/60/120. Frances Elizabeth 2/6/12. John 2/81/161. Mary 2/166/331.

FRAIN Ellen 2/44/88.

FRANCE Charlotte 2/76/151. Thomas 2/106/211.

FREEMAN William 2/16/31.

FRITH James 2/103/205. William 2/215/430.

FROGATT (FROGGATT) Margaret 2/127/253. John 2/178/356. Thomas 2/199/397. William 2/156/312.

FROST John 2/30/60. Robert 2/138/275.

FURNISS Deborah 2/45/90. James 2/179/357.

GAMWELLS Thomas 2/38/75.

GASCOIGNE George 2/35/69.

GARLICK John 2/200/399.

GARNER Elizabeth 2/148/295.

GAUNT Sidonia 2/144/288.

GILBERT Mary Ann 2/176/351.

GILL Sarah 2/9/17.

GILLOTT Ann 2/168/336, 2/207/413. Elizabeth 2/85/169.

GLEDHILL Leonard Mawson 2/146/291.

GODDARD Harriet 2/101/202. John 2/108/216. Joseph 2/94/188.

GODFREY Ann 2/23/46. Elizabeth 2/112/24. Peter 2/89/177.

GODLEY Ann 2/23/46. Eliza 2/219/437.

GOODISON Benjamin 2/192/383. Eliza 2/249/497. William 2/190/380.

GOODLAD Ann 2/129/257.

GOODYEAR George 2/170/340.

GOUGH Charlotte 2/237/474.

GOULD Jonathan 2/139/276.

GOULDEN James 2/186/372.
GOULDSBOROUGH Ann 2/121/242.
GRANT William 2/68/136, 2/230/460.
GRAYSON Ann 2/190/379. Charlotte 2/115/230. Sarah 2/51/101. William 2/115/229.
GREATOREX John 2/11/21.
GREAVES Elizabeth 2/165/329. Hannah 2/115/30. James 2/169/320. Sarah 2/69/138, 2/132/263.
GREEN Alfred 2/13/25. Amelia 2/145/289. Ann 2/183/365. Betty 2/83/165. Mary 2/17/33,
2/81/161. Thomas Edward 2/72/144. William Dalton 2/38/76.
GREENOFF Emily 2/101/201.
GREENWOOD Paul 2/110/220.
GREGG Mary 2/198/395.
GREGORY Charlotte 2/73/146. Elizabeth 2/117/233. Mary 2/143/285. Mary Ann 2/147/294.
Susanna 2/27/54. Thomas 2/206/411.
GRIFFITHS William 2/57/114.
GROBY Eliza 2/22/44.
GYTE James 2/217/433.

HACKETT Elizabeth 2/218/436.
HADFIELD George 2/100/200. John Bishop 2/244/487.
HAGUE Charles 2/25/50. Elizabeth 2/124/248. Hannah 2/108/216.
HALL Ann 2/245/490. Christiana 2/75/150. Emanuel 2/27/54. Hannah 2/195/390. John
2/213/425. Jonathan 2/240/480. Nancy 2/112/223. Sarah 2/139/277. Thomas 2/116/231.
William 2/181/361.
HALLATT Mary Ann 2/247/494.
HAMMOND Mary 2/40/79.
HANBEY Azubah 2/78/155.
HAND Marianne 2/201/401. Mary Ann 2/82/164.
HANDLEY Maria 2/187/373.
HARDY Joseph Hopkinson 2/58/116.
HARRIS John 2/76/152. Sarah 2/221/441.
HARRISON Edward 2/196/391. Farewell 2/84/168. George 2/6/11, 2/87/174, 2/147/293.
John 2/26/52. Mary 2/110/20, 2/169/337.
HARTLEY Martha 2/17/34.
HATFIELD Mary 2/189/378.
HATTERSLEY Ann 2/214/427. Arthur 2/114/228. Caroline 2/41/82. Eliza 2/38/75.
HAWKSWORTH Joseph 2/187/374.
HAWLEY Elizabeth 2/208/415. William 2/195/390.
HAYWOOD Eliza 2/206/412. John 2/50/100.
HAZLEHURST William 2/220/439.
HEARNSHAW Ann 2/119/237. Hannah 2/215/439.
HEATH Robert 2/74/148.
HEATHCOTE Elizabeth 2/100/200. Richard 2/29/57.
HENDERSON William 2/165/330.
HENTON John 2/242/484.
HEPPENSTALL John 2/60/120, 2/164/328.

HEWITT James 2/80/159.
HIBBERD Eliza 2/84/167.
HIBBERT Luke 2/217/434. Martha 2/239/478. William 2/162/323.
HICKMAN William 2/109/218.
HICKSON Ann 2/242/484.
HIGGINBOTTOM Ann 2/219/438.
HILL John 2/124/247. Mary Ann 2/75/149.
HINCHLIFFE Edward 2/181/362. Mary 2/29/57. Mary Ann 2/29/58.
HIND(E) Elizabeth 2/119/38. James 2/66/131.
HIRD Elizabeth 2/61/121.
HIRST (HURST) John 2/195/389. William 2/152/303.
HOBSON Ann 2/227/454. Elizabeth 2/54/108. Fanny 2/93/186. Mary 2/134/268. Sarah 2/213/425.
HOBGSON Joseph 2/176/351. William 2/168/336.
HODKIN Elizabeth 2/201/402. William 2/237/473.
HOE Sarah Bowman 2/104/207.
HOLDSWORTH Harriet 2/48/96. John 2/34/68. Mary 2/203/405. Thomas 2/150/299.
HOLLAND James 2/77/153. Joseph 2/189/378. Sarah 2/177/354.
HOLLELY (HOLY) Jane 2/143/286. Samuel 2/39/77.
HOLMES Charles 2/105/210. George 2/92/183. Joseph 2/145/289.
HOLT Ann 2/107/214.
HOPKINS Eliza 2/246/491.
HOPKINSON John 2/3/6. Mary 2/68/136. Mary Ann 2/224/448.
HORSFIELD Mary 2/19/38.
HORTON William 2/234/468.
HOUSLEY Matthew 2/249/497. Sarah 2/216/432.
HOWARD Harriet 2/161/322. Rosanna 2/170/340.
HOWARTH Elizabeth 2/154/308.
HOYLAND Eliza 2/26/52. Elizabeth 2/62/123. Harriet 2/56/111.
HUDSON Benjamin 2/161/321. Sarah 2/77/153. William 2/65/129.
HUGHES John 2/238/475.
HUNT Samuel 2/167/334.
HUNTER Edward 2/160/319. William 2/157/314.
HURT Elizabeth 2/175/350.
HUTCHINSON Charles 2/134/268, 2/224/448.

IBBERSON Samuel 2/161/322.
IBBOTSON A^ufred 2/43/86. Henry 2/31/62. Sarah 2/87/173.

JACKSON Eliza 2/225/449, 2/248/496. Henry 2/215/429. John 2/204/407. Laban 2/227/453.
Maria 2/232/464. Sarah 2/157/314, 2/199/397. Thomas 2/152/304.
JAGLIN George 2/73/146.
JAMES " Joyce 2/119/238. Mary 2/58/116. Thomas 2/143/285.
JARVIS Edward 2/103/206. John 2/27/53.
JEEVES Ann 2/177/353.

JENKINSON Francis 2/73/145.

JENNINGS Elizabeth 2/194/388. Mary 2/39/78. Robert Shirt 2/120/240.

JESSOP Elizabeth 2/133/265. Thomas 2/177/354.

JOHNSON Charlotte 2/157/313. George 2/199/398, 2/247/493. Jane 2/180/360. Mary Ann
2/56/1111, 2/91/182. Susanna 2/163/325.

JOHNSTON William 2/20/39.

JOW Mary 2/118/236.

JOWITT James 2/190/379.

JOWLE John 2/174/347.

JUBB Benjamin 2/35/70. Mary 2/43/86.

KAY Susanna 2/162/324.

KBENE William 2/65/130.

KENT William 2/94/187.

KEYWORTH Alfred Peters 2/62/124.

KINDER Mary Ann 2/192/383.

KING John 2/205/409.

KIRK Elizabeth 2/153/306. Sarah 2/72/143. Susanna 2/197/393.

KNOWLES William 2/128/255.

LAISTER Joseph 2/40/79.

LAMB George 2/154/307.

LATHAM George 2/14/28.

LAWRENCE Ann 2/196/391.

LAYCOCK Deborah 2/191/381. Sarah 2/232/463.

LAYE Mary Jane 2/14/27.

LAZARUS Israel 2/32/63.

LEADBEATER George 2/208/416.

LEE Elizabeth 2/21/41, 2/25/49, 2/86/172. Harriet 2/233/466. Sarah 2/74/148.

LEEDHAM Mary 2/100/199.

LEVY Henry 2/237/474.

LEWIS Ann 2/165/330. Eliza 2/218/435.

LINDLEY John 2/218/435.

LINGARD George 2/105/209.

LINGDEN Harriet 2/80/160.

LINLEY John 2/128/256.

LONGSLEY Mary 2/179/358.

LOWE Mary 2/240/480.

LOXLEY Samuel 2/142/284.

LUPTON Elizabeth 2/171/341.

LYLE John 2/63/126.

LYONS Hannah 2/149/297.

MacDONALD Elizabeth 2/176/352.

MACHIN Sarah 2/73/145.

MAKIN John 2/7/13. Peter 2/247/494.
MAKINSON Ann 2/35/70. William 2/245/490.
MALLINDER John 2/139/277.
MAN Mary 2/238/475.
MARGESON Charles 2/212/423.
MARKHAM James 2/173/346.
MARRIN Martin 2/8/115.
MARRIOTT Eliza 2/47/94.
MARSDEN Joshua 2/143/286. Matthew 2/135/270.
MARSH Edward 2/118/236. Jane 2/18/36. John 2/50/99. William 2/36/71, 2/49/98.
MARSHALL Ann 2/228/455. Mary 2/71/142.
MARTIN William Day 2/223/445.
MARTINSON Charlotte 2/173/346.
MATHER John 2/248/495.
MATTHEWMAN William 2/147/294.
MATTHEWS Harriet 2/116/32.
MAYLAND James 2/97/194.
MEDLEY Joshua 2/191/382.
MEGSON Christopher 2/86/172.
MELLOR(S) George 2/180/360. Mary 2/207/414.
MELVILLE Robert Bowie 2/30/59.
MEMMOTT William 2/193/386.
MIDDLETON Ann 2/131/261. Elias 2/107/214. John 2/126/252. John Watson 2/159/318.
Sarah 2/159/318.
MILLS John 2/133/265. Ruth 2/30/60. William 2/41/82.
MILLWARD Stephen 2/193/385.
MILNER Hannah 2/230/459. Joseph 2/198/396.
MITCHELL Harriet 2/193/385.
MOAT Francis 2/68/135.
MOKES Mary 2/116/232.
MOORE Eliza 2/69/138.
MORRIS Joseph 2/100/199.
MORTON Ann 2/20/40. Mary 2/159/317. William 2/60/119.
MOTTRAM Charles 2/246/492.
MOUNT George 2/82/1164. William 2/198/395.
MOWBRAY Ann 2/91/181.
MOWER Sarah 2/114/228.
MULLINS Mary 2/195/389.
MULVEY Joseph 2/221/442.
MURFIN Joseph 2/80/160.

NAYLOR Mary 2/13/26.
NEAVES (NEEVES) Hannah 2/111/222. Rebecca 2/197/394.
NEEDHAM Emma ~~XX~~ Amelia 2/185/370.
NEILSON Charles 2/228/455.

NETTLETON James 2/149/297.
NEVILLE Charlotte 2/38/76.
NEWBOULD Elizabeth 2/10/19. George 2/231/462.
NEWBOUND John 2/239/478.
NEWMAN Ann 2/97/193.
NEWSOM Elizabeth 2/209/418.
NICHOLSON Rebecca 2/54/107.
NOBLE Mark 2/98/196.
NORCLIFFE Henry 2/37/73.
NORTH Elizabeth 2/102/204. Matthew 2/135/269.
NORTON Amos 2/91/181. Joseph 2/203/406.
NOWILL William 2/169/337.

OAKES William 2/233/466.
OATES Ann 2/156/312. Elizabeth 2/226/452.
OLDFIELD Joseph 2/1154/308.
ONION Ann 2/4/8.
OSBORN Elizabeth 2/124/247.
OTLEY John 2/24/48.
OWEN Ann 2/198/396. Elizabeth 2/139/278. Samuel 2/134/267. Thomas 2/250/500.
OXLEY Eliza 2/229/457. John 2/184/367.

PADLEY Hannah 2/59/118.
PAINÉ (PAYNE) Hannah 2/70/140. Julia 2/137/274.
PALFREYMAN Hannah 2/74/147.
PALMER Isaac 2/101/202.
PARK(ES) David 2/246/491. Hannah 2/226/451. Sarah 2/241/482.
PARKER Elizabeth 2/95/190. John 2/85/170.
PARKIN Ann 2/193/386. Harriet 2/182/364. Henry 2/53/105. Jonathan 2/177/353. Surtis
2/140/280. William 2/249/498.
PARSONS Richard 2/99/197.
PASHLEY Benjamin 2/196/392.
PAXTON Mary 2/112/224.
PEARSON Jane Ledger 2/204/407. Margaret 2/242/483. Sarah 2/246/492.
PEET Elizabeth 2/63/126.
PEMBERTON George 2/123/245.
PICKERING George 2/241/482.
PIDCOCK Elizabeth 2/51/102.
PINDER John 2/149/298. Martha 2/135/269.
PLATTS John 2/21/41. Joseph 2/204/408.
POOL Mary 2/96/192.
POTTS Nancy 2/123/245.
POWEL(L) Henry 2/165/329. Mary Ann 2/160/320.
POTNTON Elizabeth 2/23/45.
PRICE Charles 2/117/234.

PYE George 2/42/83.

RADLEY Elizabeth 2/49/98.

RANDALL Joseph 2/248/496.

RAWSON Eliza 2/129/258.

RAYSON Abraham 2/209/418.

READING Charles 2/70/140.

REANEY Eliza 2/44/87. Elizabeth 2/194/387. James 2/137/274.

REED John 2/121/242.

RENSHAW Aaron 2/201/402. George 2/111/221.

REPEIN Catherine 2/65/130.

REVILL Elizabeth 2/217/433. John 2/98/195. John Henry 2/219/437. Thomas 2/175/349.

REVITT Ann 2/138/276.

REYNOLDS John 2/3/5.

RHODES Ann 2/174/347. Elizabeth 2/33/65.

RICHARDS Henry 2/153/306.

RICHARDSON Sarah 2/36/72.

RICKARD Robert 2/12/23.

RILEY William 2/48/96.

RIVINGTON Joseph 2/166/332.

ROBERTS Ann 2/1/1. Charles 2/126/251. Hugh 2/29/58. Sarah 2/2/4.

ROBINSON Elizabeth 2/52/103. George 2/141/281. Harriet $\frac{1}{2}$ 2/8/16. Mary Ann 2/104/208.

Rebecca 2/11/22. Sarah Ann 2/234/468.

RODGERS Benjamin 2/184/368. ~~XXXXXXXXXX~~

ROGERSON Joseph 2/178/355.

ROTHERHAM Joseph 2/197/393.

ROUSE John 2/183/366.

ROWAN Ann 2/105/209.

ROWARK Ann 2/37/73.

ROWLAND William 2/141/282.

ROWLSON Robert 2/206/412.

ROYSTON Mark 2/113/225.

RUDELSDIN Thomas 2/112/223.

RUSSON George 2/162/324.

RYALLS William 2/78/155.

SADLER John 2/71/142. Mary Ann 2/130/260.

SALMON John 2/110/219.

SALT Sarah 2/213/426.

SANDERSON Eliza Ann 2/120/240. Elizabeth 2/127/254. John 2/144/288. 2/222/444.

SCAFF Ann 2/155/310. George 2/183/365.

SCOTT Timothy 2/213/426.

SEASTON Mark 2/194/388.

SEDDON Joseph 2/70/139.

SELBY Ann 2/78/156.

SELLARS James 2/123/246. Sarah 2/240/479.

SENIOR Martha 2/7/13, 2/37/74.

SHARMAN Benjamin 2/19/38.

SHAW Eliza 2/50/99. Elizabeth 2/144/287. Joshua 2/62/123. Mary 2/117/234. Sarah
2/249/498. William 2/221/441.

SHELDON John 2/11/22, Mary 2/147/293, 2/222/443. William 2/66/132.

SHEPHERD Mary 2/166/332.

SHOCKMAN

SHILLITO Richard 2/163/325.

SHLPPAM James 2/36/72.

SHIRTCLIFFE Thomas 2/61/121,

SHORT John 2/92/184.

SIDDALL William 2/228/456.

SISSONS Williams 2/212/424.

SKELTON Mary 2/103/205.

SKINNER Alfred 2/231/461.

SLAGG Thomas 2/158/316.

SLINN Martha 2/83/166.

SMALL Sarah 2/87/174.

SMEDLEY Charles 2/78/156.

SMITH Charles 2/42/84, 2/91/182. Edmund 2/155/310. Edward 2/180/359. Elizabeth
2/109/218, 2/123/246, 2/132/264, 2/238/476. Esther Jane 2/125/250, Hannah 2/136/272.
Jane 2/6/11. John 2/33/65, 2/218/436. Joseph 2/2/3. Mary 2/39/77. Mary Ann 2/184/367.

SOAR Thomas 2/242/483.

SORBY William 2/5/10.

SOUTER Gabriel 2/23/46.

SPENCER Ann 2/43/85, 2/113/225. William 2/226/451.

SPOONER Mary 2/31/61.

SPRAY Joseph 2/69/137.

STACEY Daniel 2/119/237. George 2/225/449. William 2/219/438, 2/241/481.

STALEY Mary Ann 2/2/3.

STANFORD Thomas 2/244/488.

STANFORTH Charles 2/216/432. Emma 2/14/28. William 2/26/51.

STATHERS William 2/191/381.

STEAD Isabella 2/122/244.

STEELS Sarah Ann 2/211/422.

STENTON Hannah 2/66/131. William 2/1/1.

STEVENSON Elizabeth 2/24/47. Mary 2/220/440.

STONES Ann 2/114/227. Jane 2/216/431. Joshua 2/40/80. Mary 2/71/141.

STOREY Samuel 2/25/49.

STRAY Martha 2/228/456.

STREETS Mary 2/120/239.

STRINGER Eliza 2/244/488. William 2/75/149.

STRUTT John 2/51/101.

STUBBINGS Samuel 2/113/226.

SURR Thomas 2/28/56.

SWAIN Elizabeth 2/146/292. Sarah 2/203/406.

SWETTENHAM Frances 2/215/429.

SWIFT Elizabeth 2/141/281. Jonathan 2/187/373. Thomas 2/45/90. William 2/122/243.

SWINDELL Eve 2/15/29. Joseph 2/21/42.

SYKES Ann 2/16/31, 2/57/114. Charles 2/220/440. Samuel 2/163/326. William 2/172/343.

SYLVESTER Betsy 2/175/349. James 2/54/107.

TAFT William James 2/168/335.

TATTERSHALL Ann 2/163/326. Mary 2/236/472.

TAYLOR Charlotte 2/162/323. Eliza 2/97/194. Elizabeth 2/81/162. Hannah 2/130/259.

William 2/222/443.

THEW Jane 2/41/81.

THOMPSON Ann 2/1/2, 1/140/280. Elizabeth 2/168/335. George 2/155/309. James 2/76/151.

John 2/24/47. Mary 2/173/345. Rachel 2/3/6. Rebecca 2/183/366. Samuel 2/97/193.

THORPE Mary 2/169/338. Samuel 2/144/287. William 2/142/283.

TIMMON (TUMMON) Jane 2/8/15. Martha 2/171/342.

TOMPKIN John 2/202/403.

TOOGOOD John Taylor 2/185/370.

TORR John 2/28/55.

TOWNDROW William 2/122/244.

TOWNSEND George 2/64/127.

TRAVIS John Bell 2/18/35.

TRICKETT Ann 2/150/299. John 2/86/171. Jonathan 2/95/190.

TRIPPER James 2/181/341.

TRUELOVE George 2/8/16.

TIMMASON Hannah 2/208/416.

TURNER Amy 2/67/133. Ann 2/209/417, 2/250/499. Mary 2/5/10. Sarah 2/164/327.

TURTON John 2/200/400.

TYAS Joseph 2/146/292.

ULLYETT Jane 2/11/21.

UNWIN Joseph 2/52/104.

VALENTINE Mary 2/55/109.

VICKERS Ann 2/57/113. George 2/59/118.

WADSWORTH Ann 2/102/203. Henry 2/207/414.

WAGSTAFF Catherine 2/84/168.

WAINWRIGHT Sarah 2/184/368.

WAKEFIELD Martha 2/109/217.

WALLES John 2/197/394.

WALKER James 2/47/94. Jane 2/96/191. John 2/71/141. Susanna 2/72/144. William 2/106/212 ,
2/136/271.

WALKLAND Hannah 2/98/195.

WARBURTON Mary 2/151/302. William 2/205/410.

WARD Ann 2/156/311. Anne 2/126/251. George 2/96/191. Keturah 2/211/421. Mary Ann 2/42/83,
2/106/211. Sarah 2/133/266. William 2/104/208, 2/192/384.

WARRIS Thomas 2/46/91.

WASH William 2/235/469.

WATERHOUSE Kitty 2/204/408.

WATSON Alexander 2/93/185. Hannah 2/49/95. Sarah 2/34/68, William 2/31/61.

WEBB Bethia 2/62/124.

WEBSTER Harriet 2/231/461. John 2/14/27, 2/124/248. Mary Ann 2/142/283, 2/230/460.

WELCH George 2/176/352.

WELLS Hannah 2/199/398. James 2/151/301. John 2/116/232.

WESTON Hannah 2/131/262.

WHEELDON Edward 2/88/175.

WHEELER John 2/89/178.

WHEWELL William 2/179/358.

WHIMHURST Henry 2/23/45.

WHITAKER Hannah 2/205/409.

WHITE Ann 2/250/500. Thomas 2/93/186.

WHITELEY Mary 2/88/176.

WHITTINGTON Eliza 2/64/128.

WIDOWSON Mary 2/85/170.

WIGFIELD John 2/188/376.

WILD Ann 2/155/309. Elizabeth 2/108/215. Joseph 2/22/44.

WILDGOOSE Alfred 2/157/313.

WILKIN Amelia 2/107/213.

WILKINSON Hannah 2/186/371. John 2/188/375. Joseph 2/85/169. Martha 2/99/197. Mary 2/200/399

WILLIAMS Harriet 2/135/270.

WILLIAMSON Frederick 2/59/117.

WILSON Elizabeth 2/27/53. George 2/214/428. John 2/227/454. Joseph 2/234/467. Margaret
2/26/51. Sarah 2/172/343.

WINDLE James 2/137/273. Martha 2/60/119. William 2/151/302.

WINTER Edward 2/153/305.

WOLSTENHOLM(E) Elizabeth 2/224/447. Henry 2/79/158. James 2/214/427. Mary Ann 2/68/135.

WOOD(S) Ann 2/46/92. George 2/37/74. John 2/114/227. Mary 2/236/471. Rachel 2/45/89.
Samuel 2/54/108.

WOODCOCK George 2/90/180. Sarah 2/187/374, 2/210/420.

WOODHEAD John 2/39/78. Sarah 2/149/298. William 2/129/258.

WOODHOUSE Matilda 2/233/465. Thomas 2/63/125.

WOOLHOUSE Joseph 2/156/311.

WORTHINGTON Ann 2/140/279.

WRAGG Bridget 2/235/470. Hannah 2/52/104. Joseph 2/52/103.

WRIGHT Ann 2/158/316. Anne 2/61/122. Catherine 2/243/486. Mary 2/200/400. Mary Ann
2/161/321. Sarah 2/189/377.

WRIGLEY John 2/75/150.

YATES Hephziba 2/178/355. Thomas 2/166/331.

YEARDLEY Elizabeth 2/142/284.

SHEFFIELD CATHEDRAL

MARRIAGE

BOOK

'3'

JULY 1838

TO

JANUARY 1839

Transcribed by J. EDWARD SHORTLAND

Typewritten & Indexed by KEITH BLAGDEN

BY THE KIND PERMISSION OF THE PROVOST

THE VERY REV. W. F. CURTIS A. K. C.

Prefix number denotes book

2nd numerals denote page number

3rd numerals denote entry number

3/1/1	George Webster	Eliza Foster
3/1/2	John Bottom	Sarah Horton Atkinson
3/2/3	John Clay	Ellen Dakin
3/2/4	John Ibbotson	Matilda Corker
3/3/5	Joseph Rodgers	Isabella Elliott
3/3/6	Joseph Hawksworth	Mary Dawson
3/4/7	William Marsden	Sarah Ann Smith
3/4/8	James Waterson	Elizabeth Crookes
3/5/9	John Carter	Elizabeth Parnell
3/5/10	John Samuel Beqtsen	Harriet Smith
3/6/11	John Mellors	Ann Greatorex
3/6/12	William Goff	Mary Ann Mitchell
3/7/13	Benjamin Owen	Elizabeth Booth
3/7/14	John Walker	Hannah Gambles
3/8/15	John Hibberd	Mary Wagstaff
3/8/16	Richard Graham	Mary Catlow
3/9/17	George Oldham	Mary Page
3/9/18	Charles Cooper	Ann Wilkinson
3/10/19	John Smith	Margaret White
3/10/20	John Thorpe	Elizabeth Hopewell
3/11/21	John Moore	Rebecca Skidwell
3/11/22	John Rowbotham	Emma Keeton
3/12/23	George Lomas	Dinah Rodgers
3/12/24	Benjamin Thompson	Harriet Eadom
3/13/25	Thomas Marsden	Priscilla Coggin
3/13/26	George Dring	Ellen Gregory
3/14/27	John Wilson	Elizabeth Keith
3/14/28	Thomas Pagan Lowe	Martha Cheetham
3/15/29	James Merrill	Ann Haywood
3/15/30	Henry Kirk	Jane Taylor
3/16/31	Josiah Cheetham	Mary Hunt
3/16/32	Thomas Fearnough	Mary Lee
3/17/33	Thomas Goulden Thorpe	Esther Armstrong Hallam
3/17/34	Samuel Bool	Sarah Greaves
3/18/35	William Gregory	Ann Birkinshaw
3/18/36	Joseph Spencer	Ann Herring
3/19/37	William Oates	Sarah Hawley
3/19/38	James Bowling	Ellen Goodison
3/20/39	John Wesnidge	Ann Arnett
3/20/40	Samuel Marshall	Harriet Knight
3/21/41	William Camm	Mary Bower
3/21/42	John Entwistle	Maria Smith
3/22/43	George France	Mary Jaques
3/22/44	George Groves	Ann Wood

3/23/45	George Cowlshaw	Ann Hudson
3/23/46	Joseph Wood	Emma Law
3/24/47	William Ashmore	Elizabeth Smith
3/24/48	William Hill	Ann Hall
3/25/49	Richard Smith	Elizabeth Taylor
3/25/50	George Neatby	Hannah Favell
3/26/51	Matthew Bishop	Sarah Roebuck
3/26/52	Elijah Smith	Sarah Hall
3/27/53	John Tinker	Elizabeth Knight
3/27/54	William Biggins	Mary Longley
3/28/55	William Roberts	Ann Binks
3/28/56	James Moore	Harriet Barber
3/29/57	Stephen Sherwin	Sarah Woodhouse
3/29/58	Charles Ollevent	Margaret Symington
3/30/59	Vincent Corbett	Agnes Hounsfild
3/30/60	Anthony Rotherham	Mary Bishop Hadfield
3/31/61	Joseph Boothroyd	Anna Ashforth
3/31/62	Joseph Furniss	Ann Rhodes
3/32/63	Samuel Ironside	Sarah Eades
3/32/64	Robert Stafford	Elizabeth White Moesly
3/33/65	James Thorpe	Mary Ann Staniforth
3/33/66	Peter Gilmore	Mary Ann Jeffcock
3/34/67	John Butcher	Jane Young
3/34/68	William Moor	Mary Smith
3/35/69	James Barker	Catherine Harrison
3/35/70	Lionel Hobson	Hannah Epworth
3/36/71	William Cooper	Hannah Shackleton
3/36/72	Martin Patman	Hannah Jenkins
3/37/73	Richard Hudson	Sarah Sellars
3/37/74	John Senior	Sarah Goff
3/38/75	George Beatson	Ann Ward
3/38/76	Joseph Marshall	Sarah Cardwell
3/39/77	George Rose	Ann Rushton
3/39/78	John Gregory	Mary Foster
3/40/79	Joseph Bradley	Frances Wilkinson
3/40/80	John Thomas Bosworth	Martha Woolhouse
3/41/81	Samuel Womersley	Ann Woodhead
3/41/82	Thomas Bell	Sarah Elliott
3/42/83	Joseph Hinchliffe	Emma Rowland
3/42/84	Thomas Dutton	Sarah Godley
3/43/85	John Radley	Emma Page
3/43/86	William Beighton	Eliza Shimeld
3/44/87	Thomas Ward	Sarah Garlick
3/44/88	Benjamin Rodgers	Mary Richardson

3/45/89	James Hodkin	Sarah Shaw
3/45/90	William Coates	Ellen Jenkinson
3/46/91	John Mettam	Martha Spencer
3/46/92	Samuel Cooke	Sarah Dodd
3/47/93	George Bargh	Martha Slater
3/47/94	William Kay	Elizabeth Skinner
3/48/95	Richard Woodcock	Mary Ann Fish
3/48/96	James Wright	Ann Mitchell
3/49/97	Joseph Trickett	Charlotte Bearchill
3/49/96	David Cook	Frances Beeley
3/50/99	John Rhodes Milner	Mary Ann Keighley
3/50/100	John Quigley	Eleanor Green
3/51/101	Richard Walker	Frances Foster
3/51/102	Peter Daw is	Hannah Smith
3/52/103	John Hibberson	Emma Betts
3/52/104	Charles Harper	Ann Shaw
3/53/105	John Dickinson	Mary Charlesworth
3/53/106	James Foster	Ann Elizabeth Warin
3/54/107	Edwin Rogers	Hannah Brownell
3/54/108	Samuel Barker	Sarah Broader
3/55/109	Francis Robinson	Mary Gregory
3/55/110	John Rose	Mary Ann Mettam
3/56/111	David Hempself	Mary Ann Leadbeater
3/56/112	John Watosm	Caroline Jessop
3/57/113	Joseph Tinker Rotherham	Ann Swift
3/57/114	Daniel Oldham	Mary Ann Healey
3/58/115	Reuben Hallam	Sarah Adams
3/58/116	George Jackson	Emily Rawson
3/59/117	William Surr	Hannah Padley
3/59/118	James Cheek	Mary Hallam
3/60/119	Noah Booker	Jame Machin
3/60/120	Charles Oates	Ellen Larktom
3/61/121	John Beighton	Martha Wooff
3/61/122	Joseph Greensmith	Ann Heaton
3/62/123	George Webster	Elizabeth Hall
3/62/124	James Duke	Caroline Bradshaw
3/63/125	John Milner	Caroline Fox
3/63/126	Henry Hancock	Ann Morton
3/64/127	Seaton Temperton	Harriet Cartwright
3/64/128	George Staniforth	Rebecca Green
3/65/129	John Watson	Mary Green
3/65/130	James Skelton	Harriet Hill
3/66/131	John Beighton	Amelia Wynn
3/66/132	Joseph Bray	Ann Osgathorpe

3/67/133	Charles Staniforth	Harriet Smith
3/67/134	Robert Dawson Newman	Ann Elin
3/68/135	Isaac Jepson	Ann Broskam
3/68/136	Thomas Willcock	Sarah XXXX Rowbottom
3/69/137	Henry Bagshaw	Sarah Allan
3/69/138	Anthony Hartley	Mary Morris
3/70/139	Joseph Gladwin	Barbara Hancock
3/70/140	John Wheen	Sarah Mortom
3/71/141	David Goodison	Elizabeth Windle
3/71/142	George Bailey	Mary Watson
3/72/143	George Bradshaw	Sarah Platts
3/72/144	Alfred Trout	Sarah Audas
3/73/145	John Senior	Ann White
3/73/146	Samuel Middleton	Harriet Burrows
3/74/147	William Henry Thompson	Mary Cartwright
3/74/148	Peter Flint	Matilda Mosely
3/75/149	Thomas Gilbert	Elizabeth England
3/75/150	Edward Bacon	Fanny Youle
3/76/151	Joseph Staniforth	Mary Moorehouse
3/76/152	James Hinsworth	Matilda Oldfield
3/77/153	James Steel	Mary Barker
3/77/154	John Thorpe	Mary Wainwright
3/78/155	John Parker	Hannah Bowling
3/78/156	John Lambert	Catherine E Spencer
3/79/157	Joseph Lister	Harriet Landers
3/79/158	Samuel Bunting	Ann Ford
3/80/159	Thomas Beckett	Mary Davis
3/80/160	Elick Glue	Mary Bell
3/81/161	James Hill	Harriet Coldwell
3/81/162	Henry White	Harriet Eage
3/82/163	William Hopton	Martha Simmonite
3/82/164	Alfred Burch	Mary Ann Belk
3/83/165	Richard Smith	Harriet Taylor
3/83/166	William Baines	Elizabeth Fretwell
3/84/167	Stephen George Coe	Mary Gladwin
3/84/168	Edwin Parkinson	Sarah Tingle
3/85/169	William Shaw	Mary Gardiner
3/85/170	Richard Fenwick	Mary Cooper
3/86/171	Thomas Barber	Mary XXXXXX Blanksby
3/86/172	Joseph Cartledge	Sarah Booker
3/87/173	John Hodgson	Mary Ann Sheldon
3/87/174	John Mason	Mary Ann Fisher
3/88/175	George Elise	Elizabeth Cooper
3/88/176	George Harmston	Mary Pilkington

3/89/177	Joseph Depledge	Mary Ann Dobson
3/89/178	John Gregory	Mary Walker
3/90/179	Samuel Champion	Mary Twibell
3/90/180	William Gordon	Elizabeth Jennings
3/91/181	John Taylor	Frances Ann Marrison
3/91/182	James Holmes	Harriet Roffey
3/92/183	John Smith	Mary Ann Seale
3/92/184	John Wilson	Charlotte Glover
3/93/185	Joseph Barker	Mary Ann Maxwell
3/93/186	William Charlesworth	Elizabeth Fowler
3/94/187	William Drabble	Elizabeth Darwent
3/94/188	George Stringer	Ann Booker
3/95/189	Joseph Green	Frances Thompson
3/95/190	Patrick Langan	Mary Harding
3/96/191	George Briers	Martha Barlow
3/96/192	Edward Timperley	Frances Staniforth
3/97/193	Edward Donoghoe	Mary Ann Donally
3/97/194	John Brown	Rachel Middleton
3/98/195	Joseph Wake	Hannah Eastland
3/98/196	Richard Challoner	Elizabeth Higginbottom
3/99/197	John Stevens	Ann James
3/99/198	John Thompson	Hannah Smith
3/100/199	William Kay	Mary Wilby
3/100/200	John Yeardley	Hannah Wild
3/101/201	Samuel Bamford	Sarah Eastwood
3/101/202	George Atkin	Amelia Dungworth
3/102/203	George Hudson	Jane Harrison
3/102/204	Joseph Hudson	Elizabeth Martin
3/103/205	Thomas Ibbetson	Mary Humphrey
3/103/206	Michael Parkin	Hannah Watkinson
3/104/207	Enock Hopkinson	Mary Morton
3/104/208	William Parkin	Ann Holland
3/105/209	William Staveley	Mary Marshall
3/105/210	Septimus Gale	Emma Wright
3/106/211	John Norman	Ann Marshall
3/106/212	John Amory Boden	Elizabeth Ann Webster
3/107/213	Charles Ogden	Caroline Jenkinson
3/107/214	William Smith	Jane Burgoyne
3/108/215	William Smith	Mary Heeley
3/108/216	Robert Everard	Sophia Aldam
3/109/217	William Lawson	Harriet Bramhall
3/109/218	John Holmshaw	Anna Pullen
3/110/219	Joseph Crouch	Frances Brown
3/110/220	William Woolley	Mary Ann Bates

3/111/221	Benjamin Jubb	Mary Stephenson
3/111/222	John Scalley	Mary Ann Graves
3/112/223	Samuel Holberry	Mary Cooper
3/112/224	John Shepherd	Elizabeth Hodgson
3/113/225	Robert Randall	Ann Whiteley
3/113/226	Alfred Bush	Hannah Ridgway
3/114/227	Enoch Davies	Elizabeth Turton
3/114/228	William Leggoe	Matilda Higgett
3/115/229	James Needham	Harriet Shaw
3/115/230	Henry Atkin	Ann Woodhead
3/116/231	James Jenkinson	Elizabeth Aveyard
3/116/232	William Edwards	Elizabeth Watkinson Fowler
3/117/233	Charles Boocock	Mary Ann Archer
3/117/234	Richard Bray	Harriet Beatson
3/118/235	William Marsh	Frances Higginbottom
3/118/236	William Gledhill	Sarah Whitham
3/119/237	William Marshall	Eliza Gibbins
3/119/238	John Turton	Ann Dalton
3/120/239	John Armitage	Abia Mapplebeck
3/120/240	Samuel Smith Middleton	Emma Sorby Hill
3/121/241	John Bartin	Ann Skinner
3/121/242	John Ward	Mary Parker
3/122/243	John Oliver	Ellen Constantine
3/122/244	John Hobson	Harriet Stevenson
3/123/245	John Wilmot	Ann Martin
3/123/246	William Bingham	Harriet Faulkener
3/124/247	John Megson	Mary Parker
3/124/248	George Bird	Hannah Wainwright
3/125/249	Benjamin Ward	Ann Watkinson
3/125/250	Michael Monaghan	Ann Roach
3/126/251	Mark Shepley	Elizabeth Hobson
3/126/252	William Godley	Ann Harrison
3/127/253	Edward Standidge	Ann Gray
3/127/254	John Shaw	Hannah Bell
3/128/255	Isaac Hainsworth	Ann Wade
3/128/256	James AmcGlone	Jane Worthington
3/129/257	Thomas Rich	Mary Barker
3/129/258	David Cockshaw	Elizabeth Marsh
3/130/259	Henry Howes	Hannah Howes
3/130/260	Joseph Knapton	Eliza Wainwright
3/131/261	Jarvis Collier	Elizabeth Joell
3/131/262	Robert Wholey	Mary Burton
3/132/263	Daniel Storey	Ann Gibson
3/132/264	Benjamin Brown	Matilda Bacon

3/133/265	William Mitchell	Hannah Archdale
3/133/266	William Stevens	Sarah Fearnley
3/134/267	Samuel Chatterton	Elizabeth Nell
3/134/268	William Raynes	Ann Cannon
3/135/269	William Whiteley	Ann Widdowson
3/135/270	William Marriott	Eliza Warren
3/136/271	John Wallace	Catherine Blackwell
3/136/272	John Riddell	Elizabeth Coulson
3/137/273	Charles Kirby	Mary Greenwood
3/137/274	Alfred Carnelley	Eliza Ackroyd
3/138/275	Thomas Martin	Mary Law
3/138/276	George Kay	Ann Clark
3/139/277	Samuel Barton	Alathea Champion
3/139/278	William Greaves	Mary Ann Hatfield
3/140/279	John Dallaway	Jane Hall
3/140/280	James Crookes	Anne Salt
3/141/281	George Raywood	Jane Lamb
3/141/282	William Newbould	Mary Ann Best
3/142/283	William Smith	Millicent Hartley
3/142/284	Thomas Roberts	Ann Williams
3/143/285	John Goddard	Maria Snape
3/143/286	John Rollinson	Ann Palfreyman
3/144/287	James Baskin	Hannah Eastwood
3/144/288	William Froggatt	Ann Oates
3/145/289	William Morton	Caroline Matthews
3/145/290	Thomas Broomhead	Charlotte Sorby
3/146/291	Henry Harper	Mary Ann Earnshaw
3/146/292	Patrick Welch	Judy Farrell
3/147/293	James Beldon	Mary Spurr
3/147/294	Joseph Thorpe	Sarah Sharpe
3/148/295	William XXXXX Brown	Ann Tose
3/148/296	Samuel Cocker	Sarah Mosley Bailey
3/149/297	James Robinson	Mary Garnett
3/149/298	George Yates	Jane Eastwood
3/150/299	William Harrison	Ann Brittlebank
3/150/300	Joseph Haywood	Ann Schofield
3/151/301	Henry Green	Elizabeth Whicksall
3/151/302	Richard Harrison	Sarah Smith
3/152/303	Benjamin Bowen	Maria Kirkley
3/152/304	George Hague	Sarah Swallow
3/153/305	George Mason	Ann Shaw
3/153/306	Christopher Wastenage	Susan Thackeray
3/154/307	George Fearn	Sarah Law
3/154/308	Charles Sorby	Amelia Barker

3/155/309	John Rowbotham	Ann Thomasin Newton
3/155/310	Edward Shaw	Harriet Crookes
3/156/311	John Browne	Miriam Terry
3/156/312	John Barratt	Charlotte Mettam
3/157/313	William Bullos	Amy Booker
3/157/314	John Durham	Hannah Parkin
3/158/315	Joseph Marshall	Sophia Storey
3/158/316	James Bunting	Ann Ward
3/159/317	William Hurd	Lucy Turton
3/159/318	Solomon Hazlehurst	Hannah Parker
3/160/319	George Pearce	Mary Ann Mettam
3/160/320	William Somerset	Elizabeth Prior
3/161/321	John White	Mary Ann Hoult
3/161/322	George Hopkinson	Elizabeth Marshall
3/162/323	William Crofts	Sarah Leke
3/162/324	William Thompson	Elizabeth Robinson
3/163/325	John Hinchliffe	Sarah Robinson
3/163/326	Henry Richardson	Mary Wilson
3/164/327	William Walton	Harriet Roebuck
3/164/328	Patrick Cunningham	Mary Manning
3/165/329	William Johnson	Ann Daniel
3/165/330	Edward Martin	Mary Ann Hall
3/166/331	John Kirk	Elizabeth Rowley
3/166/332	Joseph Taylor	Louisa Walker
3/167/333	John Ball	Sarah Moore
3/167/334	John Hulley	Charlotte Pickering
3/168/335	Robert Cottam	Ann Norburn
3/168/336	Valentine Smith	Ann Davison
3/169/337	Daniel Liggett	Rose Hancock
3/169/338	John Nichols	Mary Hartley
3/170/339	Mark Prentice	Ann Ellis
3/170/340	John Bradford	Mary Knight
3/171/341	Joseph Hague	Ellen Hancock
3/171/342	John XXX Calow	Rebecca Wood
3/172/343	John Pitchford	Ann Pitchford
3/172/344	William Crapper	Mary Ann Green
3/173/345	John Simpson	Jane Pickering
3/173/346	Charles Hancock	Mary Ann Ashforth
3/174/347	William Richardson	Charlotte Watkinson
3/174/348	Charles Clarke	Amelia Hallam
3/175/349	John Clark	Ann Barlow
3/175/350	William Hamlet	Ann Fells
3/176/351	Robert Howe	Mary Ann Mason
3/176/352	Henry Thorton	Eliza Jubb

3/177/353	Jonathan Ibbotson	Mary Ibbotson
3/177/354	Robert Brewster	Matilda Summerhill
3/178/355	Richard Massey	Mary Taylor
3/178/356	Francis Smith	Mary Stancell
3/179/357	Henry Hancock	Harriet Warburton
3/179/358	John Wood	Ann Simpkin
3/180/359	Samuel Pryor	Elizabeth Addy
3/180/360	Joshua Fox	Maria Siddall
3/181/361	Edward Worrall	Ann Pearson
3/181/362	William Hill	Harriet Downs
3/182/363	William Foulstone	Ann Thickett
3/182/364	Vincent Megson	Hannah Chadwick
3/183/365	JOHN MARRISON James King	MARY MARRISON Ann Jarvis
3/183/366	John Marrison	Mary Morrison
3/184/367	John Pearson	Elizabeth Taylor
3/184/368	Thomas Hague	Sarah Wood
3/185/369	Thomas Billinsley	Eliza Holroyd
3/185/370	John Henry Bate	Elizabeth Chapman
3/186/371	James Pashley	Catherine Allison
3/186/372	Charles Harrison	Mary Roberts
3/187/373	William Earnshaw	Ann Chapman
3/187/374	Thomas Waite	Ruth Hawsworth
3/188/375	Alfred Waddington	Sarah Howell
3/188/376	William Twigg	Sarah Tyne
3/189/377	Henry Mettam	Amy Cooper
3/189/378	Francis Cummins	Elizabeth Townsend
3/190/379	David Peat	Mary Ann Gregory
3/190/380	Thomas Smith	Charlotte Camdeneth Tyzack
3/191/381	James Burkinshaw	Maria Sarah Smith
3/191/382	Thomas Earnshaw	Elizabeth Thorpe
3/192/383	William Bayes	Sarah Marshall
3/192/384	Charles Sambrooks	Elizabeth Myers
3/193/385	Joseph Laughton	Phoebe Neal
3/193/386	Thomas Beardshaw	Sarah Wilkinson
3/194/387	George Hibberd	Ann Marsh
3/194/388	John Morris	Ann Milner
3/195/389	Thomas Scholey	Sarah Roxbrough
3/195/390	Simeon Burke	Sarah Orme
3/196/391	Thomas Gregory	Elizabeth Cocker
3/196/392	Alfred Levick	Esther Wright
3/197/393	John Outram	Fanny Lake
3/197/394	Daniel Holmes	Martha Hollingworth
3/198/395	Daniel Ward	Elizabeth Elliott
3/198/396	William White	Frances Smith

3/199/397 Henry Summerhill
 3/199/398 John Kelly
 3/200/399 Charles Foulds Garner
 3/200/400 Edwin Teasdale
 3/201/401 William Skinner
 3/201/402 Edward Hackford
 3/202/403 George Bagshaw
 3/202/404 Henry Clayton
 3/203/405 James White
 3/203/406 Henry Wildblood
 3/204/407 Joseph Slack
 3/204/408 John Capill
 3/205/409 James Smith
 3/205/410 Joseph Jackson
 3/206/411 Henry Simpkin
 3/206/412 George Willey
 3/207/413 William Cauwood
 3/207/414 John Watson
 3/208/415 John Glossop
 3/208/416 William Chandler
 3/209/417 Charles Hill
 3/209/418 Thomas Lees
 3/210/419 Stephen Bacon
 3/210/420 William Crookes
 3/211/421 Michael Sharman
 3/211/422 Thomas Nandley
 3/212/423 Clement Deakin
 3/212/424 Harding Spoor
 3/213/425 James King
 3/213/426 John Lomas
 3/214/427 Joseph Olton
 3/214/428 Thomas Froggatt
 3/215/429 Henry Siddall
 3/215/430 Charles Andrew
 3/216/431 John Ardron
 3/216/432 John Oldale
 3/217/433 William Cutt
 3/217/434 Joseph Bradshaw
 3/218/435 George Binns
 3/218/436 John Taylor
 3/219/437 James Tether
 3/219/438 Charles Walker
 3/220/439 Christopher
 3/220/440 Christopher Marshall

Sarah Butcher
 Elizabeth Colton
 Mary Berry
 Bolina Cox
 Harriet Thompson
 Sarah Brownell
 Charlotte Hancock
 Ann Smithurst
 Elizabeth Horbury
 Sarah Hill
 Ann Oliver
 Elizabeth Beardshaw
 Elizabeth Kirk
 Ann Mallison
 Mary Glossop
 Ann Clarke
 Ann Smith
 Sarah Wood
 Ann Hudson
 Sarah Windle
 Maria Lee
 Margaret Whatliman
 Ann Leeming
 Lydia Marriott
 Mary Clayton
 Ellen Ashton
 Louisa Willey
 Ann Ellis
 Hannah Willoughby
 Elizabeth Wright
 Jane Hall
 Harriet Cowin
 Ann Woolhouse
 Harriet Bamford
 Elizabeth Gyite
 Ann Hedge
 Harriet Jackson
 Maria Newsom
 Sarah Brown
 Mary Lee Burleigh
 Hannah Hodgkinson
 Jane Gambles
 Mary Ann Fletcher
 Ann Billyard

3 /221/441.	James Brennen	Margaret Mars
3/221/442	William Trueman	Elizabeth Bark
3/222/443	Thomas Parr	Mary A. Outram
3/222/444	George France	Elizabeth Derby
3/223/445	John Vickers	Ann Hill
3/223/446	William Stacey	Martha Copman Gregory
3/224/447	Samuel Longden	Elizabeth Falding
3/224/448	Thomas Boulding	Caroline Fox
3/225/449	Luke Heeley	Sarah Brammer
3/225/450	Samuel Bishop	Jane Hellewell
3/226/451	James Taylor	Ann Smith
3/226/452	Joseph Shanny	Catherine Hyndes
3/227/453	Richard Frederick Smith	Mary Ann Ashley
3/227/454	John Allen	Jane Ward
3/228/455	Thomas Ashbury	Mary Stacey
3/228/456	Charles Dodworth	Emily Augusta Thompson
3/229/457	William Robinson	Ann Littlewood
3/229/458	Thomas Marples	Mary Ann Marsden
3/230/459	George Jenkinson	Mary Ann Ward
3/230/460	Robert Warner	Anna Frances Clifford
3/231/461	Francis Carey	Ann Hall
3/231/462	Jonathan Cugin	Ann Proud
3/232/463	William Chadwick	Mary Salmon
3/232/464	William Pinder	Elizabeth Hammon
3/233/465	Enoch Hnacock	Ann Cutts
3/233/466	George Thompson	Ann Key
3/234/467	Charles Phenix	Hannah Dickinson
3/234/468	William Lunn	Sarah Axe
3/235/469	Joseph Smith	Susanna Taylor
3/235/470	James Naylor	Ann Storer
3/236/471	Michael Anderson	Mary Winfrey
3/236/472	Samson Bark	Grace Taylor
3/237/473	George Wynn	Sarah Littlewood
3/237/474	George Hedge	Mary Hukin
3/238/475	Joseph Beckett	Ann Tyson
3/238/476	Samuel Swift	Catherine Broomhead
3/239/477	James Faulkner	Jane Flint
3/239/478	William Burdekin	Mary Mawson
3/240/479	Thomas Twigg	Ann Leech
3/240/480	Robert Dickman	Mary Donoghoe
3/241/481	George Newcomb	Mary Hitchin
3/241/482	William Whitaley	Mary Ann Haslam
3/242/483	George Bradley	Elizabeth Hammond
3/243/484	George Mallinson	Ann Smith

3/243/485	Henry Marsden	Ann Merrill
3/243/486	John Brunt	Elizabeth Greensmith
3/244/487	Thomas Watson	Jane Hulley
3/244/488	John Drayton	Harriet Hardy
3/245/489	James Rodgers	Mary Dakin
3/245/490	William Burton	Hannah Roberts
3/246/491	Edward Loukes	Mary Hawke
3/246/492	John Marsh	Elizabeth Warrington
3/247/493	Joseph Torr	Martha Rodwell
3/247/494	Joseph Broughton	Julia Hibberd
3/248/495	Charles Nuttall	Elizabeth Sales
3/248/496	John Barker	Elizabeth Wilde
3/249/497	Robert Bannister	Sarah Marshall
3/249/498	Thomas Warburton	Mary Peck
3/250/499	Henry Watson	Mary Ann Hammond
3/250/500	Joseph Wood	Ann Littlewood

END OF BOOK '3'

ACKROYD Eliza 3/137/274.
ADAMS Sarah 3/58/115.
ADDY Elizabeth 3/180/359.
ALDAM Sophia 3/108/216.
ALLAN (ALLEN) John 3/227/454. Sarah 3/69/137.
ALLISON Catherine 3/186/371.
ANDERSON Michael 3/236/471.
ANDREW Charles 3/215/430.
ARCHDALE Hannah 3/133/265.
ARCHER Mary Ann 3/117/233.
ARDRON John 3/216/431.
ARMITAGE John 3/120/239.
ARNETT Ann 3/20/39.
ASHBURY Thomas 3/228/455.
ASHFORTH Anna 3/31/61. Mary Ann 3/173/346.
ASHLEY Mary Ann 3/227/453.
ASHMORE William 3/24/47.
ASHTON Ellen 3/211/422.
ATKIN George 3/101/202. Henry 3/115/230.
ATKINSON Sarah Horton 3/1/2.
AUDAS Sarah 3/72/144.
AVEYARD Elizabeth 3/116/231.
AXE Sarah 3/234/468.

BACON Edward 3/75/150. Matilda 3/132/264. Stephen 3/210/419.
BAGSHAW George 3/202/403. Henry 3/69/137.
BAILEY George 3/71/142. Sarah Mosley 3/148/296.
BAINES William 3/83/166.
BALL John 3/167/333.
BAMFORD Harriet 3/215/430. Samuel 3/101/201.
BANNISTER Robert 3/249/497.
BARBER Harriet 3/28/56. Thomas 3/86/181.
BARGH George 3/47/93.
BARK Elizabeth 3/221/442. Samson 3/236/472.
BARKER Amelia 3/154/308. James 3/35/69. John 3/248/496. Joseph 3/93/185. Mary 3/77/153,
 3/129/257. Samuel 3/54/108.
BARLOW Ann 3/175/349. Martha 3/96/191.
BARRATT John 3/156/312.
BARTIN (BARTON) John 3/121/241. Samuel 3/139/277.
BASKIN James 3/144/287.
BATE(S) John Henry 3/185/370. Mary Ann 3/110/220.
BAYES William 3/192/383.
BEARCHILL Charlotte 3/49/97.
BEARDSHAW Elizabeth 3/204/408. Thomas 3/193/386.

BEATSON George 3/38/75. Harriet 3/117/234. Samuel 3/5/10.
BECKETT Joseph 3/238/475. Thomas 3/80/159.
BEELEY Frances 3/49/98.
BEIGHTON John 3/61/121, 3/66/131. William 3/43/86.
BELDON James 3/147/293.
BELK Mary Ann 3/82/164.
BELL Hannah 3/127/254. Mary 3/80/160. Thomas 3/41/18/82.
BERRY Mary 3/200/399.
BEST Mary Ann 3/141/282.
BETTS Emma 3/52/103.
BIGGINS William 3/27/54.
BILLINSLEY Thomas 3/185/359.
BILLYARD Ann 3/220/440.
BINGHAM William 3/123/246.
BINKS Ann 3/28/55.
BINNS George 3/218/435.
BIRD George 3/124/248.
BIRKINSHAW (BURKINSHAW) Ann 3/18/35. James 3/191/381.
BISHOP Matthew 3/26/51. Samuel 3/225/450.
BLACKWELL Catherine 3/136/271.
BLANKSBY Mary 3/86/171.
BODEN John Amory 3/106/212.
BOOCCOCK Charles 3/117/233.
BOOKER Amy 3/157/313. Ann 3/94/188. Noah 3/60/119. Sarah 3/86/172.
BOOL Samuel 3/17/34.
BOOTH Elizabeth 3/7/13.
BOOTHROYD Joseph 3/31/61.
BOSWORTH John Thomas 3/40/80.
BOTTOM John 3/1/2.
BOULDING Thomas 3/224/448.
BOWEN Benjamin 3/152/303.
BOWER Mary Ann 3/21/41.
BOWLING Hannah 3/78/155. James 3/19/38.
BRADFORD John 3/170/340.
BRADLEY George 3/242/483. Joseph 3/40/79.
BRADSHAW Caroline 3/62/124. George 3/72/143. Joseph 3/217/334.
BRANHALL Harriet 3/109/217.
BRAMMER Sarah 3/225/449.
BRAY Joseph 3/66/132. Richard 3/117/234.
BRENNEN James 3/221/441.
BREWSTER Robert 3/177/354.
BRIERS George 3/96/191.
BRITTLEBANK Ann 3/150/299.
BROOMHEAD Catherine 3/238/476. Thomas 3/145/290.
BROSKAM Ann 3/68/135.

BROUGHTON Joseph 3/247/494.

BROWN(E) Benjamin 3/132/264. Frances 3/110/219. John 3/97/194, 3/156/311. Sarah 3/218/435.
William 3/148/295.

BROWNELL Hannah 3/54/107. Sarah 3/201/402.

BRUADER Sarah 3/54/108.

BRUNT John 3/243/486.

BULLOS William 3/157/313. ~~BUNTING~~

BUNTING James 3/158/316. Samuel 3/79/158.

BURCH Alfred 3/82/164.

BURDEKIN William 3/239/478.

BURGOYNE Jane 3/107/214.

BURKE Simeon 3/195/390.

BURLEIGH Mary Lee 3/218/436.

BURROWS Harriet 3/73/146.

BURTON Mary 3/131/262. William 3/245/490.

BUSH Alfred 3/113/226.

BUTCHER John 3/34/67. Sarah 3/199/397.

CALOW John 3/181/342.

CAMM William 3/21/41.

CANNON Ann 3/134/268.

CAPILL John 3/204/408.

CARDWELL Sarah 3/38/76.

CAREY Francis 3/231/461.

CARNELLEY Alfred 3/137/274.

CARTER John 3/5/9.

CARTLEDGE Joseph 3/86/172.

CARTWRIGHT Harriet 3/64/127. Mary 3/74/147.

CATLOW Mary 3/8/16.

CAUWOOD William 3/207/413.

CHADWICK Hannah 3/182/364. William 3/232/463.

CHALLONER Richard 3/98/196.

CHAMPION Alatheia 3/139/277. Samuel 3/90/179.

CHANDLER William 3/208/416.

CHAPMAN Ann 3/187/373. Elizabeth 3/185/370.

CHARLESWORTH Mary 3/53/105. William 3/93/186.

CHATTERTON Samuel 3/134/267.

CHEEK James 3/59/118.

CHEETHAM Joshua 3/16/31. Martha 3/14/28.

CLARK(E) Ann 3/138/276, 3/206/412. Charles 3/174/348. John 3/175/349.

CLAY John 3/2/3.

CLAYTON Henry 3/202/404. Mary 3/211/421.

CLIFFORD Anna Frances 3/230/460.

COATES William 3/45/90.

COCKER Elizabeth 3/196/391. Samuel 3/148/296.

COCKSHAW David 3/129/258.
COE Stephen George 3/84/167.
COGGIN Jonathan 3/231/462. Priscilla 3/13/25.
COLDWELL Harriet 3/81/161.
COLLIER Jarvis 3/131/261.
COLTON Elizabeth 3/199/398.
CONSTANTINE Ellen 3/122/243.
COOK(E) David 3/49/98. Samuel 3/46/92.
COOPER Amy 3/189/377. Charles 3/9/18. Elizabeth 3/88/175. Mary 3/85/170, 3/112/223.
 William 3/36/71.
CORBETT Vincent 3/30/59.
CORKER Matilda 3/2/4.
COTTAM Robert 3/168/335.
COULSON Elizabeth 3/136/272.
COWIN Harriet 3/214/428.
GOWLISHAW George 3/23/45.
COX Bolina 3/200/400.
CRAPPER William 3/172/344.
CROFTS William 3/162/323.
CROOKES Elizabeth 3/4/8. Harriet 3/155/310. James 3/140/280. William 3/210/420.
CROUCH Joseph 3/110/219.
CUMMINGS Francis 3/189/378.
CUNNINGHAM Patrick 3/164/328.
CUTT(S) Ann 3/233/465. William 3/217/433.

DAKIN Ellen 3/2/3. Mary 3/245/489.
DALLAWAY John 3/140/279.
DALTON Ann 3/119/238.
DANIEL Ann 3/165/329.
DARWENT Elizabeth 3/94/187.
DAVIS Mary 3/80/159. Peter 3/51/102.
DAVIES Enoch 3/114/227.
DAVISON Ann 3/168/336.
DAWSON Mary 3/3/6.
DEAKIN Clement 3/212/423.
DEPLEDGE Joseph 3/89/177.
DERBY Elizabeth 3/222/444.
DICKINSON Hannah 3/234/467. John 3/53/105.
DICKMAN Robert 3/240/480.
DOBSON Mary Ann 3/89/177.
DODD Sarah 3/46/92.
DODWORTH Charles 3/228/456.
DONADLY Mary Ann 3/97/193.
DONOUGHUE Edward 3/97/193. Mary 3/240/480.
DOWNS Harriet 3/181/362.

DRABBLE William 3/94/187.

DRAYTON John 3/244/488.

DRING George 3/13/26.

DUKE James 3/62/124.

DUNGWORTH Amelia 3/101/202;

DURHAM John 3/157/314.

DUTTON Thomas 3/42/84.

EADES Sarah 3/32/63.

EADON Harriet 3/12/24.

EAGE Harriet 3/81/162.

EARNSHAW Mary Ann 3/146/291. Thomas 3/191/382. William 3/187/373.

EASTLAND Hannah 3/98/195.

EASTWOOD Hannah 3/144/287. Jane 3/149/298. Sarah 3/101/201.

EDWARDS William 3/116/232.

ELLIN Ann 3/67/134.

ELLIOTT Elizabeth 3/198/395. Isabella 3/3/5. Sarah 3/41/82.

ELLIS Ann 3/170/339, 3/212/424.

ELLISE George 3/88/175.

ENGLAND Elizabeth 3/75/149.

ENTWISLE John 3/21/42.

EPWORTH Hannah 3/35/70.

EVERARD Robert 3/10 8/216.

FALDING Elizabeth 3/224/447.

FARRELL Judy 3/146/292.

FAULKENER Harriet 3/123/246. James 3/239/477.

FAVELL Hannah 3/25/50.

FEARN George 3/154/307.

FEARNEHOUGH Thomas 3/16/32.

FEARNLEY Sarah 3/133/266.

FELLS Ann 3/175/350.

FENWICK Richard 3/85/170.

FISH Mary Ann 3/48/95.

FISHER Mary Ann 3/87/174.

FLETCHER Mary Ann 3/220/439.

FLINT Jane 3/239/477. Peter 3/74/148.

FORD Ann 3/79/158.

FOSTER Eliza 3/1/1. Frances 3/51/101. James 3/53/XX/106. Mary 3/39/78.

FOULSTONE William 3/182/363.

FOWLER Elizabeth 3/93/186. Elizabeth Watkinson 3/116/232.

FOX Caroline 3/63/125, 3/224/448. Joshua 3/180/360.

FRANCE George 3/22/43, 3/222/444.

FRETWELL Elizabeth 3/83/166.

FROGGATT Thomas 3/214/428. William 3/144/288.

FURNISS Joseph 3/31/62.

GALE Septimus 3/105/210.

GAMBLES Hannah 3/7/14. Jane 3/21.9/438.

GARDINER Mary 3/85/169.

GARLICK Sarah 3/44/87.

GARNER Charles Foulds 3/200/399.

GARNETT Mary 3/149/297.

GIBBINS Eliza 3/119/237.

GIBSON Ann 3/132/263.

GILBERT Thomas 3/75/149.

GILMORE Peter 3/33/66.

GLADWIN Joseph 3/70/139. Mary 3/84/167.

GLAVES Mary Ann 3/111/222.

GLEDHILL William 3/118/236.

GLOSSOP John 3/208/415. Mary 3/206/411.

GLOVER Charlotte 3/92/184.

GLUE Elick 3/80/160.

GODDARD John 3/143/285.

GODLEY Sarah 3/42/84. William 3/126/252.

GODF Sarah 3/37/74. William 3/6/12.

GOODISON David 3/71/141. Ellem 3/119/38.

GORDON William 3/90/180.

GRAHAM Richard 3/8/16.

GRAY Ann 3/127/253.

GREATOREX Ann 3/6/11.

GREAVES Sarah 3/17/34. William 3/139/278.

GREEN Eleanor 3/50/100. Henry 3/151/301. Joseph 3/95/189. Mary 3/65/129. Mary Ann 3/172/34.
Rebecca 3/64/128.

GREENSMITH Elizabeth 3/243/496. Joseph 3/61/122.

GREENWOOD Mary 3/137/273.

GREGORY Ellen 3/13/26. John 3/39/78, 3/89/178. Mary 3/55/109. Mary Ann 3/190/379.

Martha Copman 3/223/446. Thomas 3/196/391.

GROVES George 3/22/44.

GYITE Elizabeth 3/216/431.

HACKFORD Edward 3/201/402.

HADFIELD Mary Bishop 3/30/60.

HAGUE George 3/152/304. Joseph 3/171/341. Thomas 3/184/308.

HAINSWORTH Isaac 3/128/255.

HALL Ann 3/24/48, 3/231/461. Elizabeth 3/62/123. Jane 3/140/279, 3/214/427. Mary Ann
3/165/330. Sarah 3/26/52.

HALLAM Amelia 3/174/348. Esther Armstrong 3/17/33. Mary 3/59/118. Reuben 3/58/115.

HAMLET William 3/175/350.

HAMMOND Elizabeth 3/232/464, 3/242/483. Mary Ann 3/250/499.

HANCOCK Barbara 3/70/139. Charles 3/173/346. Charlotte 3/202/403. Ellen 3/171/341.
Enoch 3/233/465. Henry 3/63/126, 3/179/357. Rose 3/169/337.

HARDING Mary 3/95/190.

HARDY Harriet 3/244/488.

HARMSTON George 3/88/176.

HARPER Charles 3/52/104. Henry 3/146/291.

HARRISON Ann 3/126/252. Catherine 3/35/69. Charles 3/186/372. Jane 3/102/203. Richard
3/151/302. William 3/150/299.

HARTLEY Anthony 3/69/139. Mary 3/169/338. Millicent 3/142/283.

HASLAM Mary 3/241/482.

HATFIELD Mary Ann 3/139/278.

HAWKE Mary 3/246/491.

HAWKSWORTH Joseph 3/3/6. Ruth 3/187/374.

HAWLEY Sarah 3/19/37.

HAYWARD Joseph 3/150/300.

HAYWOOD Ann 3/15/29.

HAZLEHURST Solomon 3/159/318.

HEALEY (HEELEY) Luke 3/225/449. Mary 3/108/215. Mary Ann 3/57/114.

HEATON Ann 3/61/122.

HEDGE Ann 3/216/432. George 3/237/474.

HELLEWELL Jane 3/225/450.

HEMPSALL David 3/56/111.

HERRING Ann 3/18/36.

HIBBERD George 3/194/387. John 3/80/15. Julia 3/247/494.

HIBBERSON John 3/52/103.

HIGGINBOTTOM Elizabeth 3/98/196. Frances 3/118/235.

HIGGITT Matilda 3/114/228.

HILL Ann 3/223/445. Charles 3/209/417. Emma Sorby 3/120/240. Harriet 3/65/130. James
3/81/161. Sarah 3/203/406. William 3/24/48, 3/181/362.

HIMSWORTH James 3/76/152.

HINCHLEFFE John 3/163/325. Joseph 3/42/83.

HITCHIN Mary 3/241/481.

HOBSON Elizabeth 3/126/251. John 3/122/244. Lionel 3/35/70.

HODGKINSON Hannah 3/219/437.

HODGSON Elizabeth 3/112/224. John 3/87/173.

HODKIN Christopher 3/220/439. James 3/45/89.

HODSON Joseph 3/102/204.

HOLBERRY Samuel 3/112/223.

HOLLAND Ann 3/104/208.

HOLLINGWORTH Martha 3/197/394.

HOLMES Daniel 3/197/394. James 3/91/182.

HOLMSHAW John 3/109/218.

HOLROYD Eliza 3/185/369.

HOPEWELL Elizabeth 3/10/20.

HOPKINSON Enock 3/104/207. George 3/161/322.

HOPTON William 3/82/163.

HORBURY Elizabeth 3/203/405.

HOULT Mary Ann 3/161/321.

HOUNSFIELD Agnes 3/30/59.

HOWE(S) Hannah 3/130/259. Henry 3/130/259. Robert 3/176/351.

HOWELL Sarah 3/188/375.

HUDSON Ann 3/23/45, 3/208/415. George 3/102/203. Richard 3/37/73.

HUKIN Mary 3/237/474.

HULLEY Jane 3/244/487. John 3/167/334.

HUMPHREY Mary 3/103/205.

HUNT Mary 3/16/31.

HURD William 3/159/317.

HYNDES Catherine 3/226/452.

IBBETSON Thomas 3/103/205.

IBBOTSON John 3/2/4. Jonathan 3/177/353. Mary 3/177/353.

IRONSIDE Samuel 3/32/63.

JACKSON George 3/58/1116, 3/230/459. Harriet 3/217/433. Joseph 3/205/410.

JAMES Ann 3/99/1197.

JAQUES Mary 3/22/43.

JARVIS Ann 3/183/365.

JEFFCOCK Mary Ann 3/33/66.

JENKINS Hannah 3/36/72.

JENKINSON Caroline 3/107/213. Ellen 3/45/90. James 3/116/231.

JENNINGS Elizabeth 3/90/1180.

JEPSON Isaac 3/68/1135.

JESSOP Caroline 3/56/112.

JOEL Elizabeth 3/131/261.

JOHNSON William 3/165/329.

JUBB Benjamin 3/111/221. Eliza 3/176/352.

KAY Ann 3/233/466. George 3/138/276. William 3/47/94, 3/100/199.

KEETON Emma 3/11/22.

KEIGHLEY Mary Ann 3/50/99.

KEITH Elizabeth 3/14/27.

KELLY John 3/199/398.

KING James 3/183/365, 3/213/425.

KIRBY Charles 3/137/273.

KIRK Elizabeth 3/205/409. Henry 3/15/30. John 3/166/331.

KIRKLEY Maria 3/152/303.

KNAPTON Joseph 3/130/260.

KNIGHT Elizabeth 3/27/53. Harriet 3/20/40. Mary 3/170/340.

LAKE Fanny 3/197/393.
LAMB Jane 3/141/281.
LAMBERT John 3/78/156.
LANDERS Harriet 3/79/157.
LANGAN Patrick 3/95/190.
LARKTON Ellen 3/60/120.
LAUGHTON Joseph 3/193/395.
LAW Emma 3/23/46. Mary 3/138/275. Sarah 3/154/307.
LAWSON William 3/109/217.
LEADBEATER Mary Ann 3/56/111.
LEE(S) Maria 3/209/417. Mary 3/16/32. Thomas 3/209/418.
LEECH Ann 3/240/479.
LEEMING Ann 3/210/419.
LEGGOE William 3/114/228.
LEKE Sarah 3/162/323.
LEVICK Alfred 3/196/392.
LIGGETT Daniel 3/169/337.
LISTER Joseph 3/79/157.
LITTLEWOOD Ann 3/229/457, 3/250/500. Sarah 3/237/473.
LOMAS George 3/12/23, John 3/213/426.
LONGDEN Samuel 3/224/447.
LONGLEY Mary 3/27/54.
LOUKES Edward 3/246/491.
LOWE Thomas Pagan 3/14/28.
LUNN William 3/234/468.

MacGLONE James 3/128/256.
MACHIN Jane 3/60/119.
MALLINSON George 3/242/482.
MALLISON Ann 3/205/410.
MANNING Mary 3/164/328.
MAPPLEBECK Abia 3/120/239.
MARPLES Thomas 3/229/458.
MARRIOTT Lydia 3/210/420. William 3/135/270.
MARRISON Frances Ann 3/91/181. John 3/183/366.
MARS Margaret 3/221/441.
MARSDEN Henry 3/243/485. Mary Ann 3/229/458. Thomas 3/13/25. William 3/4/7.
MARSH Ann 3/194/387. Elizabeth 3/129/258. John 3/246/492. William 3/118/235.
MARSHALL Ann 3/106/211. Christopher 3/220/440. Elizabeth 3/161/322. Joseph 3/38/76,
3/158/315. Mary 3/105/209. Samuel 3/20/40. Sarah 3/192/383, 3/249/497. William
3/119/237.
MARTIN Ann 3/123/245. Edward 3/165/330. Elizabeth 3/102/204. Thomas 3/138/275.
MASON George 3/153/305. John 3/87/174. Mary Ann 3/176/351.
MASSEY Richard 3/178/355.
MATTHEWS Caroline 3/145/289.

MAWSON Mary 3/239/478.

MAXWELL Mary Ann 3/93/185.

MEGSON John 3/124/247. Vincent 3/182/364.

MELLORS John 3/6/111.

MERRILL Ann 3/243/485. James 3/115/29.

METTAM Charlotte 3/1156/312. Henry 3/1189/377. John 3/46/91. Mary Ann 3/55/1110. 3/1160/3119.

MIDDLETON Rachel 3/97/194. Samuel 3/73/1146. Samuel Smith 3/120/240.

MILNER Ann 3/194/388. John 3/63/125. John Rhodes 3/50/99.

MITCHELL Ann 3/48/96. Mary Ann 3/6/112. William 3/1133/265.

MONAGHAN Michael 3/125/250.

MOOR(E) James 3/28/56. John 3/11/21. Sarah 3/1167/333. William 3/34/68.

MOORHOUSE Mary 3/76/151.

MORRIS John 3/194/388. Mary 3/69/1138.

MORRISON Mary 3/1183/366.

MORTON Ann 3/63/126. Mary 3/1104/207. Sarah 3/70/1140. William 3/145/289.

MOSELY (MOESLEY) Elizabeth White 3/32/64. Matilda 3/84/1148.

MYERS Elizabeth 3/1192/384.

NANDLEY Thomas 3/211/422.

NAYLOR James 3/235/470.

NEAL Phoebe 3/1193/385.

NEATBY George 3/25/50.

NEEDHAM James 3/1115/229.

NELL Elizabeth 3/1134/267.

NEWBOULD William 3/1141/282.

NEWCOMB George 3/241/481.

NEWMAN Robert Dawson 3/67/134.

NEWSOM Maria 3/217/434.

NEWTON Ann Thomassin 3/1155/309.

NICHOLS John 3/1169/338.

NORBURN Ann 3/1168/335.

NORMAN John 3/106/211.

NUTTALL Charles 3/248/495.

OATES Ann 3/144/288. Charles 3/60/120. William 3/119/37.

OGDEN Charles 3/107/213.

OLDALE John 3/216/432.

OLDFIELD Matilda 3/76/1152.

OLDHAM Daniel 3/57/114. George 3/9/17.

OLIVER Ann 3/204/407. John 3/122/243.

OLLEVENT Charles 3/29/38.

OLTON Joseph 3/214/427.

ORNE Sarah 3/195/390.

OSGATHORPE Ann 3/66/1132.

OUTRAM John 3/197/393. Mary Ann 3/222/443.

OWEN Benjamin 3/7/13.

PADLEY Hannah 3/59/117.

PAGE Emma 3/43/85. Mary 3/9/17.

PAIFREYMAN Ann 3/143/286.

PARKER Hannah 3/159/318. John 3/78/155. Mary 3/121/242, 3/124/247.

PARKIN Hannah 3/157/314. Michael 3/103/206. William 3/104/208.

PARKINSON Edwin 3/84/168.

PARNELL Elizabeth 3/5/9.

PARR Thomas 3/222/443.

PASHLEY James 3/186/371.

PATMAN Martin 3/36/72.

PEARCE George 3/160/319.

PEARSON Ann 3/181/361. John 3/184/367.

PEAT David 3/190/379.

PECK Mary 3/249/498.

PHENIX Charles 3/234/467.

PICKERING Charlotte 3/167/334. Jane 3/173/345.

PILKINGTON Mary 3/88/176.

PINDER William 3/232/464.

PITCHFORD Ann 3/172/343. John 3/172/343.

PLATTS Sarah 3/72/143.

PRENTICE Mark 3/170/339.

PROUD Ann 3/231/462.

PTYOR (PRIOR) Elizabeth 3/160/320. Samuel 3/180/359.

PULLEN Anna 3/109/218.

QUIGLEY John 3/50/100.

RADLEY John 3/43/85.

RANDALL Robert 3/113/225.

RAWSON Emily 3/58/116.

RAYNES William 3/134/268.

RAYWOOD George 3/141/281.

RICH Thomas 3/129/257.

RICHARDSON Henry 3/163/326. Mary 3/44/88. William 3/173/347.

RIDDELL John 3/136/272.

RIDGWAY Hannah 3/113/226.

RHODES Ann 3/31/62.

ROACH Ann 3/125/250.

ROBERTS Hannah 3/245/490. Mary 3/186/372. Thomas 3/142/284. William 3/28/55.

ROBINSON Elizabeth 3/162/324. Francis 3/55/109. James 3/149/297. Sarah 3/163/325.

William 3/229/457.

RODGERS (ROGERS) Benjamin 3/44/88. Dinah 3/12/23. Edwin 3/54/107. James 3/245/489.

Joseph 3/3/5.

RODWELL Martha 3/247/493.
ROEBUCK Harriet 3/164/327. Sarah 3/26/51.
ROFFEY Harriet 3/91/182.
ROLLINSON John 3/143/286.
ROSE George 3/39/77. John 3/55/110.
ROTHERHAM Anthony 3/30/60. Joseph Tinker 3/57/113.
ROWBOTHAM John 3/11/22, 3/155/309. Sarah 3/68/136.
ROWLAND Emma 3/42/83.
ROWLEY Elizabeth 3/166/331.
ROXBROUGH Sarah 3/195/389.
RUSHTON Ann 3/39/77.

SALES Eliza 3/248/495.
SALMON Mary 3/232/463.
SALT Anne 3/140/280.
SAMBROOKS Charles 3/192/384.
SCALLEY John 3/111/222.
SCHOFIELD Ann 3/150/300.
SCHOLEY Thomas 3/195/389.
SEALE Mary Ann 3/92/183.
SELLARS Sarah 3/37/73.
SENIOR(S) John 3/37/74, 3/73/145.
SHACKLETON Hannah 3/36/71.
SHANNY Joseph 3/226/452.
SHARMAN Michael 3/211/421.
SHARPE Sarah 3/147/294.
SHAW Ann 3/52/104, 3/153/305. Edward 3/155/310. Harriet 3/115/229. John 3/127/254.
Sarah 3/45/89. William 3/85/169.

SHELDON Mary Ann 3/87/173.
SHEPHERD John 3/112/224.
SHEPLEY Mark 3/126/251.
SHERWIN Stephen 3/29/57.
SHIMELD Eliza 3/43/86.
SIDDALL Henry 3/215/429. Maria 3/180/360.
SIMMONITE Martha 3/82/163.
SIMPKIN Ann 3/179/358. Henry 3/206/411.
SIMPSON John 3/173/345.
SKELTON James 3/65/130.
SKIDWELL Rebecca 3/11/21.
SKINNER Ann 3/121/241. Elizabeth 3/47/94. William 3/201/401.
SLACK Joseph 3/204/407.
SLATER Martha 3/47/93.

SMITH Ann 3/207/413, 3/226/451, 3/242/484. Elijah 3/26/52. Elizabeth 3/24/47. Frances 3/198/396. Francis 3/178/356. Hannah 3/51/102, 3/99/198. Harriet 3/5/10, 3/67/133. James 3/205/409. John 3/10/19, 3/92/183. Joseph 3/235/469. Maria 3/21/42. Maria Sarah 3/191/391. Mary 3/34/68. Richard 3/25/49, 3/83/165. Richard Frederick 3/227/453. Sarah 3/151/302. Sarah Ann 3/4/7. Thomas 3/190/380. Valentine 3/168/336. William 3/107/214, 3/108/215, 3/142/283.

SMITHURST Ann 3/202/404.

SNAPE Maria 3/143/285.

SOMERSET William 3/160/320.

SORBY Charles 3/154/308. Charlotte 3/145/290.

SPENCER Catherine 3/78/156. Joseph 3/18/36. Martha 3/46/91.

SPURR (SPOOR) Harding 3/212/424. Mary 3/147/293.

SPACEY Mary 3/228/455. William 3/223/446.

STAFFORD Robert 3/32/64.

STANCELL Mary 3/178/356.

STANDIDGE Edward 3/127/253.

STANFORTH Charles 3/67/133. Frances 3/96/192. George 3/64/128. Joseph 3/76/151.
Mary Ann 3/33/65.

STAVELEY William 3/105/209.

STEEL James 3/77/153.

STEPHENSON (STEVENSON) Harriet 3/122/244. Mary 3/111/221.

STEVENS John 3/99/197. William 3/133/266.

STORER Ann 3/235/470.

STOREY Daniel 3/132/263. Sophia 3/158/315.

STRINGER George 3/94/188.

SUMMERHILL Henry 3/199/397. Matilda 3/177/354.

SURR William 3/59/117.

SWALLOW Sarah 3/152/304.

SWIFT Ann 3/57/113. Samuel 3/238/476.

SYMINGTON Margaret 3/29/58.

TAYLOR Elizabeth 3/25/49, 3/184/367. Grace 3/236/472. Harriet 3/83/165. James 3/226/451.
Jane 3/15/30. John 3/91/181, 3/218/436. Joseph 3/166/332. Mary 3/178/355.
Susanna 3/235/469.

TEASDALE Edwin 3/200/400.

TEMPERTON Seaton 3/64/127.

TERRY Miriam 3/156/311.

TETHER James 3/219/437.

THACKERAY Susan 3/153/306.

THICKETT Ann 3/182/363.

THOMPSON Benjamin 3/12/24. Emily Augusta 3/228/456. Frances 3/95/189. George 3/233/466.
Harriet 3/201/401. John 3/99/198. William 3/162/324. William Henry 3/74/147.

THORNTON Henry 3/176/352.

THORPE Elizabeth 3/191/382. James 3/33/65. John 3/10/20, 3/77/154. Joseph 3/147/294.
Thomas Goulden 3/17/33.

TIMPERLEY Edward 3/96/192.

TINGLE Sarah 3/84/168.

TINKER John 3/27/53.

TORR Joseph 3/247/493.

TOSE Ann 3/148/295.

TOWNSEND Elizabeth 3/189/376.

TRICKETT Joseph 3/49/97.

TROUT Alfred 3/72/144.

TRUEMAN William 3/221/442.

TURTON Elizabeth 3/114/227. John 3/119/238. Lucy 3/159/317.

TWIBELL Mary 3/90/179.

TWIGG Thomas 3/240/479. William 3/189/376.

TYNE Sarah 3/189/376.

TYSON Ann 3/238/475.

TYZACK Charlotte Camdeneth 3/190/380.

VICKERS John 3/223/445.

WADDINGTON Alfred 3/188/375.

WADE Ann 3/128/255.

WAGSTAFF Mary 3/8/15.

WAINWRIGHT Eliza 3/130/260. Hannah 3/124/248.

WAITE Thomas 3/187/374.

WAKE Joseph 3/98/195.

WALKER Charles 3/219/438. John 3/7/14. Louisa 3/166/332. Mary 3/89/178. Richard 3/51/101.

WALLACE John 3/136/271.

WALTON William 3/164/327.

WARBURTON Harriet 3/179/357. Thomas 3/249/498.

WARD Ann 3/38/75, 3/158/316. Benjamin 3/125/249. Daniel 3/198/395. Jane 3/227/454.

John 3/121/242. Mary Ann 3/230/459. Thomas 3/44/87.

WARIN Ann Elizabeth 3/53/106.

WARNER Robert 3/230/460.

WARREN Eliza 3/135/270.

WARRINGTON Elizabeth 3/246/492.

WASTENAGE (WESNIDGE) Christopher 3/153/306. John 3/20/39.

WATERSON James 3/4/8.

WATKINSON Ann 3/125/249. Charlotte 3/174/347. Hannah 3/103/206.

WATSON Henry 3/250/499. John 3/56/112, 3/65/129, 3/207/414. Mary 3/71/142. Thomas 3/244/487.

WEBSTER Elizabeth Ann 3/106/212. George 3/1/1, 3/62/123.

WELCH Patrick 3/146/292.

WHATLIMAN Margaret 3/209/418.

WHICKSALL Elizabeth 3/151/301.

WHITE Ann 3/73/145. Henry 3/81/162. James 3/203/405. John 3/161/321. Margaret 3/10/19.
William 3/198/396.

WHITELEY Ann 3/113/225. William 3/135/269, 3/241/482.
WHITHAM Sarah 3/118/236.
WHEEN John 3/70/140.
WHOLEY Robert 3/131/262.
WIDDOWSON Ann 3/135/269.
WILBY Mary 3/100/199.
WILD(E) Elizabeth 3/248/496. Hannah 3/100/200.
WILDBLOOD Henry 3/203/406.
WILKINSON Ann 3/9/18. Frances 3/40/79. Sarah 3/193/386.
WILLCOCK Thomas 3/68/136.
WILLEY George 3/206/412. Louisa 3/212/423.
WILLIAMS Ann 3/142/284.
WILLOUGHBY Hannah 3/213/425.
WILMOT John 3/123/245.
WILSON John 3/14/27, 3/92/184. Mary 3/163/326.
WINDLE Elizabeth 3/71/141. Sarah 3/208/416.
WINFREY Mary 3/236/471.
WOMERSLEY Samuel 3/41/81.
WOOD Ann 3/22/44. John 3/179/358. Joseph 3/23/46, 3/250/500. Rebecca 3/171/342. Sarah
3/184/368, 3/207/414.
WOODCOCK Richard 3/48/95.
WOODHEAD Ann 3/41/81, 3/115/230.
WOODHOUSE Sarah 3/29/57.
WOOLF Martha 3/61/121.
WOOLHOUSE Martha 3/40/80.
WOOLLEY William 3/110/220.
WORRALL Edward 3/181/361.
WORTHINGTON Jane 3/128/256.
WRIGHT Elizabeth 3/213/426. Emma 3/105/210. Esther 3/196/392. James 3/48/96.
WYNN Amelia 3/66/131. George 3/237/473.

YATES George 3/149/298.
YEARDLEY John 3/109/200.
YOULE Fanny 3/75/150.
YOUNG Jane 3/34/67.

END OF INDEX TO BOOK '3'

SHEFFIELD CATHEDRAL

MARRIAGE

BOOK

'4'

JANUARY 1839

TO

AUGUST ~~18~~ 1839

Transcribed By J. EDWARD SHORTLAND

Typewritten and Indexed By KEITH BLAGDEN

BY THE KIND PERMISSION OF THE PROVOST

THE VERY REV. W. F. CURTIS A.K.C.

Prefix number denotes book number

2nd numerals denote page number

3rd numerals denote entry number

4/1/1	John Schofield	Mary Shaw
4/1/2	Samuel Nadin	Sarah Allison
4/2/3	George Milnes Hatfield	Elizabeth Margaret Camm
4/2/4	Joseph Marsden	Martha Cowley
4/3/5	Thomas Conners	Ann Mallinders
4/3/6	Joseph Stevenson	Ann Smith
4/4/7	John Watts	Eliza Allen
4/4/8	John Lee	Maria Brown
4/5/9	James Feltham E	Elizabeth Mannell
4/5/10	Henry Holdstock	Ann Green
4/6/11	William Barker	Elizabeth Waterfall
4/6/12	Joseph Reddish	Mary Jackson
4/7/13	George Moseley	Ann Trotter
4/7/14	Martin Hibberson	Mary Ann Pattison
4/8/15	James Fretwell	Mary Mortershaw
4/8/16	Henry Sutcliffe	Mary Cockayne
4/9/17	Anthony Ford	Isabella Manning
4/9/18	Joseph Sanderson	Sarah Thompson
4/10/19	John Hethershaw	Elizabeth Bradford
4/10/20	Joseph Flint	Jane Wilson
4/10/21	William Foulstone	Martha Hill
4/11/22	William Baxter	Rebecca Finningly
4/12/23	Joseph Thackry	Martha Rodgers
4/12/24	Isaac Lingard	Martha Rodgers
4/13/25	Joseph Price	Penelope Boothby
4/13/26	Joseph Booth	Caroline Hemmings
4/14/27	Charles Jepson	Sarah Tye
4/14/28	William Butler	Sarah Smith
4/15/29	George Frost	Mary Ann Boot
4/15/30	Samuel Ford	Mary Manifold
4/16/31	Benjamin Morton	Mary Ann Gosney
4/16/32	John Ibbotson	Mary Lawton
4/17/33	Thomas Tankard	Frances Simpson
4/17/34	George Hazlehurst	Mary Milner
4/18/35	Samuel Baxter	Ann Dyson
4/18/36	Henry Woodcock	Theresa Steel
4/19/37	John Woodhead	Mary Burnand
4/19/38	Joseph France	Eliza Stevenson
4/20/39	Henry Taylor	Jane Leek
4/20/40	William Dodds	Elizabeth Lockwood
4/21/41	Charles Collier	Eliza Gill
4/21/42	Joseph Barker	Sarah Sanderson
4/22/43	George Lamb	Maria Burden
4/22/44	Joseph Hammerton	Sarah Eastwood

4/23/45	William Parkin	Mary Taylor
4/23/46	Thomas Wilson	Elizabeth Smith
4/24/47	John Spooner	Ann Frost
3/ 24/48	James Roper	Mary Bates
4/25/49	Job Shepherd	Mary Blood
4/25/50	James Osgathorpe	Mary Beatson
4/26/51	John Hamshaw	Elizabeth Wilson
3/ 26/52	John Belk	Martha Moorhouse
4/27/53	John Hackett	Esther Sanforth
4/27/54	John Clark	Elizabeth Sanforth
4/28/55	William Bradshaw	Mary Ann Milner
4/28/56	William Loxley	Mary Green
4/29/57	George Wilson	Eliza Revill
4/29/58	William Powell	Elizabeth Downes
4/30/59	Ralph Stamp	Mary Ann Kay
4/30/60	John Kirk Crookes	Ann Hutton
4/31/61	Joseph Drabble	Ellen Wright
4/31/62	William Hopewell	Sarah Holmes
4/32/63	Alfred Dodworth	Mary Ann Thompson
4/32/64	Henry Curr	Mary Barrett
4/33/65	William Marshall	Hannah Hattersley
4/33/66	John Hides	Fanny Goodlad
4/34/67	James Wigglesworth	Mary Rogers
4/34/68	William Turner	Mary Ann Ashton
4/35/69	James Broadhurst	Hannah Ashton
4/35/70	John Foulstone	Ann Shaw
4/36/71	Peter Boulden	Fanny Bradford
4/36/72	George Gillott	Eliza Stocks
3/ 37/73	William Ardron	Mary Barker
4/37/74	William Jenkinson	Frances Robinson
4/38/75	Samuel Thorpe	Grace Crapper
4/38/76	Henry Priestley	Elizabeth Mettam
4/39/77	Nathaniel Swift	Sarah Ann Frodsham
4/39/78	John Hague	Mary Simpson
4/40/79	Richard Draper	Charlotte Allen
4/40/80	Joseph Hill Appleton	Ann Webster
4/41/81	George Howson	Ann Nicholson
4/41/82	Denis Oscroft	Harriet Howson
4/42/83	Joseph Rollinson	Martha Scamadin
4/42/84	Alfred Dennis	Elizabeth Raby
4/43/85	Daniel Love	Hannah Moore
4/43/86	George Froggatt	Sarah Schofield
4/44/87	John Keeton	Catherine Maria Morton
4/ 44/88	George Carr	Ann Thorpe

4/45/89	William Haywood	Sarah Christiana Robinson
4/45/90	Joseph Mann	Sarah Moore
4/46/91	George Lee	Jane Kay
4/46/92	John Peniston	Sarah Broadbent
4/47/93	John Booker	Ann Flint
4/47/94	Thomas Cooper Browne	Ellen Blackburn
4/48/95	Thomas Moseley	Sarah Spotswood
4/48/96	Richard Perkins	Eliza Thorpe
4/49/97	James Mycock	Mary Didsbury
4/49/98	William Henry Parkin	Hannah Sheldon
4/50/99	Joseph Bailey	Mary Stevenson
4/50/100	Thomas Ainley	Elizabeth Ann Andrews
4/51/101	Thomas Hardacre	Sarah Littlewood
4/52/102	Frederick Copley	Eliza Wilson
4/52/103	Charles Beaumont	Eliza Wade
4/52/104	William Wild	Augusta Hirst
4/53/105	Henry Bannister	Ellen Love
4/53/106	Israel James	Rebecca Booth
4/54/107	Edward Bacon	Eliza Higgins
4/54/108	Thomas Armitage	Mary Blackwell
4/55/109	Joseph Machin	Hannah Siddall
4/55/110	John Memmett	Charlotte Beatson
4/56/111	Thomas Wood	Mary Binney
4/56/112	Robert May	Esther Mosley
4/57/113	Thomas Dyson	Ann Bibbs
4/57/114	John Biggin	Sarah Bagshaw
4/58/115	John Gibbons	Elizabeth Chantrey
4/58/116	Robert Needham	Mary White
4/59/117	Benjamin Rainforth	Mary Chapman
4/59/118	John Shephard	Elizabeth Boyd
4/60/119	Henry Broomhead	Harriet Kitchen
4/60/120	Joseph Jackson	Mary Cooper
4/61/121	John Thompson	Mary Illingworth
4/61/122	Thomas Barber	Elizabeth Battison
4/62/123	William Corker	Ann Aspinall
4/62/124	Thomas Fox	Ann Tyzack
4/63/125	Edwin Stork	Eliza Lant
4/63/126	John Steel	Esther Howard
4/64/127	William Ward	Sarah Smith
4/64/128	Samuel Marshall	Elizabeth Green
4/65/129	James Wild	Ann Broadhurst
4/65/130	Richard Ash	Mary Johnson
4/66/131	John Goddard	Ann Scott
4/66/132	James Sykes	Elizabeth R Liptrot

4/67/133	Henry Parkin	Sarah Hartley
4/67/134	Thomas Hobbis	Hannah Townsend
4/68/135	Joseph Wright	Harriet Hoyland
4/68/136	William Marshall	Mary Bradshaw
4/69/137	Robert Spencer	Sarah Philips
4/69/138	Edward Richmond	Eliza Spy
4/70/139	William Dawson	Ann White
4/70/140	John Audus	Mary Burchby
4/71/141	Daniel Darragh	Elizabeth Whitaker
4/71/142	William Cutts	Sarah Guest
4/72/143	George Parker	Eliza Rhodes
4/72/144	John Gregory	Ann Warrington
4/73/145	George Cotton	Harriet Bellamy
4/73/146	Thomas Freeman	Mary Guest
4/74/147	William Hall	Margaret Hodgkinson
4/74/148	Charles Sharp	Martha Deplidge
4/75/149	Joseph Hall	Matilda Green
4/75/150	Joseph Hessey	Caroline Osgathorpe
4/76/151	James Francis	Sarah Ann Wesley
4/76/152	Edward Clarke	Mary Ann Appleby
4/77/153	James Wales	Sarah Hall
4/77/154	Thomas Gunnell	Elizabeth Winter Asher
4/78/155	Robert Beaumont	Elizabeth Bartle
4/78/156	Joshua Bate	Ann Clarke
4/79/157	William White	Caroline Milner
4/79/158	Henry Sykes	Sarah Darwin
4/80/159	Robert Taylor	Susanna Harvey
4/80/160	Robert Hallam	Ellen Mitchell
4/81/161	James Oglesby	Ann Stenton
4/81/162	Aaron Dean	Mary Ann Turton
4/82/163	William Bladworth Birks	Sarah Wolstenholme
4/82/164	John Ward	Jane Bradshaw
4/83/165	William Ackroyd	Mary Holland
4/83/166	George Alcock	Elizabeth Revill
4/84/167	William Crookes	Elizabeth Bagsaw
4/84/168	John Warnby	Mary Kelk
4/85/169	John Ferguson	Sarah Simmons
4/85/170	John Holdsworth	Mary Warren
4/86/171	Alfred Morton	Sarah Styring
4/86/172	Roger McZubah	Ellen Boyce
4/87/173	Joseph Linton	Martha Smith
4/87/174	William Jackson	Hannah Russell
4/88/175	William Vaude	Ann Hall
4/88/176	William Branford	Mary Butterfield

4/89/177	William Wilkinson	Ann Stuart
4/89/178	Peter Hewitt	Mary Taylor
4/90/179	Peter Berisford	Sarah Briggs
4/90/180	Joseph Shaw	Maria Winterbottom
4/91/181	Matthew Darling	Sarah Ann Downend
4/91/182	John Jenkin	Ann Bellamy
4/92/183	William Wallace	Mary Ann Hutchinson
4/92/184	John Mitchell	Eliza Barker
4/93/185	Charles Mappin	Hannah Creswick
4/93/186	William Marsh	Mary Ann Crookes
4/94/187	Samuel Laycock	Ann Walker
4/94/188	Edward Buxton	Hannah Hinchliffe
4/95/189	Charles Barnes	Elizabeth Weston
4/95/190	Joseph Youle	Mary Ann Briggs
4/96/191	William Garnett	Elizabeth Storey
4/96/192	William Watson	Frances Bingham
4/97/193	Thomas Barker	Harriet Mills
4/97/194	James Hadfield	Rebecca Skelton Simpson
4/98/195	John Wilson	Margaret Wastnage
4/98/196	James Middleton	Elizabeth Ward
4/99/197	John Field	Elizabeth Watson
4/99/198	William Jackson	Harriet Beeley
4/100/199	Richard Savage	Mary Beatson
4/100/200	John Illingworth	Elizabeth Smadley
4/101/201	William Eblet	Sarah Wallace
4/101/202	Benjamin Wright	Ruth Burkinshaw
4/102/203	Henry Madin	Ann Bramley
4/102/204	John Barnes	Nancy Housley
4/103/205	George Longley	Ann Tyas
4/103/206	Thomas Horn	Selina Buckley
4/104/207	John Depledge	Emma Bradshaw
4/104/208	James Bullas	Hannah Thorpe
4/105/209	Francis Robinson	Elizabeth Haywood
4/105/210	George Maltby	Elizabeth Cowley
4/106/211	Samuel Buxton	Elizabeth Jepson
4/106/212	John Brennan	Maria Mulligan
4/107/213	Joseph Greaves	Mary Richardson
4/107/214	John Harrison	Ann Cooper
4/108/215	John Holmes	Kesia Woodruffe
4/108/216	William Stanfield	Ann Ward
4/109/217	George Clayton	Margaret Firth
4/109/218	Henry Wood	Mary Ann Hunter
4/110/219	Thomas Wells	Mary Ann Hallatt
4/110/220	Zebulun Wilkinson	Jane Arnold

4/111/221	Benjamin Marsden	Sarah Bingham
4/111/222	Solomon Marsden	Jane Fairest
4/112/223	Samuel Wells	Hannah Kirk
4/112/224	Joseph Williamson	Hannah Twigg
4/113/225	James Nelson	Peggy Kenyon
4/113/226	James Mahon	Elizabeth Mooney
4/114/227	George Barnett	Sarah Bottom
4/114/228	Alfred Nowell	Mary Bussey
4/115/229	Joseph Cartledge	Sarah Booker
4/115/230	Richard Wade	Sarah Penelope Baines
4/116/231	William Coates	Nancy Smith
4/116/232	John Armitage	Ann Marsh
4/117/233	George Needham	Elizabeth Wood
4/117/234	Joseph Elliott	Catherine Brown
4/118/235	Thomas Bowler	Hannah Fidler
4/118/236	Matthew Holmshaw	Jane Tattershall
4/119/237	John Coupland	Annis Hague
4/119/238	Alexander Milner	Mary Wainwright
4/120/239	Joseph Barker	Nancy Harrison
4/120/240	Thomas Couch	Annis Hall
4/121/241	George Lallemand	Ann Wilcockson
4/121/242	Thomas Wainwright	Caroline Scolah
4/122/243	John Bulsover	Harriet Rotherham
4/122/244	John Hopkinson	Martha Tingle
4/123/245	Francis Newton	Ann Crawshaw
4/123/246	Enock Holland	Ann Osbaldeston
4/124/247	Brook Hollis	Hannah Hall
4/124/248	William Allcard	Sarah Marsden
4/125/249	John Barker	Elizabeth Billard
4/125/250	Thomas Clarke	Harriet Pass
4/126/251	Thomas Lowe	Eliza Dickinson
4/126/252	David Thompson	Ann Wilby
4/127/253	William Sellars	Elizabeth Wilby
4/127/254	Joseph Hullett	Ann Hill
4/128/255	James Greenwood	Ann Holmes
4/128/256	William Garner	Mary Ann Smith
4/129/257	George Bobker	Sarah Bennett
4/129/258	Joseph Shirtcliffe	Elizabeth Roebuck
4/130/259	John Green	Emma Hancock
4/130/260	Joseph Wilde	Mary Trought
4/131/261	James Levick	Averilda Newbold
4/132/262	Abraham Law	Harriet Burgin
4/132/263	James Thackray	Eliza Couldwell
4/132/264	Robert Scafe	Harriet Speight

4/133/265	Charles Green	Martha Goddard
4/133/266	Thomas Hopkinson	Henrietta Oldham
4/134/267	Joseph Middleton	Ann Barton
4/134/268	John Bennett	Elizabeth White
4/135/269	Roger Knight	Mary Scott
4/135/270	William Regester	Charlotte Bower
4/136/271	John Milner	Emma Bownes
4/136/272	William Charlton	Mary Dungworth
4/137/273	Samuel Winks	Ann Crowder
4/137/274	Benjamin Gray	Caroline Vessey
4/138/275	John Bunting	Mary Gambles
4/138/276	Richard Garton	Catherine Hewitt
4/139/277	Samuel Buttle Cooper	Mary Ellen Binge
4/139/278	John King	Ann Brinnan
4/140/279	George Monkton	Mary Ann Stones
4/140/280	William Cooper	MaryHawksworth
4/141/281	Frederick Jenkinson	Sarah Ann Bingham
4/141/282	George Buxton Pearson	Martha Kenyon
4/142/283	Charles Godburn	Elizabeth Lyons
4/142/284	Richard Oglesby	Ann Cottingham
4/143/285	Charles Gleadall	Ann Clarke
4/143/286	Joseph Beighton	Elizabeth Senior
4/144/287	William Trickett	Eliza Trickett
4/144/288	John Peacock	Martha Kitson
4/145/289	Thomas Loxley	Susanna Philips
4/145/290	Henry Taylor	Elizabeth Foster
4/146/291	George Harwood	Sarah Burdin
4/146/292	Thomas Marsden	Ann Walton
4/147/293	William Cocker	Elizabeth Woolhouse
4/147/294	Robert Beardshaw	Caroline Bishop
4/148/295	Thomas Ashmore	Mary Royston
4/148/296	George Fox	Jane Rycroft
4/149/297	John Shipley	Jane Sanders
4/149/298	John Nowill	Ellen Garner
4/150/299	Thomas Arthur	Christiana Dearden
4/150/300	William Rawson	Mary Ann Gregory
4/151/301	John Boole Young	Mary Ann Jessop
4/151/302	Samuel Hoodson	Elizabeth Newton
4/152/303	Francis Lees	Sarah Parkin
4/152/304	Isaac Hudson	Mary Ann Folkard
4/153/305	Thomas Tyler	Ann Taylor
4/153/306	Joseph Nock	Elizabeth Rodgers
4/154/307	George Feltrup	Mary Ann Smith
4/154/308	William Fretwell	Hannah Hanson

4/155/309	Robert Ward	Lucy Shaw
4/155/310	William Bennett	Emma Abbott
4/156/311	William Street	Ann Bell
4/156/312	Robert Neill	Maria Skidmore
4/157/313	John Moulson	Sarah Whiteley
4/157/314	John Park	Sarah Hamerton
4/158/315	William Nelson	Ann Maden
4/158/316	John Goodison	Rebecca France
4/159/317	John Breedon	Ann Holiday
4/159/318	George Broadhead	Mary Elliott
4/160/319	George Smith	Mary Greensmith
4/160/320	Charles Gace	Matilda Hawsworth
4/161/321	Abraham Ibbotson	Elizabeth Richardson
4/161/322	Arthur Micklethwaite	Mary May
4/162/323	Henry Platts	Mary Bolsover
4/162/324	John Matthews	Janet Thornley
4/163/325	Joseph Cantrill	Ann Pollard
4/163/326	William Webster	Mary Pryor
4/164/327	John Griffiths	Ann Godbehere
4/164/328	Thomas Hague	Ann Kent
4/165/329	Henry Jessop	Mary Ann Dawson
4/165/330	Richard Sorby	Margaret Green
4/166/331	Thomas Lingard	Mary Deakin
4/166/332	John Webster	Ellen Barker
4/167/333	William Tyzack	Fanny Heward
4/167/334	John Foot	Lydia Knowles
4/168/335	Daniel Oates	Hannah Parkin
4/168/336	Charles Siddall	Maria Woodward
4/169/337	George Carter	Ann Hodgkinson
4/169/338	John Smith	Mary Ann Monks
4/170/339	Charles Whitworth	Elizabeth Lenthall
4/170/340	Joseph Gillatt	Joanna Smith
4/171/341	John Williams (age 23)	Rosanna Hall
4/172/342	John Dixon	Sarah Gould
4/172/343	John Williams (age 41)	Mary Barnby
4/172/344	Joseph Oxley	Mary Elliott
4/173/345	John Hancock	Mary Ann Grayson
4/173/346	Verdon Speight	Eliza Hague
4/174/347	Joseph Crossland	Hannah Blackburn
4/175/348	George Greaves	Mary Outram
4/175/349	Benjamin Wilkinson	Mary Grime
4/175/350	John Coldwell	Lydia Tomlinson
4/176/351	William Dawson	Maria Taylor
4/176/352	Robert Hargreaves	Louisa Ward

4/177/353	William Shaw	Martha Bramall
4/177/354	George Doncaster	Ann Buzzard
4/178/355	William Speight	Kezia Duck
4/178/356	George Rowbottom	Elizabeth Vickers
4/179/357	John Seymour	Harriet Shipman
4/179/358	William Neil	Elizabeth Binney
4/180/359	George Waite	Mary Ann Revill
4/180/360	Mark Walton	Emma Hadfield
4/181/361	William Wingate	Mary Stevenson
4/181/362	Joseph Sorsby	Esther Lunn
4/182/363	John Buck	Ann Johnson
4/182/364	Francis Siddall	Sarah Johnson
4/183/365	William Gill	Mary Powell
4/183/366	John Clark	Ann Lynch
4/184/367	James Taylor	Ann Darwent
4/184/368	George Green	Elizabeth Jennings
4/185/369	William Fletcher	Phebe Pryor
4/185/370	Joshua White	Catherine Aldam
4/186/371	William Richards	Mary Arnold
4/186/372	John Slinn	Martha Sayles
4/187/373	Joseph Marshall	Ann Holmshaw
4/187/374	William Ward	Elizabeth Bell
4/188/375	Thomas Bromley	Mary Toyne
4/188/376	George Hallifax	Jane Hobson
4/189/377	John Bishop	Sarah Pinder
4/189/378	James Turner	Mary Fairburn
4/190/379	Joseph Billing	Elizabeth Wilkinson
4/190/380	George Whitaker	Ann Dyson
4/191/381	John Dyson	Mary Ann Gillott
4/191/382	Joseph Woodhead	Ann Stevenson
4/192/383	David Carlier	Eliza Mount
4/192/384	Job Goodwin	Elizabeth Wright
4/193/385	George Coggin	Martha Gibson
4/193/386	David Waller	Ann Smith
4/194/387	William Thomas Mawman	Ann Bell
4/194/388	William Spong	Jane Earnshaw
4/195/389	Samuel Clarke	Selina Blagden
4/195/390	John Gray	Ann Wolstenholme
4/196/391	James Whitehead	Mary Peace Stones
4/196/392	Robert Johnson	Mary Rowland
4/197/393	John Buxton	Elizabeth Carnall
4/197/394	George Wilkinson	Mary Chambers
4/198/395	Henry Thompson	Hannah Hargate
4/198/396	William Senior	Esther Trickitt

4/199/397	Thomas Carbutt	Eliza Howe
4/199/398	Samuel Meek	Elizabeth McCann
4/200/399	John Ward	Caroline Carr
4/200/400	William Mortom	Harriet Barnes
4/201/401	Joseph Ingham	Ann Windle
4/201/402	William Hipkiss	Hannah Knight
4/202/403	Edward Moore	Sarah Booth
4/202/404	John Askey	Elizabeth Seaton
4/203/405	Henry Waddison	Mary Booker
4/203/406	Henry Ducker	Mary Gray
4/204/407	Thomas Howe	Hannah Singleton
4/204/408	William Clayton	Mary Turner
4/205/409	John Smith	Sarah Knowles
4/205/410	Joseph Rose	Mary Thackray
4/206/411	John Brelsforth	Georgina Lallimand
4/206/412	Joseph Taylor	Mary Cottingham
4/207/413	Thomas Elam	Mary Ann Wilkins
4/207/414	Thomas Twigg	Mary Piggott
4/208/415	George Hardy	Ann Cowin
4/208/416	Samuel Wills	Lucy Fells
4/209/417	Martin Spence	Sarah Allen
4/209/418	William Needham	Elizabeth Wray
4/210/419	Thomas Costelow	Mary Ann Chatterton
4/210/420	Thomas Slinn	Elizabeth MERRILL Nightingale
4/211/421	William Gomersall	Mary Turner
4/211/422	Benjamin Roberts	Eliza Smith
4/212/423	William Lewers	Frances Goddard
4/212/424	John Atkin	Mary Knight
4/213/425	Joseph Blacktin	Jane Hipkiss
4/213/426	Thomas Skiers	Elizabeth Littlewood
4/214/427	George Harrison	Harriet Swindell
4/214/428	John Blankley Lister	Emma Kirkby
4/215/429	Alfred Crow	Frances Jenkinson
4/215/430	John Fife	Betsey Beatson
4/216/431	William Swindell	Eliza Handley
4/216/432	Benjamin Mortom	Ellen Fletcher
4/217/433	George Wilkinson	Sarah Hobson
4/217/434	David Purdon	Hannah Thornsley
4/218/435	Thomas Hewitt	Ellen Ashton
4/218/436	William Walker	Harriet Mouncey
4/219/437	Henry Land	Elizabeth Hall
4/219/438	John French	Ellen Twigg
4/220/439	Thomas Baker	Mary Burchby
4/220/440	James Beardow	Mary Pogmore

4/221/441	Joseph Webster	Emma Booth
4/221/442	Robert Grays	Sarah Needham
4/222/443	Henry Clegg	Mary Furniss
4/222/444	Henry Robinson	Charlette Robinson Cowlshaw
4/223/445	William Grundy	Elenor Taylor
4/223/446	John Turner	Sarah Hill
4/224/447	James Burch	Sarah Barber
4/224/448	Alfred Booth	Martha Jones
4/225/449	Samuel Sykes	Elizabeth Gillott
4/225/450	John Whitehead	Ann Bromley
4/226/451	John Greenwood	Harriet Hague
4/226/452	Thomas Sellers	Ann Taylor
4/227/453	William Walker	Ann Brwon
4/227/454	James Gaffney	Margaret Kelly
3/228/455	John Howell	Elizabeth Snidall
4/228/456	Henry Creed	Mary Hunt
4/229/457	James Gibson	Sarah Fenwick
4/229/458	James Spalding	Elizabeth Nassau
4/230/459	Robert Salt	Ann Spencer
4/230/460	John Davidson	Hannah Grewes
4/231/461	James Mason (age 22)	Hannah Gary
4/231/462	John South	Ann Gillott
4/232/463	John Johnson	Ann Milner
4/232/464	James Talbot	Eliza Charles
4/233/465	George Weetman	Sarah Hukin
4/233/466	James Mount	Elizabeth Gleadall
4/234/467	Richard Robinson Prior	Sarah Lawrence
4/234/468	James Mason (age 21)	Sarah Shepherd
4/235/469	Edwin Lloyd	Ann Shannon
4/235/470	Thomas Storey	Martha Cooper
4/236/471	Isaac Lomas	Hannah Prince
4/236/472	James Boden	Harriet Allen
4/237/473	William Trawiss	Mary Ann Ward
4/237/474	Matthew Crossland	Ann Lee
4/238/475	William Pearson	Ann Frances Crossley
4/238/476	Samuel Twigg	Mary Ann Toyne
4/239/477	Thomas Clayton	Ann Crossland
4/239/478	William Staniforth	Hannah Swinden
4/240/479	William Whitehead	Ann Cooper
4/240/480	Joseph Redfearn	Mary Armitage
4/241/481	John Macvoy	Charlotte Addy
4/241/482	Thomas Grafton	Ann Parkin
4/242/483	William Marshall	Rosanna Cain
4/242/484	Christopher Wales	Mary Ann Harrod

4/243/485	Thomas Fidler	Selina Deam
4/243/486	Orlando Spur	Eliza Hibbert
4/244/487	Richard John Sutcliffe Mellin	Eliza Froggatt
4/244/488	James Dalton	Elizabeth Baker
4/245/489	George Fletcher	Edah Smith
4/245/490	Samuel Hirst	Mary Ann Dungworth
4/246/491	John Allen	Ann Fletcher
4/246/492	John Smith	Elizabeth Watkinson
4/247/493	Benjamin Street	Elizabeth Rowbotham
4/247/494	Joseph Hawksworth	Sarah Webster
4/248/495	Charles Noble	Sarah Archer
4/248/496	William Read	Lucy Jennett
4/249/497	John Kelk	Ann North
4/249/498	John Harrisom	Elizabeth Pilley
4/250/499	Henry Parkin	Mary Poules
4/250/500	Thomas Reeves	Harriett Wall

END OF BOOK '4'

ABBOTT Emma 4/155/310.
ACKROYD William 4/83/165.
ADDY Charlotte 4/241/481.
AINLEY Thomas 4/50/100.
ALCOCK George 4/83/166.
ALDAM Catherine 4/185/370.
ALLCARD William 4/124/248.
ALLEN Charlotte 3/40/79. Eliza 4/4/7. Harriett 3/236/472. John 3/246/491. Sarah 4/209/417.
ALLISON Sarah 4/1/2.
ANDREWS Elizabeth Ann 4/50/100.
APPLEBY Mary Ann 4/76/152.
APPLETON Joseph Hall 4/40/80.
ARCHER Sarah 4/248/495.
ARDRON William 4/37/73.
ARMITAGE John 4/116/232. Mary 4/240/480. Thomas 3/54/108.
ARNOLD Jane 4/110/220. Mary 4/186/371.
ARTHUR Thomas 4/150/299.
ASH Richard 4/65/130.
ASHER Elizabeth Winter 4/77/154.
ASHMORE Thomas 4/148/295.
ASHTON Ellen 4/218/435. Hannah 4/35/69. Mary Ann 4/34/68.
ASKEY John 3/202/404.
ASPINALL Ann 4/62/123.
ATKIN John 4/212/424.
AUDUS John 4/70/140.

BACON Edward 4/54/107.
BAGSHAW Elizabeth 4/84/167. Sarah 4/57/114.
BAILEY Joseph 4/50/99.
BAINES Sarah Penelope 4/115/230.
BAKER Elizabeth 4/244/488. Thomas 4/220/439.
BANNISTER Henry 4/53/105.
BARBER Sarah 4/224/447. Thomas 4/61/122.
BARKER Eliza 4/92/184. Ellen 4/166/332. John 4/125/249. Joseph 4/21/42, 4/120/239.
 Mary 4/37/73. Thomas 4/97/193. William 4/6/11.
BARNBY Mary 4/172/343.
BARNES Charles 4/95/189. Harriett 4/200/400. John 4/102/204.
BARNETT George 4/114/227.
BARRETT Mary 4/32/64.
BARTLE Elizabeth 4/78/155.
BARTON Ann 4/134/267.
BATE(S) Joshua 4/78/156. Mary 4/24/48.
BATTISON Elizabeth 4/61/122.
BAXTER Samuel 3/18/35. William 4/11/22.

BEARDOW James 4/220/440.
BEARDSHAW Robert 4/147/294.
BEATSON Betsy 4/215/430. Charlotte 4/55/110. Mary 4/25/50, 4/100/199.
BEAUMONT Charles 4/52/103. Robert 4/78/155.
BEELEY Harriet 4/99/198.
BEIGHTON Joseph 4/143/286.
BELK John 4/26/52.
BELL Ann 4/156/311, 4/194/397. Elizabeth 4/187/374.
BELLAMY Ann 4/91/182. Harriet 4/73/145.
BENNETT John 4/134/268. Sarah 4/129/257. William 4/155/310.
BERISFORD Peter 4/90/179.
BIBBS Ann 4/57/113.
BIGGIN John 4/57/114.
BILLARD Elizabeth 4/125/249.
BELLING Joseph 4/190/379.
BINGE Mary Ellen 4/139/277.
BINGHAM Frances 4/96/192. Sarah 4/111/221. Sarah Jane 4/141/281.
BINNEY Elizabeth 4/179/358. Mary 4/56/111.
BIRKS William Bladworth 4/82/163.
BISHOP Caroline 4/147/294. John 4/189/377.
BLACKBURN Ellen 4/47/94. Hannah 4/174/347.
BLACKTIN Joseph 4/213/425.
BLACKWELL Mary 4/54/108.
BLAGDEN Selina 4/195/389.
BLOOD Mary 4/25/49.
BODEN James 4/236/472.
BOISOVER (BOULSOVER) John 4/122/243. Mary 4/162/323.
BOOKER George 4/129/257. John 4/47/93. Mary 4/203/405. Sarah 4/115/229.
BOOT Mary Ann 4/15/29.
BOOTH Alfred 4/224/448. Emma 4/221/441. Joseph 4/13/26. Rebecca 4/53/106. Sarah 4/202/403.
BOOTHBY Penelope 4/13/25.
BOTTOM Sarah 4/114/227.
BOULDEN Peter 4/36/71.
BOWER Charlotte 4/135/270.
BOWLER Thomas 4/118/235.
BOWNES Emma 4/136/271.
BOYCE Ellen 4/86/172.
BOYD Elizabeth 4/59/118.
BRADFORD Elizabeth 4/10/19. Fanny 4/36/71.
BRADSHAW Emma 4/104/207. Jane 4/82/164. Mary 4/68/136. William 4/28/55.
BRAMALL Martha 4/177/353.
BRAMLEY Ann 4/102/203.
BRANFORD William 4/88/176.
BREEDON John 4/159/317.
BRELSFORTH John 4/206/411.

BRENNAN (BRINNAN) Ann 4/139/278. John 4/106/212.
BRIGGS Mary Ann 4/95/190. Sarah 4/90/179.
BROADBENT Sarah 4/46/92.
BROADHEAD George 4/159/318.
BROADHIRST (BROADHURST) Ann 4/65/129. James 4/35/69.
BROMLEY Ann 4/225/450. Thomas 4/188/375.
BROOMHEAD Henry 4/60/119.
BROWN(E) Ann 4/227/453. Catherine 4/117/234. Martha 4/4/8. Thomas Cooper 4/47/94.
BUCK John 4/182/363.
BUCKLEY Selina 4/103/206.
BULLAS James. 4/104/208.
BUNTING John 4/138/275.
BURCH James 4/224/447.
BURCHBY Mary 4/70/140, 4/220/439.
BURDEN (BURDIN) Maria 4/22/43. Sarah 4/146/291.
BURGIN Harriet 3/131/262.
BURKINSHAW Ruth 4/101/202.
BURNAND Mary 4/19/37.
BUSSEY Mary 4/114/228.
BUTLER William 4/14/28.
BUTTERFIELD Mary 4/83/176.
BUXTON Edward 4/94/188. John 4/197/393. Samuel 4/106/211.
BUZZARD Ann 4/177/354.

CAINE Rosanna. 4/242/483.
CANN Elizabeth Margaret 4/2/3.
CANTRILL Joseph 4/163/325.
CARBUTT Thomas 4/199/397.
CARNALL Elizabeth 4/197/393.
CARR Caroline 4/200/399. George 4/44/88.
CARTER George 4/169/337.
CARTLEDGE Joseph 4/115/229.
CHAMBERS Mary 4/197/394.
CHANTREY Elizabeth 4/58/115.
CHAPMAN Mary 4/59/117.
CHARLES Eliza 4/232/464.
CHARLTON William 4/136/272.
CHATTERTON Mary Ann 4/210/419.
CLARK(E) Ann 4/78/156, 4/143/285. Edward 4/76/152. John 4/27/54, 4/183/366. Samuel
4/195/389. Thomas 4/125/250.
CLAYTON George 4/109/217. Thomas 4/239/477. William 4/204/408.
CLEGG Henry 4/222/443.
COATES William 4/116/231.
COCKAYNE Mary 4/8/16.
COCKER William 4/147/293.

COGGIN George 4/193/385.
COLLIER (CARLIER) ~~FRANK~~ Charles 4/21/41. David 4/192/383.
CONNERS Thomas 4/3/5.
COOPER Ann 4/107/214, 4/240/479. Martha 4/235/470. Mary 4/60/120. Samuel Buttle 4/139/277.
William 4/140/280.
GOOPLAND John 4/119/237.
COPLEY Frederick 4/51/102.
CORKER William 4/62/123.
COSTELOW Thomas 4/210/419.
COTTINGHAM Ann 4/142/284. Mary 4/206/412.
COTTON George 4/73/145.
COUCH Thomas 4/120/240.
COULDWELL (COLDWELL) Eliza 4/132/263. John 4/175/350.
COWIN Ann 4/208/415.
COWLEY Elizabeth 4/105/210. Martha 4/2/4.
COWLISHAW Charlotte Robinson 4/222/444.
CRAPPER Grace 4/38/75.
CRAWSHAW Ann 4/123/245.
CREED Henry 4/228/456.
CRESWICK Hannah 4/93/185.
CROOKES John Kirk 4/30/60. Mary Ann 4/93/186. William 4/84/167.
CROSSLAND Ann 4/239/477. Joseph 4/174/347. Matthew 4/237/474.
CROSSLEY Ann Frances 4/238/475.
CROW Alfred 4/215/429.
CROWDER Ann 4/137/273.
CURR Henry 4/320/64.
CUTTS William 4/71/142.

DALTON James 4/244/488.
DARLING Matthew 4/91/181.
DARRAGH Daniel 4/71/141.
DARWENT Ann 4/184/367.
DARWIN Sarah 4/79/158.
DAVIDSON John 4/230/460.
DAWSON Mary Ann 4/165/329. William 4/70/139, 4/176/351.
DEAKIN Mary 4/166/331.
DEAN Aaron 4/81/162. Selina 4/243/485.
DEARDEN Christiana 4/150/299.
DENNIS Alfred 4/42/84.
DEPLEDGE John 4/104/207. Martha 4/74/148.
SICKINSON Eliza 4/126/251.
DISSBURY Mary 4/49/97.
DIXON John 4/171/342.
DODDS William 4/20/40.
DODWORTH Alfred 4/320/63.

DONCASTER George 4/177/354.
DOWNEND Sarah Ann 4/91/181.
DOWNES Elizabeth 4/29/58.
DRABBLE Joseph 4/31/61.
DRAPER Richard 4/40/79.
DUCK Kezia 4/178/355.
DUCKER Henry 4/203/406.
DUNGWORTH Mary 4/136/272. Mary Ann 4/245/490.
DYSON Ann 4/18/35, 4/190/380. Thomas 4/57/113.

EARNSHAW Jane 4/194/388.
EASTWOOD Sarah 4/22/44.
EBLET William 4/101/201.
ELAM Thomas 4/207/413.
ELLIOTT Joseph 4/117/234. Mary 4/159/318, 4/172/344.

FAIRBURN Mary 4/189/378.
FAIREST Jane 4/111/222.
FELLS Lucy 4/208/416.
FELTHAM James 4/5/9.
FELTRUP George 4/154/307.
FENWICK Sarah 4/229/457.
FERGUSON John 4/85/169.
FIDLER Hannah 4/118/235. Thomas 4/243/485.
FIELD John 4/99/197.
FIFE John 4/215/430.
FINNINGLEY Rebecca 4/111/22.
FIRTH Margaret 4/109/217.
FLETCHER Ann 4/246/491. Ellen 4/216/432. George 4/245/489. William 4/185/369.
FLINT Ann 4/47/93. Joseph 4/10/20.
FOLKARD Mary Ann 4/152/304.
FOOT John 4/167/334.
FORD Anthony 4/9/17. Samuel 4/15/30.
FOSTER Elizabeth 4/145/290.
FOULSTONE John 4/35/70. William 4/111/21.
FOX George 4/148/296. Thomas 4/62/124.
FRANCE Joseph 4/19/38. Rebecca 4/158/316.
FRANCIS James 4/76/151.
FREEMAN Thomas 4/73/146.
FRENCH John 4/219/438.
FRETWELL James 4/8/15. William 4/154/308.
FRODSHAM Sarah Ann 4/39/77.
FROGGATT Eliza 4/244/487. George 4/43/86.
FROST Ann 4/24/47. George 4/15/29.
FURNISS Mary 4/222/443.

GACE Charles 4/160/320.
GAFFNEY James 4/227/454.
GAMBLES Mary 4/138/275.
GARNER Ellen 4/149/298, William 4/128/256.
GARNETT William 4/96/191.
GARTON Richard 4/138/276.
GIBBONS John 4/58/115.
GIBSON James 4/229/457, Martha 4/193/385.
GILL Eliza 4/21/41, William 4/183/365.
GILLOTT (GILLATT) Ann 4/231/462, Elizabeth 4/225/449, George 4/36/72, Joseph 4/170/340.
 Mary Ann 4/191/381.
GLEADALL Charles 4/143/285, Elizabeth 4/233/466.
GODBEHERE Ann 4/164/327.
GODBURN Charles 4/142/283.
GODDARD Frances 4/212/423, John 4/66/131, Martha 4/133/265.
GOMERSALL William 4/211/421.
GOODISON John 4/158/316.
GOODLAD Fanny 4/33/66.
GOODWIN Job 4/192/384.
GOSNEY Mary Ann 4/16/31.
GOULD Sarah 4/171/342.
GRAFTON Thomas 4/241/482.
GRAVS Robert 4/221/442.
GRAY Benjamin 3/137/274, Hannah 4/231/461, John 4/195/390, Mary 4/203/406.
GRAYSON Mary Ann 4/173/345.
GREAVES George 4/174/348, Hannah 4/230/460, Joseph 4/107/213.
GREEN Ann 4/5/10, Charles 4/133/265, Elizabeth 4/64/128, George 4/184/368, John
 4/130/259, Margaret 4/165/330, Mary 4/28/56, Matilda 4/75/149.
GREENSMITH Mary 4/160/319.
GREENWOOD James 4/128/255, John 4/226/451.
GREGORY John 4/72/144, Mary Ann 4/150/300.
GRIFFITHS John 4/164/327.
GRIME Mary 4/175/349.
GRUNDY William 4/223/445.
GUEST Mary 4/73/146, Sarah 4/71/142.
GUNNELL Thomas 4/77/154.

HACKITT John 4/27/53.
HADFIELD Emma 4/180/360, James 4/97/194.
HAGUE Annis 4/119/237, Eliza 4/173/346, Harriet 4/226/451, John 4/39/78, Thomas 4/164/328.
HALL Ann 4/88/175, Annis 4/120/240, Elizabeth 4/219/437, Hannah 4/124/247, Joseph
 4/75/149, Rosanna 4/171/341, Sarah 4/77/153, William 4/74/147.
HALLAM Robert 4/80/160.
HALLATT Mary Ann 4/110/219.
HALLIFAX George 4/188/376.

HAMMERTON Joseph 4/22/44. Sarah 4/157/314.
HAMSHAW John 4/26/51.
HANCOCK Emma 4/130/259. John 4/173/345.
HANDLEY Eliza 4/216/431.
HANSON Hannah 4/154/308.
HARDACRE Thomas 4/51/101.
HARDY George 4/208/415.
HARGATE Hannah 4/198/395.
HARGREAVES Robert 4/176/352.
HARRISON George 4/214/427. John 4/107/214, 4/249/498. Nancy 4/120/239.
HARROD Mary Ann 4/242/484.
HARTLEY Sarah 4/67/133.
HARVEY Susanna 4/80/159.
HARWOOD George 4/146/291.
HATFIELD George Milnes 4/2/3.
HATTERSLEY Hannah 4/33/65.
HAWKSWORTH Joseph 4/247/494. Mary 4/140/280. Matilda 4/160/320.
HAYWOOD Elizabeth 4/105/209. William 4/45/89.
HAZLEHURST George 4/17/34.
HEMMINGS Caroline 4/13/26.
HESSEY Joseph 4/75/150.
HETHERSHAW John 4/10/19.
HEWARD Fanny 4/167/333.
HEWITT Catherine 4/138/276. Peter 4/89/178. Thomas 4/218/435.
HIBBERSON Martin 4/7/14.
HIBBERT Eliza 4/243/486.
HIDES John 4/33/66.
HIGGINS Eliza 4/54/107.
HILL Ann 4/127/254. Martha 4/11/21. Sarah 4/223/446.
HINCHLIFFE Hannah 4/94/188.
HIPKISS Jane 4/213/425. William 4/201/402.
HIRST Augusta 4/52/104. Samuel 4/245/490.
HOBBIS Thomas 4/67/134.
HOBSON Jane 4/188/376. Sarah 4/217/433.
HODGKINSON Ann 4/169/337. Margaret 4/74/147.
HOLDSTOCK Henry 4/5/10.
HOLDSWORTH John 4/85/170.
HOLIDAY Ann 4/159/317.
HOLLAND Enock 4/123/246. Mary 4/83/165.
HOLLIS Brook 4/124/247.
HOLMES Ann 4/128/255. John 4/108/215. Sarah 4/31/62.
HOLMSHAW Ann 4/187/373. Matthew 4/118/236.
HOOSON Samuel 4/151/302.
HOPKINSON John 4/122/244. Thomas 4/133/266.
HOPEWELL William 4/31/62.

HORN Thomas 4/103/206.
HOUSLEY Nancy 4/102/204.
HOWARD Esther 4/63/126.
HOWE Eliza 4/199/397. Thomas 4/204/407.
HOWELL John 4/228/455.
HOWSON George 4/41/81. Harriet 4/41/82.
HOYLAND Harriet 4/68/135.
HUDSON Isaac 4/152/304.
HUKIN Sarah 4/233/465.
HULLETT Joseph 4/127/254.
HUNT Mary 4/228/456.
HUNTER Mary Ann 4/109/218.
HUTCHINSON Mary Ann 4/92/183.
HUTTON Ann 4/30/60.

IBBOTSON Abraham 4/161/321. John 4/16/32.
ILLINGWORTH John 4/100/200. Mary 4/61/121.
INGHAM Joseph 4/201/401.

JACKSON Joseph 4/60/120. Mary 4/6/12. William 4/87/174, 4/99/198.
JAMES Israel 4/53/106.
JENKIN John 4/91/182.
JENKINSON Frances 4/215/429. Frederick ~~4/37/74~~ 4/141/281. William 4/37/74.
JENNETT Lucy 4/248/496.
JENNINGS Elizabeth 4/184/368.
JEPSON Charles 4/14/27. Elizabeth 4/106/211.
JESSOP Henry 4/165/329. Mary Ann 4/151/301.
JOHNSON Ann 4/182/363. John 4/232/463. Mary 4/65/130. Robert 4/196/392. Sarah 4/182/364.
JONES Martha 4/224/448.

KAY Jane 4/46/91. Mary Ann 4/30/59.
KEETON John 4/44/87.
KELK John 4/249/497. Mary 4/84/168.
KELLY Margaret 4/227/454.
KENT Ann 4/164/328.
KENYON Martha 4/141/282. Peggy 4/113/225.
KING John 4/139/278.
KIRK Hannah 4/112/223.
KIRKBY Emma 4/214/428.
KITCHEN Harriet 4/60/119.
KITSON Martha 4/144/288.
KNIGHT Hannah 4/201/402. Mary 4/212/424. Roger 4/135/269.
KNOWLES Lydia 4/167/334. Sarah 4/205/409.

LALLEMAND George 4/121/241. Georgina 4/206/411.
LAMB George 4/22/43.
LAND Henry 4/219/437.
LANT Eliza 4/63/125.
LAW Abraham 4/131/262.
LAWRENCE Sarah 4/234/467.
LAWTON Mary 4/16/32.
LAYCOCK Samuel 4/94/187.
LEE(S) Ann 4/237/474. Frances 4/152/303. George 4/46/91. John 4/4/8,
LEEK Jane 4/20/39;
LENTHALL Elizabeth 4/170/339.
LEVICK James 4/131/261.
LEWERS William 4/212/423.
LINGARD Isaac 4/12/24. Thomas 4/166/331.
LINTON Joseph 4/87/173.
LIPROT Elizabeth 4/66/132.
LISTER John Blankley 4/214/428,
LITTLEWOOD Elizabeth 4/213/426. Sarah 4/51/101.
LLOYD Edwin 4/235/469.
LOCKWOOD Elizabeth 4/20/40.
LOMAS Isaac 4/236/471.
LONGLEY George 4/103/205.
LOVE Daniel 4/43/85. Ellen 4/53/105.
LOWE Thomas 4/126/251.
LOXLEY Thomas 4/145/289. William 4/28/56.
LUNN Esther 4/181/362.
LYNCH Ann 4/183/366.
LYONS Elizabeth 4/142/283.

MACHIN Joseph 4/55/109.
MACVOY John 4/241/481.
MADIN (MADEN) Ann 4/158/315. Henry 4/102/203.
MAHON James 4/113/226.
MALLINDERS Ann 4/3/5.
MALTBY George 4/105/210.
MANFIELD Mary 4/15/30.
MANN Joseph 4/45/90.
MANNING Isabella 4/9/17.
MAPPIN Charles 4/93/185.
MARSDEN Benjamin 4/111/221. Joseph 4/2/4. Sarah 4/124/248. Solomon 4/111/222. Thomas
4/146/292.
MARSH Ann 4/116/232. William 4/93/186.
MARSHALL Joseph 4/187/373. Samuel 4/64/128. William 4/33/65, 4/242/483.
MASON James 4/231/461. 4/234/468.
MATTHEWS John 4/162/324.

MAWMAN William Thomas 4/194/387.
MAY Mary 4/161/322. Robert 4/56/112.
McCANN Elizabeth 4/199/398.
McZUBAC Roger 4/86/172.
MEEK Samuel 4/199/398.
MELLEN Richard John Sutcliffe 4/244/487.
MEMMERT John 4/55/110.
MENNELL Elizabeth 4/5/9.
METTAM Elizabeth 4/38/76.
MICKLETHWAITE Arthur 4/161/322.
MIDDLETON James 4/98/196. Joseph 4/134/267.
MILLS Harriet 4/97/193.
MILNER Alexander 4/119/238. Ann 4/232/463. Caroline 4/79/157. John 4/136/271. Mary
4/17/34. Mary Ann 4/28/55.
MITCHELL(L) Ellen 4/80/160. John 4/92/184.
MONKS Mary Ann 4/169/338.
MONKTON George 4/140/279.
MOONEY Elizabeth 4/113/226.
MOORE Edward 4/202/403. Hannah 4/43/85. Sarah 4/45/90.
MOORHOUSE Martha 4/26/52.
MORTERSHAW Mary 4/8/15.
MORTON Alfred 4/86/171. Benjamin 4/16/31, 4/216/432. Catherine Maria 4/44/87. William
4/200/400.
MOSELEY (MOSLEY) Esther 4/56/112. George 4/7/13. Thomas 4/48/95.
MOULSON John 4/157/313.
MOUNCEY Harriet 4/218/436.
MOUNT Eliza 4/192/383. James 4/233/466.
MULLIGAN Maria 4/106/212.
MYCOCK James 4/49/97.

NADIN Samuel 4/1/2.
NASSHE Elizabeth 4/229/458.
NEEDHAM George 4/117/233. Robert 4/58/116. Sarah 4/221/442. William 4/209/418.
NELL(L) Robert 4/156/312. William 4/179/358.
NEILSON James 4/113/225. William 4/158/315.
NEWBOULD Averilda 4/131/261.
NEWTON Elizabeth 4/151/302. Francis 4/123/245.
NICHOLSON Ann 4/41/81.
NIGHTINGALE Elizabeth 4/210/420.
NOBLE Charles 4/248/495.
NOCK Joseph 4/153/306.
NORTH Ann 4/249/497.
NOWELL (NOWILL) Alfred 4/114/228. John 4/149/298.

OATES Daniel 4/168/335.

OGLESBY James 4/81/161. Richard 4/142/284.

OLDHAM Henrietta 4/133/266.

OSBALDESTON Ann 4/123/246.

OSCROFT Denis 4/41/82.

OSGATHORPE Caroline 4/75/150. James 4/25/50.

OUTRAM Mary 4/174/348.

OXLEY Joseph 4/172/344.

PARK John 4/157/314.

PARKER George 4/72/143.

PARKIN Ann 4/241/482. Hannah 4/168/335. Henry 4/67/133, 4/250/499. Sarah 4/152/303.

William 4/23/45. William Henry 4/49/98.

PASS Harriet 4/125/250.

PATTISON Mary Ann 4/7/14.

PEACOCK John 4/144/288.

PEARSON George Buxton 4/141/282. William 4/238/475.

PENISTON John 4/46/92.

PERKINS Richard 4/48/96.

PHILLIPS Sarah 4/69/137. Susanna 4/145/289.

PIGGOTT Mary 4/207/414.

PILLEY Elizabeth 4/249/498.

PINDER Sarah 4/189/377.

PLATTS Henry 4/162/323.

POGMORE Mary 4/220/440.

POLLARD Ann 4/163/325.

POULES Mary 4/250/499.

POWELL Mary 4/183/365. William 4/29/58.

PRICE Joseph 4/113/25.

PRIESTLEY Henry 4/38/76.

PRINCE Hannah 4/236/471.

PRYOR (PRIOR) Mary 4/163/326. Phebe 4/185/369. Richard Robinson 4/234/467.

PURDON David 4/217/434.

RABY Elizabeth 4/42/84.

RAINFORTH Benjamin 4/59/117.

RAWSON William 4/150/300.

READ William 4/248/496.

REDDISH Joseph 4/6/12.

REDFEARN Joseph 4/240/480.

REEVES Thomas 4/250/500.

REGISTER William 4/135/470.

REVILL Eliza 4/29/57. Elizabeth 4/83/166. Mary Ann 4/180/359.

RHODES Eliza 4/72/143.

RICHARDS William 4/186/371.

RICHARDSON Elizabeth 4/161/321. Mary 4/107/213.

RICHMOND Edward 4/69/138.
ROBERTS Benjamin 4/211/422.
ROBINSON Frances 4/37/74. Fran cis 4/105/209. Henry 4/222/444. Sarah Christiana 4/45/89.
RODGERS (ROGERS) Elizabeth 4/153/306. Martha 4/12/23, 4/12/24. Mary 4/34/67.
ROEBUCK Elizabeth 4/129/258.
ROLLINSON Joseph 4/42/83.
ROPER James 4/24/48.
ROSE Joseph 4/205/410.
ROTHERHAM Harriet 4/122/243.
ROWBOTTOM (ROWBOTHAM) Elizabeth 4/247/493. George 4/178/356.
ROWLAND Mary 4/196/392.
ROYSTON Mary 4/148/295.
RUSSELL Hannah 4/87/174.
RYCROFT Jane 4/148/296.

SALT Robert 4/230/459.
SANDERS Jane 4/149/297.
SANDERSON Joseph 4/9/18. Sarah 4/21/42.
SANFORTH Elizabeth 4/27/54. Esther 4/27/53.
SAVAGE Richard 4/100/199.
SAYLES Martha 4/186/372.
SCAFFE Robert 4/132/264.
SCAMADIN Martha 4/42/83.
SCHOFIELD John 4/1/1. Sarah 4/43/86.
SCORAH Caroline 4/121/242.
SCOTT Ann 4/66/131. Mary 4/135/269.
SEATON Elizabeth 4/202/404.
SELLERS Thomas 4/226/452.
SENIOR Elizabeth 4/143/286. William 4/198/396.
SEYMOUR John 4/179/357.
SHANNON Ann 4/235/469.
SHARP Charles 4/74/148.
SHAW Ann 4/35/70. Joseph 4/90/180. Lucy 4/155/309. Mary 4/1/1. William 4/177/353.
SHELDON Hannah 4/49/98.
SHEPHERD Job 4/25/49. John 4/59/118. Sarah 4/234/468.
SHIPLEY John 4/149/297.
SIDDALL Charles 4/168/336. Francis 4/182/364. Hannah 4/55/109.
SIMMONS Sarah 4/85/169.
SIMPSON Frances 4/17/33. Mary 4/39/88. Rebecca Skelton 4/97/194.
SINGLETON Hannah 4/204/407.
SKIDMORE Maria 4/156/312.
SKIERS Thomas 4/213/426.
SLINN John 4/186/372. Thomas 4/210/420.
SMEDLEY Elizabeth 4/100/200.

SMITH Ann 4/3/6, 4/193/386. Edah 4/245/489. Eliza 4/211/422. Elizabeth 4/23/46.
George 4/160/319. Joanna 4/170/340. John 4/169/338, 4/205/409, 4/246/492.
Martha 4/87/173. Mary Ann 4/128/256, 4/154/307. Nancy 4/116/231. Sarah 4/14/28,
4/64/127.

SNIDALL Elizabeth 4/228/455.

SORBY Richard 4/165/330.

SORSBY Joseph 4/181/362.

SOUTH John 4/231/462.

SPALDING James 4/229/458.

SPEIGHT Harriet 4/132/264. Verdon 4/173/346. William 4/178/355.

SPENCE Martin 4/209/417.

SPENCER Ann 4/230/459. Robert 4/69/137.

SPONG William 4/194/388.

SPOONER John 4/24/47.

SPOTSWOOD Sarah 4/48/95.

SPUR Orlando 4/243/486.

SPY Eliza 4/69/138.

STACEY Thomas 4/235/470.

STAMP Ralph 4/30/59.

STANFIELD William 4/108/216.

STANFORTH William 4/239/478.

STEEL John 4/63/126. Theresa 4/18/36.

STENTON Ann 4/81/161.

STEVENSON Ann 4/191/382. Eliza 4/19/38. Joseph 4/3/6. Mary 4/50/99, 4/181/361.

STOCKS Eliza 4/36/72.

STONES Mary Ann 4/140/279. Mary Peace 4/196/391.

STOREY Elizabeth 4/96/191.

STORK Edwin 4/63/125.

STREET Benjam 4/247/493. William 4/156/311.

STUART Ann 4/89/177.

STYRING Sarah 4/86/171.

SUTCLIFFE Henry 4/8/16.

SWIFT Nathaniel 4/39/77.

SWINDELL Harriet 4/214/427. William 4/216/431.

SWINDEN Hannah 4/239/478.

SYKES Henry 4/79/158. James 4/66/132. Samuel 4/225/449.

TALBOT James 4/232/464.

TANKARD Thomas 4/17/33.

TATTERSHALL Jane 4/118/236.

TAYLOR Ann 4/153/305, 4/226/452. Elenor 4/223/445. Henry 4/20/39, 4/145/290. James
4/184/367 $\frac{1}{2}$ Joseph 4/206/412. Maria 4/176/351. Mary 4/23/45, 4/89/178. Robert
4/80/159.

THACKRY (THACKRAY) James 4/132/263. Joseph 4/12/23.

THOMPSON David 4/126/252. Henry 4/198/395. John 4/61/121. Mary Ann 4/32/63. Sarah 4/9/18.

THORNLEY (THORNSLEY) Hannah 4/217/434. Janet 4/162/324.
THORPE Ann 4/44/88. Eliza 4/48/96. Hannah 4/104/208. Samuel 4/38/75.
TINGLE Martha 4/122/244.
TOMLINSON Lydia 4/175/350.
TOWNSEND Hannah 4/67/134.
TOYNE Mary 4/188/375. Mary Ann 4/238/476.
TRAVISS William 4/237/473.
TRICKETT Eliza 4/144/287. Esther 4/198/396. William 4/144/287.
TROTTER Ann 4/7/13.
TROUGHT Mary 4/130/260.
TURNER James 4/189/378. John 4/223/446. Mary 4/204/408, 4/211/421. William 4/34/68.
TURTON Mary Ann 4/81/162.
TWIGG Ellen 4/219/438. Hannah 4/112/224. Samuel 4/238/476. Thomas 4/207/414.
TYAS Ann 4/103/205.
TYE Sarah 4/14/27.
TYLER Thomas 4/153/305.
TYZACK Ann 4/62/124. William 4/167/333.

VAUSE William 4/88/175.
VESSEY Caroline 4/137/274.
VIEKERS Elizabeth 4/178/356.

WADE Augusta 4/52/103. Richard 4/115/230.
WAINWRIGHT Mary 4/119/238. Thomas 4/121/242.
WAITE George 4/180/359.
WALKER Ann 4/94/187. William 4/218/436, 4/227/453.
WALES Christopher 4/242/484. James 4/77/153.
WALL Harriet 4/250/500.
WALLACE Sarah 4/101/201. William 4/92/183.
WALLER David 4/193/386.
WALTON Ann 4/146/292. Mark 4/180/360.
WARD Ann 4/108/216. Elizabeth 4/98/196. John 4/82/164, 4/200/399. Louisa 4/176/352.
Mary Ann 4/237/473. Robert 4/155/309. William 4/64/127, 4/187/374.
WARNBY John 4/84/168.
WARREN Mary 4/85/170.
WARRINGTON Ann 4/72/144.
WASTENAGE Margaret 4/98/195.
WATERFALL Elizabeth 4/6/11.
WATKINSON Elizabeth 4/246/492.
WATSON Elizabeth 4/99/197. William 4/96/192.
WATTS John 4/4/7.
WEBSTER Ann 4/40/80. John 4/166/332. Joseph 4/221/441. Sarah 4/247/494. William 4/163/326.
WEBTMAN George 4/233/465.
WELLS Samuel 4/112/223. Thomas 4/110/219.
WESLEY Sarah Ann 4/76/151.

WESTON Elizabeth 4/95/189.

WHITAKER Elizabeth 4/71/141. George 4/190/380.

WHITE Ann 4/70/139½ Elizabeth 4/134/268. Joshua 4/185/370. Mary 4/58/116. William 4/79/157.

WHITEHEAD James 4/196/391. John 4/225/450. William 4/240/479.

WHITELEY Sarah 4/157/313.

WHELTWORTH Charles 4/170/339.

WIDDISON Henry 4/203/405.

WIGGLESWORTH James 4/34/67.

WILBY Ann 4/126/252. Elizabeth 4/127/253.

WILCOCKSON Ann 4/121/241.

WILD(E) James 4/165/129. Joseph 4/130/260. William 4/52/104, 4/68/136.

WILKINS Mary Ann 4/207/413.

WILKINSON Benjamin 4/175/349. Elizabeth 4/190/379. George 4/197/394, 4/217/433.

William 4/89/177. Zebulun 4/110/220.

WILLIAMS John 4/171/341, 4/172/343.

WILLIAMSON Joseph 4/112/224.

WILLS Samuel 4/208/416.

WILSON Eliza 4/51/102. Elizabeth 4/26/51. George 4/29/57. Jane 4/10/20. John 4/98/195.

Thomas 4/23/46.

WINDLE Ann 4/201/401.

WINGATE William 4/181/361.

WINKS Samuel 4/137/273.

WINTERBOTTOM Maria 4/90/180.

WOLSTENHOLME Ann 4/195/390. Sarah 4/82/163.

WOOD Elizabeth 4/117/233. Henry 4/109/218. Thomas 4/56/111.

WOODCOCK Henry 4/18/36.

WOODHEAD John 4/19/37. Joseph 4/191/382.

WOODRUFFE Kezia 4/108/215.

WOODWARD Maria 4/168/336.

WOOLHOUSE Elizabeth 4/147/293.

WRAY Elizabeth 4/209/418.

WRIGHT Benjamin 4/101/202. Ellen 4/31/61. Elizabeth 4/192/384. Joseph 4/68/135.

YOULE Joseph 4/95/190.

YOUNG John boole 4/151/301.

END OF INDEX TO BOOK '4'

SHEFFIELD CATHEDRAL

MARRIAGE

BOOK

'5'

AUGUST 1839

TO

FEBRUARY 1840

Transcribed by J. EDWARD SHORTLAND

Typewritten and Indexed by KEITH BLAGDEN

BY THE KIND PERMISSION OF THE PROVOST

THE VERY REV. W. F. CURTIS A. K. C.

Prefix number denotes book

2nd numerals denote page number

3rd numerals denote entry number

5/1/11	Edward Ward	Eliza Barnes
5/1/2	George Wade	Mary Ann Smith
5/2/3	James Wostenholm	Ann Hadfield
5/2/4	Matthew Ward	Mary Mitchell
5/3/5	William Richard Heald	Mary Ann Heath
5/3/6	Samuel Wragg	Eliza Marsden
5/4/7	Benjamin Bullock Widdy	Sarah Owen
5/4/8	George Barber	Sarah Ann Hartley
5/5/9	William Oldfield	Eliza Harrison
5/5/10	Edward Goddard	Harriet Read
5/6/11	Thomas Ward	Mary Callagan
5/6/12	George Crownshaw	Mary Thorpe
5/7/13	William Coates	Mary Gillam
5/7/14	Henry Webster	Hannah Hardwick
5/8/15	Isaac Barnsley	Ann Hirsy
5/8/16	John Pagdin	Frances Reaney
5/9/17	William Walker	Mary Wheeler
5/9/18	Henry Gedney Robinson	Mary Worrall
5/10/19	James Barraclough	Elizabeth Curtis
5/10/20	James Birks	Mary Gilbert
5/11/21	Paul White	Mary Hartley
5/11/22	William Blewet	Sarah Owen
5/12/23	William Roebuck	Martha Moseley
5/12/24	Charles Badger	Harriet Lilleyman
5/13/25	Samuel Turner	Ann Smirthwaite
5/13/26	Joel Fairest	Elizabeth Beardshaw
5/14/27	William Ellis	Mary Chatterton
5/14/28	William James Ellis	Elizabeth Sylvester
5/15/29	William Senthouse	Mary Cottam
5/15/30	Ezekiel Mellor	Elizabeth Cutts
5/16/31	Joseph Walker	Mary Downs
5/16/32	Isaac Corker	Rebecca Corker
5/17/33	George Marvel	Mary Davis
5/17/34	Henry Draper	Ellen Ashmore
5/18/35	John Smith	Sarah Hill
5/18/36	Ezra Finney	Elizabeth Hunt
5/19/37	John Green	Mary Bramhill
5/19/38	William Judd	Cordelia Eastwood
5/20/39	Edwin Witheford	Mary Brummitt Burrows
5/20/40	Thomas Heeley	Fanny Robinson
5/21/41	Charles Walker	Ellen Cadman
5/21/42	Joseph Brown	Sarah Booth
5/22/43	John Townend	Elizabeth Mosley
5/22/44	Thomas Crampton	Elizabeth Shales

5/23/45	Richard Newton Greaves	Harriet Vernon
5/23/46	John Pennington	Harriet Foster
5/24/47	Alfred Shipstone	Elizabeth Burchby
5/24/48	William Hoyland	Sarah Townsned
5/25/49	George Kent	Martha Conder
5/25/50	William Robert Porter	Hannah Booth
5/26/51	William Hunter	Elizabeth Pinder
5/26/52	Benjamin Tallents	Elizabeth Holbery
5/27/53	William Schofield	Elizabeth Bagshaw
5/27/54	Thomas Richards Harding	Sarah Anne Cocker
5/28/55	Henry Clark	Elizabeth Palmer
5/28/56	Thomas Lane	Mary Ann Archer
5/29/57	James Pettinger	Nancy Lee
5/29/58	John Good	Sarah Bailey
5/30/59	Thomas May	Elizabeth Whaley
5/30/60	John Hurst	Hannah Barber
5/31/61	Thomas Merrill	Elizabeth Pinder
5/31/62	George Wilson	Ellen Ward
5/32/63	James Whitaker	Jane Catherine Wilson Jenkinson
5/32/64	Joseph Lovett	Ann Buxton
5/33/65	Michael Geary	Maria Howe
5/33/66	John Leach	Mary Drabble
5/34/67	John Williamson	Dorothy Cartwright
5/34/68	Charles Absom	Frances Thomas
5/35/69	William Grundy	Ann Shepherd
5/35/70	William Coulson	Louisa Matthewman
5/36/71	Alfred Wilkin	Mary Ann Mappin
5/36/72	Henry Pearson	Elizabeth Wilcockson
5/37/73	Edward Cowin	Sarah Scaif
5/37/74	James Wilson	Caroline Bagnall
5/38/75	John Fearnough	Catherine Morris
5/38/76	Henry Clark	Mary Lister
5/39/77	George Hadfield	Amelia Cooke
5/39/78	Samuel Briggs	Charlotte Grayson
5/40/79	John Sharpe	Caroline Wright
5/40/80	Joseph Allen	Mary Fantom
5/41/81	Ezra Bell	Sarah Marshall
5/41/82	Thomas Hearnshaw	Sarah Slack
5/42/83	George Holmes	Elizabeth Hollily
5/42/84	Robert Furness	Mary Biggin
5/43/85	William Wilson	Ellen Drabble
5/43/86	James Howard	Ellen Morton
5/44/87	Robert Poulter	Mary Denton
5/44/88	James Bradbury	Mary Colgrave

5/45/89	Thomas Colley	Mary Fielding
5/45/90	James Bottomley	Maria Ford
5/46/91	Samuel Gould	Ann Harrison
5/46/92	Lawrence Kennedy	Sarah Hirst
5/47/93	Wheatley Humphrey	Mary Walker
5/47/94	John Swift	Elizabeth Mather
5/48/95	James Taylor	Rhoda Willey
5/48/96	Henry Henstock	Martha Holmes
5/49/97	William Roebuck Marshall	Louisa Bailey
5/49/98	George Gillott	Ann Kay
5/50/99	Benjamin Eaton	Harriet Marsden
5/50/100	George Vernon	Mary Spencer
5/51/101	Thomas Gregory	Hannah Gregory
5/51/102	James Gregory	Ann Letitia Sarah Long
5/52/103	John Slack	Isabella Burdin
5/52/104	William Kendall	Ann Wall
5/53/105	James Nicholson	Ann Bridges
5/53/106	Thomas Smith	Ann Staniforth
5/54/107	George Catton	Elizabeth Wood
5/54/108	George Moulson	Mary Shirtcliffe
5/55/109	Peter Bingham	Fanny Earnshaw
5/55/110	Charles White	Ann Taylor
5/56/110	Henry Wilkinson	Ann Bizzill
5/56/112	William Wright	Mary Foster
5/57/113	Henry Scholey	Elizabeth Wild
5/57/114	Thomas Bray	Harriet Turner
5/58/115	Henry Beevers	Eliza Broadhead
5/58/116	Thomas Black	Sarah Bagshaw
5/59/117	John Brammall	Elizabeth Smith
5/59/118	William Elshaw	Hannah Wharton
5/60/119	John Jaques	Sarah Smith
5/60/120	John Fisher	Elizabeth Outwin
5/61/121	William Steel	Sarah Shaw
5/61/122	William Haywood	Ann Bradley
5/62/123	Thomas Norton	Mary Belk
5/62/124	Henry Booth	Eliza Cutler
5/63/125	Isaac Hancock	Sarah Kent
5/63/126	Matthew Marples	Sarah Mitchell
5/64/127	William Barker	Sarah Hague
5/64/128	John Bagnall	Sarah Wostenholme
5/65/129	Thomas Skinner	Mellemd Mills
5/65/130	Isaac Coup	Elizabeth Keyworth
5/66/131	Henry Wainwright	Hannah Ludlam
5/66/132	Frederick Dilcock	Sophia Holroyd

5/67/133	John Skinner	Mary Froggatt
5/67/134	Samuel Wing	Ann Unwin
5/68/135	James Clayton	Ann Taylor
5/68/136	William Sheldon	Ann Pinder
5/69/137	George Lawson	Ann Sheldon
5/69/138	Matthew Clayton	Frances Kirk
5/70/139	Isaac Broadhurst	Hannah Broadhurst
5/70/140	John Knight	Mary Mellor
5/71/141	George Taylor	Elizabeth Green
5/71/142	George Hague	Harriet Hague
5/72/143	Wilfred Collier	Lydia Kay
5/72/144	George Turner	Mary Dungworth
5/73/145	John Wood	Harrietta Heaton
5/73/146	Joseph Devenport	Eliza Ogden
5/74/147	Martin Middleton	Hannah Edley
5/74/148	Thomas Norman	Deborah Warris
5/75/149	Benjamin Mitchell	Ann Armitage
5/75/150	Matthew Henry Hollely	Mary Sanderson
5/76/151	John Sykes	Caroline Wright
5/76/152	John Norman	Mary Ann Lockwood
5/77/153	Matthew Norman	Alice Shipstone
5/77/154	William Wilkinson	Ann Norman
5/78/155	William Edwards	Charlotte Maybury
5/78/156	Frederic Barlow	Emma Owen
5/79/157	Amos Truelove	Frances Blamire
5/79/158	Henry Ball	Esther Wood
5/80/159	John Wildgoose	Hannah Cotterell
5/80/160	George Shepherd	Sabrinah Lomas
5/81/161	Charles Tyne	Elizabeth Cusworth
5/81/162	Isaac Wooscock	Frances Harrison
5/82/163	George Gardiner	Martha Hall
5/82/164	Peter Johnson	Eliza Braithwaite Fawcett
5/83/165	William Lofts	Rebecca Bamford
5/83/166	Joseph Muscroft	Ann Champion
5/84/167	Matthew Wilson	Margaret Adams
5/84/168	William Adams	Elizabeth Lodge
5/85/169	John Bradwell	Mary Goodison
5/85/170	William Gregory	Mary Ann Smith
5/86/171	James Buxton	Mary Thorne
5/86/172	Mark Bownes	Sarah Laycock
5/87/173	Charles Bingley	Elizabeth Hartle
5/87/174	Alfred Dewsnap	Ellen Wills
5/88/175	George Beever	Sarah Blackwell
5/88/176	William Elliott	Phoebe Clay

5/89/177	William Stevenson	Mary Curran
5/89/178	John Gillatt	Charity Wragg
5/90/179	John Hinchliffe	Catherine Johnson
5/90/180	John Swift	Elizabeth Whitaker
5/91/181	Henry Bartholomew	Martha Roberts
5/91/182	Richard Hargreaves	Elizabeth Lister
5/92/183	Charles Morton	Margaret Girdler
5/92/184	William Fowweaver	Martha Sellars
5/93/185	William Marshall	Elizabeth Shores
5/93/186	Joseph Flint	Sarah Walker
5/94/187	William Seymour	Mary Hurst
5/94/188	Edward Richard Rotherham	Elizabeth Hubbard Walker
5/95/189	William Liversidge	Ellen Glover
5/95/190	Robert Walker	Ann Bailey
5/96/191	Mark Pearson	Maria Turner
5/96/192	William Hadfield	Elizabeth Smith
5/97/193	William Morton	Charlotte Savage
5/97/194	George Hewson	Susanna Salkeld
5/98/195	William Booth	Hannah Biggin
5/98/196	William Highfield	Mary Thompson
5/99/197	Philip Loxley	Hannah Harrison
5/99/198	James Cartledge	Jane Outram
5/100/199	Henry Mills	Priscilla Allott
5/100/200	Edward Morton	Mary Inman
5/101/201	Robert Lister	Harriet Wingfield
5/101/202	William Cooper	Dorothy Dawson
5/102/203	James Cope	Mary Wheeler
5/102/204	Matthew Marshall	Mary Fogg
5/103/205	George Towns	Amelia Brown
5/103/206	George Stone	Mary Gothard
5/104/207	Joseph Bancroft	Nancy Addy
5/104/208	Richard Rodgers	Mary Rhodes
5/105/209	Robert Spencer	Abigail Harring
5/105/210	Henry Rhodes	Jane Hutchinson
5/106/211	Matthew Ridgway	Elizabeth Hohson
5/106/212	James Whiteley	Ann Firth
5/107/213	Matthew Wilson	Hannah Oldfield
5/107/214	William Leicester	Harriet Pepper
5/108/215	James Shaw	Ann Genn
5/108/216	Thomas McDonald	Eliza Norman
5/109/217	James Riley	Sarah Brears
5/109/218	Edward Taylor	Mary Lynam
5/110/219	John Badger	Harriet Jenkinson
5/110/220	William Barnby	Mary Greaves

5/111/221	William Tarry	Ann Smedley
5/111/222	William Sharp	Lydia Higgins
5/112/223	George Gee Glossop	Amy Mary Taylor
5/112/224	Charles Hopkinson	Mary Reddish
5/113/225	Henry Featherstone	Sarah Revill
5/113/226	William Smedley	Elizabeth Birley
5/114/227	George Scott	Sarah Dilcock
5/114/228	John Holland	Elizabeth Barnes
5/115/229	Henry Qvendale	Mary Harrott
5/225/230	Charles Powell	Susanna Robinson
5/116/231	Edwin Stones	Mary Paramore
5/116/232	William Wood	Ann Sharp
5/117/233	John Wragg	Hannah Bancroft
5/117/234	Benjamin Atkin Hallam	Charlotte Revitt
5/118/235	William Tomlinson	Eliza Wadsworth Taylor
5/118/236	William Voy	Catherine Wadsworth
5/119/237	Joseph Dyson	Ann Boler
5/119/238	Richard White	Mary Jenkinson
5/120/239	Robert Belfitt	Margaret Timperley
5/120/240	Francis Jackson	Elizabeth Hargate
5/121/241	George Stimson	Ellen Goddard
5/121/242	George Armison	Frances Mee
5/122/243	Jahn Dalton	Sarah Green
5/122/244	Elisha Bishop	Jane Sykes
5/123/245	John Hobson	Sarah Falding
5/123/246	James Housley	Mary Margerison
5/124/247	Joseph Howe	Hannah Travis
5/124/248	Joseph Bell	Sarah Turton
5/125/249	George Fisher	Eliza Cavill
5/125/250	Edward Crofts	Ellen Hill
5/126/251	William Downing	Emma Greaves
5/126/252	Joseph Abson	Elizabeth Bradley
5/227/253	Charles Taylor	Elizabeth Holland
5/127/254	Joseph Mastin	Eliza Foulds
5/128/255	Charley Sherwin	Sarah Charlotte Marsden
5/128/256	Thomas Waller	Mary Wilkinson
5/129/257	Henry Oakes	Mary Robinson
5/129/258	William Padley	Mary Irving Jackson
5/130/259	Samuel Wilson	Sarah Penitent
5/130/260	William Baker	Ann Grayson
5/131/261	William Hutley	Carokine Thompson
5/131/262	George Foster	Eliza Cupit
5/132/263	Thomas Moreland	Ann Pattison
5/132/264	Charles Timm	Elizabeth Thorp

5/133/265	Matthew Oates	Hannah Revitt
5/133/266	Thomas Hanson	Eliza Smithson
5/134/267	George Parkinson	Mary Kemp
5/134/268	Charles Hinchliffe	Hannah Scholey
5/135/269	William Lunn	Ann Whitaker
5/135/270	Richard Thompson	Sarah Alexander
5/136/271	John Idiens	Sarah Downing
5/136/272	John Hatfield	Rachel Appleyard
5/137/273	Thomas Dungworth	Martha Booker
5/137/274	George Hirst	Emma Wellan
5/138/275	Richard Smith	Elizabeth Harris
5/138/276	Thomas Binney	Mary Walker
5/139/277	James Carnelly	Margaret Elizabeth Barber
5/139/278	Samuel Harrison	Jane Winter
5/140/279	Joseph Heeley	Mary Selby
5/140/280	William Wigglesworth	Sarah Ann Stones
5/141/281	Charles Spooner	Mary Ann Ward
5/141/282	George Green	Jane Carr
5/142/283	William Howe	Mary Downing
5/142/284	Joseph Dransfield	Frances Widdison
5/143/285	James Gillam	Alice Gillam
5/143/286	Thomas Fellows	Eliza Barker
5/144/287	Francis Doncaster	Frances Renshaw
5/144/288	David Schofield	Elizabeth Laycock
5/145/289	George Chaloner	Ann Simpson
5/145/290	George Varah	Ann Woodhouse
5/146/291	Henry Booker	Amelia Holmes
5/146/292	Thomas Morton	Jane Mitchell
5/147/293	Edward Sossby	Elizabeth Winterbottom
5/147/294	John Needham	Lea Mycock
5/148/295	James Beaumont	Ann White
5/149/296	William Shaw	Hannah Shaw
5/149/297	John Sestorn	Sarah Herring
5/149/298	Richard Wilson	Charlotte Barnes
5/150/299	William Worrall	Hannah Birley
5/150/300	Thomas Hague	Nancy Horsfield
5/151/301	Joseph Bottom	Mary Wild
5/151/302	Thomas Nall	Ann Proctor
5/152/303	William Hudson	Julia Scholey
5/152/304	William Thomas	Sarah Bishop
5/153/305	John Wade	Lydia Denton
5/153/306	Thomas Gill	Mary Gill
5/154/307	Samuel Gilman	Ann Drabble
5/154/308	Joseph Buckley	Ann Peacock

5/155/309	Thomas Wilkinson	Ann Wadsworth
5/155/310	William Thackray	Martha Barton
5/156/311	John Chatfield	Winifred Commons
5/156/312	David Cook	Mary Bridlington
5/157/313	William Green	Sarah Barber
5/157/314	William Wharton	Harriet Windle
5/158/315	Thomas Eyre	Elizabeth Spacey
5/158/316	Joseph Linley	Ann Wragg
5/159/317	James Burnand	Mary Ann Wharton
5/159/318	James Deam	Fanny Luxton
5/160/319	William Rodwell	Sarah Burland
5/160/320	Alfred Slack	Eliza Walker
5/161/321	William Newsome Beale	Sarah Fisher
5/161/322	James Askew	Mary Thompson
5/162/323	William Henson	Dinah Adams
5/162/324	Richard Vallance	Maria Bradley
5/163/325	George Booker	Sarah Pailthorpe
5/163/326	Thomas Hall	Jane Staveley
5/164/327	William Hague	Sarah Sanderson
5/164/328	John Buttery	Ann Robinson
5/165/329	Michael Byrne	Ann McKee
5/165/330	John Leesley	Harriet Fawcett
5/166/331	James McCabe	Alice Hall
5/166/332	William Morris	Eliza Barbez
5/167/333	James Ward	Ellen Howe
5/167/334	James Barker	Rebekah Sylvester
5/168/335	Henry Wardle	Ann Seddon
5/168/336	Joseph Turner	Elizabeth Staniforth
5/169/337	George Walker	Mary Heayon
5/169/338	James Barker	Ann Jane Cowell
5/170/339	Edric Hallam	Ann Wild
5/170/340	John Moorhouse	Ann Coe
5/171/341	William Burkinshaw	Ann Edmunds
5/171/342	Isaac Smeadley	Ann Kay
5/172/343	James Hartley	Mary Hibberd
5/172/344	James Wilks	Ann Mirfin
5/173/345	Joseph Woolley	Ann Swindell
5/173/346	William Widdison	Ann Foulstone
5/174/347	William Ellis	Elizabeth Charlesworth
5/174/348	Charles Cooke	Mary Wright
5/175/349	John Shaw	Hannah Hitchen
5/175/350	John Roarke	Emma Waide
5/176/351	Joseph Hutchinson	Caroline Gillott
5/176/352	James Tomlinson	Hannah Buckley

5/177/353	Joseph Ellis	Ann Farr
5/177/354	Frederick Mammott	Michael Ellis
5/178/355	John Fairclough	Mary Ann Ballington
5/178/356	William Sutherland	Abigail Beaumont
5/179/357	Joseph Wild	Mary Ann Foster
5/179/358	James Boothby	Mary Ann Robinson
5/180/359	Matthew Burgin	Ann Hague
5/180/360	John Hague	Hannah Wade
5/181/361	Joseph Ripley	Eliza Beeley
5/181/362	Benjamin Johnson Stead	Sarah Lievesley
5/182/363	Henry Swinscow	Martha Stopane
5/182/364	Edward Hall	Mary Oldfield
5/183/365	John Wilson	Hannah Shirtcliffe
5/183/366	Alfred Frost	Ann Mosley
5/184/367	Joseph Turner	Sarah Grimes
5/184/368	John Brown	Ann Ogden
5/185/369	Job Siddall	Harriet Glave
5/185/370	Charles Yates	Ellen Washington
5/186/371	Thomas Wright	Elizabeth Jarvis
5/186/372	John Hurst	Eliza Lee
5/187/373	William Finney	Sarah Straw
5/187/374	William Ward	Elizabeth Hirst
5/188/375	James Allott	Ann Lee
5/188/376	William Myers	Mary Aukland
5/189/377	William Richardson	Hannah Wilks
5/189/378	William Gleadall	Matilda Ann Bagshaw
5/190/379	John Hardy	Martha Fox
5/190/380	James Hobson	Mary Cheetham
5/191/381	John Woodward	Harriet Fell
5/192/382	Jonathan Hazlewood	Ann Naylor
5/192/383	Alfred Fearnough	Sarah Wilson
5/192/384	John Wright	Ann Holland
5/193/385	Thomas Stevenson	Elizabeth Curtis
5/193/386	Joseph Needham	Hane Nuttall
5/194/387	Henry Riley	Sarah Ann Turton
5/194/388	Charles Watson	Maria Bitchford
5/195/389	Francis Ayres	Mary Brammall
5/195/390	Thomas Senior	Sarah Hatfield
5/196/391	John Law	Ruth Glossop
5/196/392	James Diness	Mary Longden
5/197/393	John Bateman	Esther Webb
5/197/394	James Lowe	Rose Hannah Hutchinson
5/198/395	Benjamin Oldfield	Sarah Ellis
5/198/396	George Brownhill	Mary Nash

5/199/397	William Townzen	Theodosia Greaves
5/199/398	William Dewsnap	Mary Dyson
5/200/399	John Marsh	Mary Lapidge
5/200/400	Thomas Connors	Ann Malinders
5/201/401	William Westney	Sarah Nicholls
5/201/402	William XXX Setters	Mary Hobson
5/202/403	Patrick Rigney	Ann Wainman
5/202/404	John Whitehead	Mary Ailsop
5/203/405	John Buxton	Ann Leesley
5/203/406	Samuel Gregory	Harriot Marsden
5/204/407	Jesse Roe	Elizabeth West Brown
5/204/408	Thomas Dakin	Sarah Ward
5/205/409	William Jackson	Ann Fearney
5/205/410	Charles Thompson	Susanna Orwell
5/206/411	George Ellis	Mary Whitham
5/206/412	Samuel Goodhall	Jemima Burnell
5/207/413	John Kirk	Mary Ann Warren
5/207/414	Benjamin Plant	Elizabeth Thomas
5/208/415	James Hindle	Lucy Fenton
5/208/416	John Frith	Ann Tyas
5/209/417	Nathan Toyne	Mary Genn
5/209/418	William Sparrow	Hattiet Moore
5/210/419	John Gray	Sarah Ann Mills
5/210/420	Henry Clarke	Sarah Turner
5/211/421	James Hill	Ann Hunter
5/211/422	Joshua Hammond	Eliza Hammond
5/212/423	Benjamin Driver	Elizabeth Christiana Craggs
5/212/424	Israel Cantrill	Harriet Stevenson
5/213/425	Joseph Johnson	Elizabeth Clarke
5/213/426	Joseph Epworth	Ann Almond
5/214/427	William Teasdale	Elizabeth Butler
5/214/428	William Laycock	Elizabeth Greaves
5/215/429	Charles Stacey	Martha Swinden
5/215/430	Walter Beckett Osborne	Elizabeth Jackson
5/216/431	John Middleton	Mary Ardron
5/216/432	David Ball	Ann Milner
5/217/433	James Higginbottom	Selina Perigo
5/217/434	Thomas Hallatt	Sarah Taylor
5/218/435	Alfred South	Mary Dawson
5/218/436	Abraham Nettleton	Ann Steel
5/219/437	Isaac Chatterton	Eliza Bland
5/219/438	George Askew	Mary Ann Fox
5/220/439	William Ward	Hannah Blacker
5/220/440	James Broughton	Sarah Mappin

5/221/441	Henry Torr	Ann Newton
5/221/442	John White	Mary Brightmore
5/222/443	Charles Nickson	Martha Straw
5/222/444	John Kniften Newbold	Mary Trippit
5/223/445	Denis Hogan	Eliza Shaw
5/223/446	Joseph Turner	Sarah Hatfield
5/224/447	Michael Markham	Christiana Wordsworth
5/224/448	John Corbridge	Eliza Rippon
5/225/449	James Gambles	Elizabeth Platts
5/225/450	Michael Heaton	Hannah Rodgers
5/226/451	Abraham Younge	Ann Frith
5/226/452	Joseph Liffie	Mary Salavoni
5/227/453	Joseph Cooke	Jane Dungworth
5/227/454	William Pierepont	Sarah Neaves
5/228/455	Joseph Dale	Harriet Frost
5/228/456	John Warriner	Mary Holden
5/229/457	William Tune	Mary Schofield
5/229/458	Sampson Smith	Elizabeth Betts
5/230/459	Joseph Rhodes	Lucy Moulson
5/230/460	John Brown	Maria Wild
5/231/461	Samuel France	Hannah Dungworth
5/231/462	Charles Godley	Sarah Colton
5/232/463	William Burrell	Eliza Ward
5/232/464	William Goodacre	Ann Nuttall
5/233/465	Henry Willey	Ann Johnson
5/233/466	John Woodhouse	Mary Ann Parker
5/234/467	John Smith	Ann Abbott
5/234/468	Joseph Eadon	Mary Hepple
5/235/469	George Mallender	Hannah Singleton
5/235/470	Joseph Kay	Mary Johnson
5/236/471	Henry Denton	Elizabeth Wragg
5/236/472	Richard Middleton	Mary Somerset
5/237/473	Robert Atherley	Eliza Jones
5/237/474	Alfred Hartley	Mary Ann Sylvester
5/238/475	John George Robertson	Elizabeth Clayton
5/238/476	William Ashby	Ann Hancock
5/239/477	Abraham Ellerbeck	Ann Pilley
5/239/478	William Fisher	Mary Furniss
5/240/479	Thomas Wilkinson	Mary Flint
5/240/480	William Hague	Ann Sanderson
5/241/481	John Parkin	Anne Riley
5/241/482	Alfred Sanderson	Eliza Dorothy Robinson
5/242/483	Edwin Wild	Mary Elizabeth Nother
5/242/484	William Hellewell	Rebecca Oxley

5/243/485	John Jessop	Elizabeth Rhodehouse
5/243/486	George Fletcher	Elizabeth Barker
5/244/487	John Lambert	Harriet Newton
5/244/488	Joseph Jones	Ann Wilson
5/245/489	Joseph Denton	Mary Carlisle
5/245/490	Edward Lockwood	Susanna Idle
5/246/491	William Gibbins	Ann Davison
5/246/492	Alfred Jerrison	Mary Ann Clarke
5/247/493	William Sellers	Mary Goodinson
5/247/494	Samuel Taylor	Mary Fisher
5/248/495	Cuthbert Fullthorpe	Elizabeth Massey
5/248/496	William Lockwood	Ellen Buxton
5/249/497	John Wainwright	Elizabeth South
5/249/498	William Underwood	Mary Jones
5/250/499	Thomas Concom	Ann Palmer
5/250/500	Sylvester Harmston	Mary Gould

END OF BOOK '5'

- ABBOTT Ann 5/234/467.
ABSON Charles 5/34/68. Joseph 5/126/252.
ADAMS Dinah 5/162/323. Margaret 5/84/167. William 5/84/168.
ADDY Nancy 5/104/207.
ALEXANDER Sarah 5/135/270.
ALLEN Joseph 5/40/80.
ALLOTT James 5/188/375. Priscilla 5/100/199.
ALMOND Ann 5/233/426.
ALSOP Mary 5/202/404.
APPLEYARD Rachel 5/136/272.
ARCHER Mary Ann 5/28/56.
ARDRON Mary 5/216/431.
ARMISON George 5/121/242.
ARMITAGE Ann 5/75/149.
ASHBY William 5/238/476.
ASHMORE Ellen 5/17/34.
ASKEW George 5/219/438. James 5/161/322.
ATHERLEY Robert 5/237/473.
AUKLAND Mary 5/188/376.
AYRES Francis 5/195/389.

BADGER Charles 5/12/24. John 5/110/219.
BAGNALL Caroline 5/37/74. John 5/64/128.
BAGSHAW Elizabeth 5/27/53. Matilda Ann 5/189/378. Sarah 5/58/116.
BAILEY Ann 5/95/190. Louisa 5/49/97. Sarah 5/29/58.
BAKER William 5/130/260.
BALL David 5/216/432. Henry 5/79/158.
BALLINGTON Mary Ann 5/178/355.
BAMFORD Rebecca 5/83/165.
BANCROFT Hannah 5/117/233. Joseph 5/104/207.
BARBER Eliza 5/166/332. George 5/4/8. Hannah 5/30/60. Margaret Elizabeth 5/139/277.
 Sarah 5/157/313.
BARKER Eliza 5/143/286. Elizabeth 5/243/486. James 5/167/334, 5/169/338. William 5/64/127.
BARLOW Frederic 5/78/156.
BARNBY William 5/110/220.
BARNES Charlette 5/149/298. Eliza 5/1/1. Elizabeth 5/114/228.
BARNSLEY Isaac 5/8/15.
BARRACLOUGH James 5/10/19.
BARTHOLOMEW Henry 5/91/181.
BARTON Martha 5/155/310.
BATEMAN John 5/197/393.
BEALE William Newsome 5/161/321.
BEARDSHAW Elizabeth 5/13/26.
BEAUMONT Abigail 5/178/356. James 5/148/295.

BEELEY Eliza 5/181/361.

BEEVER(S) George 5/88/175. Henry 5/58/115.

BELFIT Robert 5/120/239.

BELK Mary 5/62/123.

BELL Ezra 5/41/81. Joseph 5/124/248.

BETTS Elizabeth 5/229/458.

BLACK Thomas 5/58/116.

BLACKER Hannah 5/220/439.

BLACKWELL Sarah 5/88/175.

BLAMIRE Frances 5/79/157.

BLAND Eliza 5/219/437.

BLEWET William 5/11/22.

BIGGIN Hannah 5/98/195. Mary 5/42/84.

BINGHAM Peter 5/55/109.

BINGLAY Charles 5/87/173.

BINNEY Thomas 5/138/276.

BIRKS James 5/10/20.

BIRLEY Elizabeth 5/113/226. Hannah 5/150/299.

BISHOP Elisha 5/122/244. Sarah 5/152/304.

BIZZILL Ann 5/56/111.

BOLER Ann 5/119/237.

BOOKER George 5/163/325. Henry 5/146/291. Martha 5/137/273.

BOOTH Hannah 5/25/50. Henry 5/62/124. Sarah 5/21/42. William 5/98/195.

BOOTHBY James 5/179/358.

BOTTOM Joseph 5/157/301.

BOTTOMLEY James 5/45/90.

BOWNES Mark 5/86/172.

BRADBURY James 5/44/88.

BRADLEY Ann 5/61/122. Elizabeth 5/126/252. Maria 5/162/324. ~~XXXXXXXXXX~~

BRADWELL John 5/85/169.

BRAMMALL (BRAMHILL) John 5/59/117. Mary 5/19/37, 5/195/389.

BRAY Thomas 5/57/114.

BREARS Sarah 5/109/217.

BRIDGES Ann 5/53/105.

BRIDLINGTON Mary 5/156/312.

BRIGGS Samuel 5/39/78.

BRIGHTMORE Mary 5/221/442.

BROADHEAD Eliza 5/58/115.

BROADHURST Hannah 5/70/139. Isaac 5/70/139.

BROUGHTON James 5/220/440.

BROWN Amelia 5/103/205. Elizabeth West 5/204/207. John 5/184/368, 5/230/460. Joseph 5/21/42

BROWNHILL George 5/198/396.

BUCKLEY Hannah 5/176/352. Joseph 5/154/308.

BURCHBY Elizabeth 5/24/47.

BURDIN Isabella 5/52/103.

BURGIN Matthew 5/180/359.
BURKINSHAW William 5/171/341.
BURLAND Sarah 5/160/319.
BURNELL Jemima 5/206/412.
BURNAND James 5/159/317.
BURRELL William 5/232/463.
BURROWS Mary Brummitt ~~M~~ 5/20/39.
BUTLER Elizabeth 5/214/427.
BUTTERY John 5/164/328.
BUXTON Ann 5/32/64. Ellen 5/248/496. James 5/86/171. John 5/203/405.
BYRNE Michael 5/165/329.

CADMAN Ellen 5/21/41.
CALLAGAN Mary 5/6/11.
CANTRILL Israel 5/212/424.
CARLISLE Mary 5/245/489.
CARNELLY James 5/139/277.
CARR Jane 5/141/282.
CARTLEDGE James 5/99/198.
CARTWRIGHT Dorothy 5/34/67.
CATTON George 5/44/107.
CAVILL Eliza 5/125/249.
CHALONER George 5/145/289.
CHAMPION Ann 5/83/166.
CHARLESWORTH Elizabeth 5/179/347.
CHAFFIELD John 5/156/311.
CHATTERTON Isaac 5/219/437. Mary 5/14/27.
CHEETHAM Mary 5/190/380.
CLARK(E) Elizabeth 5/213/425. Henry 5/28/55, 5/38/76, 5/210/420. Mary Ann 5/246/492.
CLAY Phoebe 5/88/176.
CLAYTON Elizabeth 5/238/475. James 5/68/135. Matthew 5/69/138.
COATES William 5/7/13.
COCKER Sarah Ann 5/27/54.
COE Ann 5/170/340.
COLGRAVE Mary 5/44/88.
COLLEY Thomas 5/45/89.
COLLIER Wilfred 5/72/143.
COLTON Sarah 5/231/462.
COMMONS Winifred 5/156/311.
CONCOM Thomas 5/250/499.
CONDER Martha 5/25/49.
CONNERS Thomas 5/200/400.
COOK(E) Amelia 5/39/77. Charles 5/174/348, David 5/156/312. Joseph 5/227/453.
COOPER William 5/101/202.
CORBRIDGE John 5/224/448.

CORKER Isaac 5/16/32. Rebecca 5/16/32.
COTTOM Mary 5/15/29.
COTTERELL Hannah 5/80/159.
COULSON William 5/35/70.
COUP (COPE) Isaac 5/65/130. James 5/102/203.
COWELL Ann Jane 5/169/338.
COWIN Edward 5/37/73.
CRAGGS Elizabeth Christiana 5/212/423.
CRAMPTON Thomas 5/22/44.
CROFTS Edward 5/125/250.
CROWNSHAW George 5/6/12.
CUPIT Eliza 5/131/262.
CURRAN Mary 5/89/177.
CURTIS Elizabeth 5/10/19, 5/193/385.
CUSWORTH Elizabeth 5/81/161.
CUTLER Eliza 5/62/124.
CUTTS Elizabeth 5/15/30.

DALE Joseph 5/228/455.
DALTON John 5/122/243.
DAKIN Thomas 5/204/408.
DAVIS Mary 5/17/33.
DAVISON Ann 5/246/491.
DAWSON Dorothy 5/101/202. Mary 5/218/435.
DEAN James 5/159/318.
DENTON Henry 5/236/471. Joseph 5/245/489. Lydia 5/153/305. Mary 5/44/87..
DEVENPORT Joseph 5/73/146.
DEWSNAP Alfred 5/87/174. William 5/199/398.
DILCOCK Frederick 5/66/132. Sarah 5/114/227.
DINESS James 5/196/392.
DONCASTER Francis 5/144/287.
DOWNING Mary 5/142/283. Sarah 5/136/271. William 5/126/251.
DOWNES Mary 5/16/31.
DRABBLE Ann 5/154/307. Ellen 5/43/85. Mary 5/33/66.
DRANSFIELD Joseph 5/142/284.
DRAPER Henry 5/17/34.
DRIVER Benjamin 5/212/423.
DUNGWORTH Hannah 5/231/461. Jane 5/227/453. Mary 5/72/144. Thomas 5/137/273.
DYSON Joseph 5/119/237. Mary 5/199/398.

EADON Joseph 5/234/468.
EARNSHAW Fanny 5/55/109.
EASTWOOD Cordelia 5/19/38.
EDLEY Hannah 5/74/147.
EDMUNDS Ann 5/171/341.

EDWARDS William 5/78/155.

ELLERBECK Abraham 5/239/477.

ELLIOTT William 5/88/176.

ELLIS George 5/206/411. Joseph 5/177/353. William 5/14/27, 5/174/347. *Sarah 5/198/395.

William James 5/14/28.

ELLS Michal 5/177/354.

ELSHAW William 5/59/118.

EPWORTH Joseph 5/213/426.

EYRE (See also Ayres) Thomas 5/158/315.

**EATON Benjamin 5/50/99.

FAIRCLOUGH John 5/178/355.

FAIREST Joel 5/13/26.

FALDING Sarah 5/123/245.

FANTOM Mary 5/40/80.

FARR Ann 5/177/353.

FAWCETT Eliza Braithwaite 5/82/164. Harriet 5/165/330.

FEARNEHOUGH Alfred 5/192/383. John 5/38/75.

FEARNEY Ann 5/205/409.

FEATHERSTONE Henry 5/113/225.

FELL Harriet 5/191/391.

FELLOWS Thomas 5/143/286.

FENTON Lucy 5/208/415.

FIELDING Mary 5/45/89.

FINNEY Ezra 5/18/36. William 5/187/373.

FIRTH Ann 5/106/212.

FISHER George 5/125/249. John 5/60/120. Mary 5/247/494. Sarah 5/161/321, William 5/239/478.

FLETCHER George 5/243/486.

FLINT Joseph 5/93/186. Mary 5/240/479.

FOGG Mary 5/102/204.

FORD Maria 5/45/90.

FOSTER George 5/131/262. Harriet 5/23/46. Mary 5/56/112. Mary Ann 5/179/357.

FOULDS Eliza 5/127/254.

FOULSTONE Ann 5/173/346.

FOWEATHER William 5/92/184.

FOX Martha 5/190/379. Mary Ann 5/219/438.

FRANCE Samuel 5/231/461.

FRITH Ann 5/226/451. John 5/208/416.

FROGGATT Mary 5/67/133.

FROST Alfred 5/183/366. Harriet 5/228/455.

FULLTHORP Cuthbert 5/248/495.

FURNESS Mary 5/239/478. Robert 5/42/84.

GAMBLES James 5/225/449.

GARDINER George 5/82/163.

GEARY Michael 5/33/65.
GENN Ann 5/108/215. Mary 5/209/417.
GIBBINS William 5/246/491.
GILBERT Mary 5/10/20.
GILL Mary 5/153/306. Thomas 5/153/306.
GILLAM Alice 5/143/285. James 5/143/285. Mary 5/7/13.
GILLOTT (GILLATT) Caroline 5/176/351. George 5/49/98. John 5/89/178.
GILMAN Samuel 5/154/307.
GIRDLEH Margaret 5/92/183.
GLAVE Harriet 5/185/369.
GLEADALL William 5/189/378.
GLOSSOP George Gee 5/112/223. Ruth 5/196/391.
GLOVER Ellen 5/95/189.
GODDARD Edward 5/5/10. Ellen 5/121/241.
GODLEY Charles 5/231/462.
GOOD John 5/29/58.
GOODACRE William 5/232/464.
GOODHALL Samuel 5/206/412.
GOODINSON Mary 5/247/493.
GOODISON Mary 5/85/169.
GOTHARD Mary 5/103/206.
GOULD Mary 5/250/500. Samuel 5/46/91.
GRAY John 5/210/419.
GRAYSON Ann 5/130/260. Charlotte 5/39/78.
GREAVES Elizabeth 5/214/428. Emma 5/126/251. Mary 5/110/220. Richard Newton 5/23/45.
Theodosia 5/199/397.
GREEN Elizabeth 5/71/141. George 5/141/282. John 5/19/37. Sarah 5/122/243. William
5/157/313.
GREGORY Hannah 5/51/101. James 5/51/102. Samuel 5/203/406. Thomas 5/51/101. William
5/85/170.
GRIMES Sarah 5/184/367.
GRUNDY William 5/35/69.

HADFIELD Ann 5/2/3. George 5/39/77. William 5/96/192.
HAGUE Ann 5/180/359. Edward 5/182/364. George 5/71/142. Harriet 5/71/142. John 5/180/360.
Sarah 5/64/127. Thomas 5/150/300. William 5/164/327, 5/240/480.
HALL Alice 5/166/331. Martha 5/82/163. Thomas 5/163/326.
HALLAM Benjamin Atkin 5/117/234. Edric 5/170/339 $\frac{1}{2}$
HALLATT Thomas 5/217/434.
HAMMOND Eliza 5/211/422. Joshua 5/211/422.
HANCOCK Ann 5/238/476. Isaac 5/63/125.
HANSON Thomas 5/133/266.
HARDING Thomas Richards 5/27/54.
HARDWICK Hannah 5/7/14.
HARDY John 5/190/379.

HARGATE Elizabeth 5/120/240.
HARGREAVES Richard 5/91/182.
HARMSTON Sylvester 5/250/500.
HARRIS Elizabeth 5/138/275.
HARRISON Ann 5/46/91. Frances 5/81/162. Hannah 5/99/197. Samuel 5/139/278.
HARROTT Mary 5/115/229.
HARTLEY Alfred 5/237/474. Eliza 5/5/9. James 5/172/343. Mary 5/11/21. Sarah Ann 5/4/8.
HARTLE Elizabeth 5/87/173.
HATFIELD John 5/136/272. Sarah 5/195/390, 5/223/446.
Haywood William 6/61/122.
HAZLEWOOD Jonathan 5/191/382.
HEALD William Richard 5/3/5.
HEARNSHAW Thomas 5/41/82.
HEATH Mary Ann 5/3/5.
HEATON Henrietta 5/73/145. Mary 5/169/337. Michael 5/225/450.
HEELEY Joseph 5/140/279. Thomas 5/20/40.
HELLEWELL William 5/242/484.
HENSON William 5/162/323.
HENSTOCK Henry 5/48/96.
HEPPLE Mary 5/234/468.
HERRING Abigail 5/105/209. Sarah 5/149/297.
HEWSON George 5/97/194.
HIBBERD Mary 5/172/343.
HIGGINBOTTOM James 5/217/433.
HIGGINS Lydia 5/111/222.
HIGHFIELD William 5/98/196.
HILL Ellen 5/125/250. James 5/211/421. Sarah 5/28/35.
HINCHLIFFE Charles 5/134/268. John 5/90/179.
HINDLE James 5/208/415.
HIRST (See also HURST) Ann 5/8/15. Elizabeth 5/187/374. George 5/137/274. Sarah 5/46/92.
HITCHEN Hannah 5/175/349.
HOBSON Elizabeth 5/106/211. James 5/190/380. John 5/123/245. Mary 5/201/402.
HOGAN Denis 5/223/445.
HOLBERY Elizabeth 5/26/52.
HOLDEN Mary 5/228/456.
HOLLAND Ann 5/192/384. Elizabeth 5/127/253. John 5/114/228.
HOLLILY Elizabeth 5/42/83. Matthew Henry 5/75/150.
HOLMES Amelia 5/146/291. George 5/42/83. Martha 5/48/96.
HOLROYD Sophia 5/66/132.
HOPKINSON Charles 5/112/224.
HORSFIELD Nancy 5/150/300.
HOUSLEY James 5/123/246.
HOWARD James 5/43/86.
HOWE Ellen 5/167/333. Joseph 5/124/247. Maria 5/33/65. William 5/142/283.
HOYLAND William 5/24/48.

HUDSON William 5/152/303.

HUMPHREY Wheatley 5/47/93.

HUNT Elizabeth 5/18/36.

HUNTER Ann 5/214/421. William 5/26/51.

HURST (See also HIRST) John 5/30/60, 5/186/372. Mary 5/94/187.

HUTCHINSON Jane ~~xx~~ 5/105/210. Joseph 5/176/351. Rose Hannah 5/197/394.

HUTLEY William 5/131/261.

IDIENS John 5/136/271.

IDLE Susanna. 5/245/490.

INMAN Mary 5/100/200.

JACKSON Elizabeth 5/215/430. Francis 5/120/240. Mary Irving 5/129/258. William 5/205/409.

JAQUES John 5/60/119.

JARVIS Elizabeth 5/186/371.

JENKINSON Harriet 5/110/219. Jane Catherine Wilson 5/32/63. Mary 5/119/238.

JERRISON Alfred 5/246/492.

JESSOP John 5/243/485.

JOHNSON Ann 5/233/465. Catherine 5/90/179. Joseph 5/213/425. Mary 5/235/470. Peter 5/82/164

JONES Eliza 5/237/473. Joseph 5/244/488. Mary 5/249/498. ~~xxxx~~

JUDD William 5/19/38.

KAY Ann 5/49/98, 5/171/342. Joseph 5/235/470. Lydia 5/72/143.

KEMP Mary 5/134/267.

KENDALL William 5/52/104.

KENNEDY Lawrence 5/46/92.

KENT George 5/25/49. Sarah 5/63/125.

KEYWORTH Elizabeth 5/65/130.

KIRK Frances. 5/69/138. John 5/207/413.

KNIGHT John 5/70/140.

LAMBERT John 5/244/487.

LANE Thomas 5/28/56.

LAPIDGE Mary 5/200/399.

LAW John 5/196/391.

LAWSON George 5/69/137.

LAYCOCK Elizabeth 5/144/288. Sarah 5/86/172. William 5/214/428.

LEACH John 5/33/66.

LEE Ann 5/188/375. Eliza 5/186/372. Nancy 5/29/57.

LEESLEY Ann 5/203/405. John 5/165/330.

LEICESTER William 5/107/214.

LIEVESLEY Sarah 5/181/362.

LIFFEE Joseph 5/226/452.

LILLEYMAN Harriet 5/12/24.

LINLEY Joseph 5/158/316.

LISTER Elizabeth 5/91/182. Mary 5/38/76. Robert 5/101/201.
LIVERSIDGE William 5/95/189.
LOCKWOOD Edward 5/245/490. Mary Ann 5/76/152. William 5/248/496.
LODGE Elizabeth 5/84/168.
LOFTS William 5/83/165.
LOMAS Sabrinah 5/80/160.
LONG Ann Letitia Sarah 5/51/102.
LONGDEN Mary 5/196/392.
LOVETT Joseph 5/32/64.
LOWE James 5/197/394.
LOXLEY Philip 5/99/197.
LUDLAM Hannah 5/66/131.
LUNN William 5/135/269.
LUXTON Fanny 5/159/318.
LYNAM Mary 5/109/218.

MALLENDER (MALINDER) Ann 5/200/400. George 5/235/469.
MAMMOTT Frederick 5/177/354.
MAPPIN Mary Ann 5/36/71. Sarah 5/220/440.
MARGERISON Mary 5/123/246.
MARKHAM Michael 5/224/447.
MARPLES Matthew 5/63/126.
MARSDEN Eliza 5/3/6. Harriet 5/50/99, 5/203/406. Sarah Charlotte 5/128/255.
MARSH John 5/200/399.
MARSHALL Matthew 5/102/204. Sarah 5/41/81. William 5/93/185. William Roebuck 5/49/97.
MARVEL George 5/17/33.
MASSEY Elizabeth 5/248/495.
MASTIN Joseph 5/127/254.
MATHER Elizabeth 5/47/94.
MATTHEWMAN Louisa 5/35/70.
MAY Thomas 5/30/59.
MAYBURY Charlotte 5/78/155.
MCCABE James 5/166/331.
MCDONALD Thomas 5/108/216.
MCKEE Ann 5/165/329.
MEE Frances 5/121/242.
MELLOR Ezekiel 5/15/30. Mary 5/70/140.
MERRILL Sarah 5/63/126, Thomas 5/31/61.
MIDDLETON John 5/216/431. Martin 5/74/147. Richard 5/236/482.
MILLS Henry 5/100/199. Mellend 5/65/129. Sarah Ann 5/210/419.
MILNER Ann 5/216/432.
MIRFIN Ann 5/172/344.
MITCHELL Benjamin 5/75/149. Jane 5/146/292. Maryb 5/2/4.
MOORE Harriet 5/209/418.
MOORHOUSE John 5/170/340.

MORELAND Thomas 5/132/263.

MORRIS Catherine 5/38/75. William 5/166/332.

MORTON Charles 5/92/183. Edward 5/100/200. Ellen 5/43/83. Thomas 5/146/292. William 5/97/199.

MOSELEY (MOSLEY) Ann 5/183/366. Elizabeth 5/22/43. Martha 5/12/23.

MOULSON George 5/54/108. Lucy 5/230/459.

MUSCROFT Joseph 5/83/166.

MYCOCK Lea 5/147/294.

MYERS William 5/188/376.

NALL Thomas 5/151/302.

NASH Mary 5/198/396.

NAYLOR Ann 5/191/382.

NEAVES Sarah 5/227/454.

NEEDHAM John 5/147/294. Joseph 5/193/386. ~~WILLIAM~~

NETTLETON Abraham 5/218/436.

NEWBOLD John Kniften 5/222/444.

NEWTON Ann 5/221/441. Harriet 5/244/487.

NICHOLS Sarah 5/201/401.

NICHOLSON James 5/53/105.

NICKSON Charles 5/222/443.

NORMAN Ann 5/77/154. Eliza 5/108/216. John 5/76/152. Matthew 5/77/153. Thomas 5/74/148.

NORTON Thomas 5/62/123.

NOTHER Mary Elizabeth 5/242/483.

NUTTALL Ann 5/232/464. Jane 5/193/386.

OAKES Harry 5/129/257.

OATES Matthew 5/133/265.

OGDEN Ann 5/184/368. Eliza 5/73/146.

OLDFIELD Benjamin 5/198/395. Hannah 5/107/213. Mary 5/182/364. William 5/5/9.

ORWELL Susanna 5/205/410.

OSBORNE Walter Beckett 5/215/430.

OUTRAM Jame 5/99/198.

OVENDALE Henry 5/115/229.

OWEN Emma 5/78/156. Sarah 5/4/7, 5/11/22.

OXLEY Rebecca 5/242/484.

PADLEY William 5/129/258.

PAGDIN John 5/8/16.

PAITHTHORPE Sarah 5/163/325.

PALMER Ann 5/250/499. Elizabeth 5/28/55.

PARAMORE Mary 5/116/231.

PARKER Mary Ann 5/233/466.

PARKIN John 5/241/481.

PARKINSON George 5/134/267.

PATTISON Ann 5/232/263.

PEACOCK Ann 5/154/308.

PEARSON Henry 5/36/72. Mark 5/96/191.

PENITENT Sarah 5/130/259.

PENNINGTON John 5/23/46.

PEPPER Harriet 5/107/214.

PERIGO Selina 5/217/433.

PETTINGER James 5/29/57.

PIEREPONT William 5/227/454.

PILLEY Ann 5/239/477.

PINDER Ann 5/68/136. Elizabeth 5/26/51., 5/31/61.

PITCHFORD Maria 5/194/388.

PLANT Benjamin 5/207/414.

PLATTS Elizabeth 5/225/449.

PORTER William Robert 5/25/50.

POULTER Robert 5/44/87.

POWELL Charles 5/115/230.

PROCTOR Ann 5/151/302.

READ Harriet 5/5/10.

REANEY Frances 5/8/16.

REDDISH Mary 5/112/224.

RENSHAW Frances 5/144/287.

REVILL Sarah 5/113/225.

REVITT Charlotte 5/117/234. Hannah 5/133/265.

RHODEHOUSE Elizabeth 5/243/485.

RHODES Henry 5/105/210. Joseph 5/230/459. Mary 5/104/208.

RICHARDSON William 5/189/377.

RIDGWAY Matthew 5/106/211.

RIGNEY Patrick 5/202/403.

RILEY Anne 5/241/481. Henry 5/194/387. James 5/109/217.

RIPLEY Joseph 5/181/361.

RIPPON Eliza 5/224/448.

ROAKE John 5/175/350.

ROBERTS Martha 5/91/181.

ROBERTSON John George 5/238/475.

ROBINSON Ann 5/164/328. Eliza Dorothy 5/241/482. Fanny 5/20/40. Henry Gedney 5/9/18.

Mary 5/129/257. Mary Ann 5/179/358. Susanna 5/115/230.

RODGERS Hannah 5/225/450. Richard 5/104/208.

RODWELL William 5/160/319.

ROE Jesse 5/204/407.

ROEBUCK William 5/12/23.

ROTHERHAM Edward Richard 5/94/188.

SALAVONI Mary 5/226/452.

SALKELD Susanna 5/97/194.

SANDERSON Alfred 5/241/482. Ann 5/240/480. Mary 5/75/150. Sarah 5/164/327.
SAVAGE Charlotte 5/97/193.
SCAIF Sarah 5/37/73.
SCHOFIELD David 5/144/288. Mary 5/229/457. William 5/27/53.
SCHOLEY Hannah 5/134/268. Henry 5/57/113. Julia 5/152/303.
SCOTT George 5/114/227.
SEDDON Ann 5/168/335.
SELBY Mary 5/140/279.
SELLARS Martha 5/92/184. William 5/247/493.
SENIOR Thomas 5/195/390.
SENTHOUSE William 5/15/29.
SESTORN John 5/149/297.
SETTERS William 5/201/402.
SEYMOUR William 5/94/187.
SHALES Elizabeth 5/22/44.
SHARP(E) Ann 5/116/232. John 5/40/79. William 5/111/222.
SHAW Eliza 5/223/445. Hannah 5/148/296. James 5/108/215. John 5/175/349. Sarah 5/61/121.
 William 5/148/296.
SHELDON Ann 5/69/137. William 5/68/136.
SHEPHERD Ann 5/36/69. George 5/80/160.
SHERWIN Charley 5/128/255.
SHIPSTONE Alfred 5/24/47. Alice 5/77/153.
SHIRTCLIFFE Hannah 5/183/365. Mary 5/54/108.
SHORE Elizabeth 5/93/185.
SIDDALL Job 5/185/369.
SIMPSON Ann 5/145/289.
SINGLETON Hannah 5/235/469.
SKINNER John 5/67/133. Thomas 5/65/129.
SLACK Alfred 5/160/320. John 5/52/103. Sarah 5/41/82.
SMEDLEY (SMEADLEY) Ann 5/111/221. Isaac 5/171/342. William 5/113/226.
SMIRTHWAITE Ann 5/13/25.
SMITH Elizabeth 5/59/117, 5/96/192. John 5/18/35, 5/234/467. Mary Ann 5/1/2, 5/85/170.
 Richard 5/138/275. Sampson 5/229/458. Sarah 5/60/119. Thomas 5/53/106.
SMITHSON Eliza 5/133/266.
SOMERSET Mary 5/236/472.
SORSBY Edward 5/147/293.
SOUTH Alfred 5/218/435. Elizabeth 5/249/497.
SPACEY Elizabeth 5/158/315.
SPENCER Mary 5/50/100. Robert 5/105/209.
SPOONER Charles 5/141/281.
STACEY Charles 5/215/429.
STANFORTH Ann 5/53/106. Elizabeth 5/168/336.
STAVELEY Jane 5/163/326.
STEAD Benjamin H Johnson 5/181/362.
STEEL Ann 5/218/436. William 5/61/121.

STEVENSON Harriet 5/212/424. Thomas 5/193/385. William 5/89/177.

STIMSON George 5/121/241.

STONE(S) Edwin 5/116/231. George 5/103/206. Sarah Ann 5/140/280.

STRAW Martha 5/222/443. Sarah 5/187/373.

SUTHERLAND William 5/178/356.

SWIFT John 5/47/94, 5/90/180.

SWINDELL Ann 5/173/345.

SWINDEN Charles 5/215/429.

SWINSCOW Henry 5/182/363.

SYKES Jane 5/122/244. John 5/76/151.

SYLVESTER Elizabeth 5/14/28. Mary Ann 5/237/474. Rebekah 5/167/334.

TALLENTSH Benjamin 5/26/52.

TARRY William 5/111/221.

TAYLOR Amy Mary 5/112/223. Ann 5/55/110, 5/68/135. Charles 5/127/253. Edward 5/109/218.

Eliza 5/118/235. George 5/71/141. James 5/48/95. Samuel 5/247/494. Sarah 5/217/434.

TEASDALE William 5/214/427.

THACKRAY William 5/155/310.

THOMAS Elizabeth 5/207/414. Frances 5/34/68. William 5/152/304.

THOMPSON Caroline 5/131/261. Charles 5/205/410. Mary 5/98/196, 5/161/322. Richard 5/135/270.

THORNE Mary 5/86/171.

THORP(E) Elizabeth 5/132/264. Mary 5/6/12.

TIMM Charles 5/132/264. ~~XXXXXXXX~~

TIMPERLEY Margaret 5/120/239.

TOMLINSON James 5/176/352. William 5/118/235.

TORR Henry 5/221/441.

TOWNEND John 5/22/43.

TOWNS George 5/103/205.

TOWNSEND (TOWNZEND) Sarah 5/24/48. William 5/199/397.

TOYNE Nathan 5/209/417.

TRAVIS Hannah 5/124/247.

TRIPPIE Mary 5/222/444.

TRUELOVE Amos 5/79/157.

TUNE William 5/229/457.

TURNER George 5/72/144. Harriet 5/57/114. Joseph 5/168/336, 5/184/367, 5/223/446.

Maria 5/96/191. Samuel 5/13/25. Sarah 5/210/420.

TURTON Sarah 5/124/248. Sarah Ann 5/194/387. ~~XXXX~~

TYAS Ann 5/208/416.

TYNE Charles 5/81/161.

UNDERWOOD William 5/249/498.

UNWIN Ann 5/67/134.

VALLANCE Richard 5/162/324.

VARAH George 5/145/290.

VERNON George 5/50/100. Harriett 5/23/45.

VOY William 5/118/236.

WADE (WAIDE) Emma 5/175/350. George 5/1/2. Hannah 5/180/360. John 5/153/305.

WADSWORTH Ann 5/155/309. Catherine 5/118/236.

WAINMAN Ann 5/202/403.

WAINWRIGHT Henry 5/66/131.

WALKER Charles 5/21/41. Eliza 5/160/320. Elizabeth Hubbard 5/94/188. George 5/169/337.
Joseph 5/16/31. Mary 5/47/93. 5/138/276. Robert 5/95/190. Sarah 5/93/186. William
5/9/17. ~~XXXX~~

WALL Ann 5/52/104.

WALTER Thomas 5/128/256.

WARD Edward 5/1/11. Eliza 5/232/463. Ellen 5/31/62. James 5/167/333. Matthew 5/2/4, ~~5/107/21~~
5/107/213. Mary Ann 5/141/281. Sarah 5/204/408. Thomas 5/6/11. William 5/187/374.
5/220/439.

WARDLE Henry 5/168/335.

WARREN Mary Ann 5/207/413.

WARRINER John 5/228/456.

WARRIS Deborah 5/74/148.

WASHINGTON Ellen 5/185/370.

WATSON Charles 5/194/388.

WEBB Esther 5/197/393.

WEBSTER Henry 5/7/14.

WELLS Emma 5/137/274.

WESTNEY William 5/201/401.

WHALEY Elizabeth 5/30/59.

WHARTON Hannah 5/59/118. Mary Ann 5/159/317. William 5/157/314.

WHEELER Mary 5/9/17. 5/102/203.

WELTAKER Ann 5/135/269. James 5/32/63.

WHITE Ann 5/148/295. Charles 5/55/110. John 5/221/442. Paul 5/11/21. Richard 5/119/238.

WHITEHEAD John 5/202/404.

WHITELEY James 5/106/212.

WHITHAM Mary 5/206/411.

WIDDISON Frances 5/142/284. William 5/173/346.

WIDDY Benjamin Bullock 5/4/7.

WIGGLESWORTH William 5/140/280.

WILCOCKSON Elizabeth 5/36/72.

WILD Ann 5/170/339. Edwin 5/242/483. Elizabeth 5/57/113. Joseph 5/179/357. Maria
5/230/460. Mary 5/151/301.

WILDGOOSE John 5/80/159.

WILKIN Alfred 5/36/71.

WILKINSON Henry 5/56/111. Mary 5/128/256. Thomas 5/155/309. 5/240/479. William 5/77/154.

WILKS Hannah 5/189/377. James 5/172/344.

WILLEY Henry 5/233/465. Rhoda 5/48/95.

WILLS Ellen 5/87/174.

WILSON Ann 5/244/488. George 5/31/62. James 5/37/74. John 5/183/365. Matthew 5/84/167.
Richard 5/149/298. Samuel 5/130/259. Sarah 5/192/383. William 5/43/85.
WINDLE Harriet 5/157/314.
WING Samuel 5/67/134.
WINGFIELD Harriet 5/101/201.
WINTER Jane 5/139/278.
WINTERBOTTOM Elizabeth 5/147/293.
WITHERFORD Edwin 5/20/39.
WOOD Elizabeth 5/54/107. Esther 5/79/158. John 5/73/145. William 5/116/232.
WOODCOCK Isaac 5/81/162.
WOODHOUSE Ann 5/145/290. John 5/233/466.
WOODWARD John 5/191/381.
WOOLLEY Joseph 5/173/345.
WORDSWORTH Christiana 5/224/447.
WORRALL Mary 5/9/18. William 5/150/299.
WOSTENHOLM James 5/2/3. Sarah 5/64/128.
WRAGG Ann 5/158/316. Charity 5/89/178. Elizabeth 5/236/471. John 5/117/233. Samuel 5/3/6.
WRIGHT Caroline 5/49/79, 5/76/151. John 5/192/384. Mary 5/174/348. Thomas 5/186/371.
William 5/56/112.

YATES Charles 5/185/370.
YOUNGE Abraham 5/226/451.

END OF INDEX TO BOOK '5'